faa=fi=t © a9 Suwrar 9

9.1 gfiar

Ugd wiftmfe feg 3t 33t wigutst 2 g1 wmiftors 3T H | for wiftmfe
ﬁﬁﬁwﬁwﬁﬁwnﬁwwmaﬁﬁﬁwmﬁaiﬁﬁ?@w
mwwemwmwmﬁaﬁﬁ?fwwﬁe’mmfgﬂ?
s US FaTS © feees gae wie I | fan Iqt fa »irt wiftrfe 8 9 <R
gd It fa f3dei3t €t un for 918 & s &9 Jua o3t aret wt fa femet
YIS (astronomy) f&9 #ga3 Ut vt 61 2B 3° g 39 ydig fefammat
fEHETqm—dTﬂ{aﬁ( )?Wwyﬁwéeﬁwmwmw
IS %a?fﬁ-B?ETt{m—cnm W3 JITBE (navigation) feg &t 3T AEr J|
WEW?me@EWW(mgm@)WW
(latitude) &% FEG3 ffq €y €t Afazt uzT 99 feg <t =t At I

FO< 996 78 Aet 3~ f3defhzt e yuar
IIe T I Is | Gt met v feq fom 3t
T fens HaSye I3 f3deH3Et Hae
g937! 9793 €t UfguinsT At | fare et €
g3 <3 fag3mrfec e fagure o3 famr
HT 11852 &9 AaSye 995 € ©d6 feme ©
A3 3 €3 UJ™3 & ud i3t aret Ht sargar
160 km 3~ & < gt '3 A3 MBS TT-m&ar
6 I Edt 3 fer ygg € fiug & Yue o3
famiri 1856 €9 fem 9t @n sHage w9 =TT FC .
HIH WedHe T o '3 otz famr fr 3OS AORyE w39 A f3aefiEt @
A9 3 ufos ferrs fa@serfee § eafsmr fomit 3 morfas 9, = ywar ff'a
(mwﬁsaw)wfeaﬁ@sm%z W Tt gadls o8 ot

TIIES fE9 AfE3 9793 AaSHe © Higowd & WUz et T Hier
€9 yeors © SEt 9u I IS | -
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fer wiftmfe f&g, it feg Suiar fa fan 397 wirs &g Wy i3 fasr it

3ot e Yuar WEa-mIar eagnt et 8 gt »3 gdtrit usT 938 ©

B 3T AET J

9.2 € grehnt w3 gt

g wrt wiftmrfe ¢ &9 83 9re 939 8.1 '3 fegrg adte, famd »it Jat

fd3q9 9.1 f&g warar fig 99 I .

¢
.................................... B
-.......D

fer fo39 a9, fefonradt € »iy 3 Hieg € faug Sa fudt st wrAc
famet JuT (line of sight) IfJe I | fefenraet Hisg € fiug @& uh Ty foor
%IEH?CT%’HTM@'FH'FBH%HT(HorizontaI Line) 318 ¥& 9€ BAC éﬁﬁ%ﬁﬁ
me@fﬁ%?%a@ (angle of elevation) Ifde IS |

fer 3gt, faret Sur Yua €t »iy § 67 eng o fiee o=t gur et J
fr & Yua 2ver J1 Ty e fig = 9 de fen Afest i famet dur w3
fuf3w Iy o5 gfont de ger J, 7e fa eftr 7 foor e mgr 37 €ug e
J; I €9 Afest 7 @ng § Tue © BE A vy g € ug e Uer J
(T4 939 9.2) I
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WG ge wiHT" fo39 8.2 feu fo3t et Afast '3 fegrg adie | oadat &g
ot B3t Hea € Ut '3 30 o & It €5 2y 9dt J1 fer nfest fee, famdt
Fur fufzm AT 3 It I 1 fardt gur w3 fufsa dur o fer 39t 9e 9 & sters
as (angle of depression) Ifde Ia1

fer zet 2t 7 9t eng '3 AfE3 fig T dles o= fen Afest i fapet
Fur w3 fufzm Jur &% sfem de Jer J Ae” fa fie fufsm ur 37 It Jer J1
I §7 Afgst A2 fa Tu 7e @3 fig & Sue © sE A »iver g Jof
ga@e Uer I (24 939 9.3) |

933923

g 3T 939 8.3 &9 gt famet Juet w3 fem 3qF e def § ufgge
HIe J1 feg 9= €97 d< Is AT 3les d7

g wrt f939 9.1 & Ta9T SHiE wag AT Adt v3Ee 99 fast wu o
Hisrg € 97t CD uzT a9aT gTde I 31 fere Bet 3978 fan wreardt €t mgas
Jet 37 fere sEt It f83 3ut T famrs I wgdt Jer O

(i) Tt DE frg fefenrget Hisg © wmorg fide 3° fem gt '3 uzr I

(i) Htog € fAyg e €9 de £ BAC

Gii) fefenrast €t €9t AE
Hierg =t €79t u3T 99 "I Ii7?

fd39 €9 CD = CB + BD fA® BD = AE 7 fq fefanmast <t €79t I

BC U3 936 '3 A £ BACH £ A € f3deh3t migust = yuiar ddar
US|
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AABCTEg, 3ATBC AT A (7 7S U3T J) €t HoWy gt I 1wt fEg fags-
faa3 f3aefi=zt wigur3t &7 Yuier 99 Aae It? fegst &9 fagz e g A u3T
TS M3 7S faAeT U'S U3 996 € 7ga3 Jet I7 tan AT cot A €T YT JI&

&% \AET 9 T War We 3 7T 9, fabfa feast »igutst f&g AB w3 BC =7

- e = BC _. AB o .
Wg@?ﬂf&fﬁﬁtanA:EﬂTcotA:Bc’ﬁrﬁrgwaaﬁwwgmc

Y3 J AT
BC "3 AE 136 &8 Higtg &t €79t uzT &a1 weafti
Wi Wt 93 GedTde’ &% JI-de € H 918 3d1d & fennfimm gdte|

@_E"UEIEI:’TCIB"T'%ﬁa%ﬁﬁ'ﬁw(Vertically)ﬁ%lﬂﬁ?of@ﬁ_o(ﬁg?, G
Hierg @ »iarg fig 3 15 m €9 J, His™a € fiug & 892 d< 60° J, Histg &t
59t usT I9|

I8 g ufgst wirl” yas § Tange et fia
Hos f93g garele (24 939 9.4) 1 f£ 8 AB fEa
Hierg & gam@er 3,CB Hieg 3° ffg et gt 9
W3 £ ACB B97E de I wiHt Hiarg <t € et
g€ AB U3T JdaT gide If w3 ey ACB fiq
f3g7 I 7 B '3 AHAE JI

tan 60° (T-lT cot 60°) v If, fagfs fem wisus
fé9 ABM3 BC €< I& |

Qs tan 60° = ——
dJ an 60 BC
AB

J3- 22

g 5
e AB = 153

fer e, Mo € €9t 1503 m JI
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Gegos 2 Mg famet @ PSR § 5 m €9 &9 T
'3 i1 gret yaret & Bl I9aT I I HIHI BT IH IS :__jTL__:: —

|
st QWS T @ fn 3 13 m 98 Y fie 37 B'}%
yguer I (S9 f9379 9.5) | feg" 39 udoe © met fﬁ!
gfg3 U=t =t Suret fdst It ot 9, s | %
fufsa '3 60° € de '3 I8 o fog o3 XA
(B et ST uTT AR? o ATH AR = .
g fig Ut € wmog fig 37 fdst g9 '3 Jer 5
grdter 97 (feg 3t 3 = 1.73 S Aae 9) | D

f9399.5
I : 939 9.5 &9, famst fimsdt & 49 AD '3 g B 3 udee I
fem =&t BD=AD-AB=(5-13)m=37m
few BC, Ut & gan€er J1 g fendt Suret g mrde f3g@ BDC T dde
UST AI&T J |
g ot 3t TR mae I fa wré fam f3aehzt wieurs e ywiar g9 grdter 97
feg f3defH3t wiaus sin 60° I wrdter I

BD .37 3
fem met BC—s1n6O Hr BC = o5
37%x2
fer et BC = =4.28 m (BJF0)
V3
e Ut Saret 4.28 m It gt I
Iz DE o0 = =
= BD—CO = 3
3.7
EiS DC = \5_2.14m(mm)

fer wet, fen Ut 2 U9 & 49 € Ug ffg 37 2.14 m &t gt '3 Jue vrdter J1
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Gugaz 3: 1.5 m S g Yy fonst 37285 m S
@ gdt '3 J1 Gret vyt o fonst © fiadg e

BurE de 45° J1 favat <t et uzT 39| i

I - f€F AB fowat 3, CD Yud I W3 £ ADE

€ 9e de J (29 939 9.6) I8 ADE € f3g7

J farer 9 E AHdeE I w3 wiHT farat &t §7aret

EN D F=dE
Y31 It J| £ — N
&y AB= AE+BE=(AE+15m  -L QB"'
w3 DE= CB=28.5m f§399.6

AE V3T 995 € gt Ag fEq for 39t v fadefi=t weus S vrdter 9
far f9 AE »3 DE €< J< | fere et wi@ »iFt” €797 d € tangent BET|

. an 45° = o2
) an = DE
g 1 AB

T 285
fer =&t AE = 28.5

fer =&, foust €t €9 (AB)=(28.5+ 1.5 m=30m

Seragz 4. g3t '3 g g P 3 €9 10 m €5 3= (Has) E fug en @ oe
d& 30° J19<s © fig '3 ¥ S sfagfou famm I w3 P 3 S3 € g =r
€ 97e dT 45° J193 € 3F (flagstaff) € uret w3 fig P 3 ges &t gt uzr
9 (feg 3t 3 = 1.73 S Aae J) |
J% : 1939 9.7 {9, AB =& €t €9t
TIAEE J, BD S3 ¢ 33 < &grel
TImger I w3 p fa3r fenr fidg I
fimrs fe@ fa fea € AHae 337 PAB
W3 PAD J& | WAL $3 € 33 ©f Saret
I DB M3 fdgpI e etgatae P
PA U3T JJaT JI
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faGfa wrt e &t 79t AB uzTIISt

J fer st ufast wiHt AmHdE A PAB

BT

' tan 30° = %
110

N J3 T AP

fom wet AP= 10\3

IePI gEs @t wdt 13 m =17.32m
MG JEHEBE DB=x m IIISAD = (10 +x) m

o g , AD_10+x
JdZ HHJE APAD tan 45° = AP 103
10 + x
fem met 1= 103
EL x=10 (V3-1) =732
form =, 53 2 33 <t &gt 7.32m T
Gergaes 5. 9 aHs® s '3 uFt A

Hieg u uderet 61 Afgst f9 40 m
<g g J AT J A 7oA © fiug &9
(altitude) 60° 3~ We o 30° J AET J I©
ydee ¥ ffg fAg 3" Hiog € fimg =

€ 97e J< 60° I W3 DBUJER <t Baret

I famer 9@ de 30° I Ivleg € €9t D
U3T I |
W:%E@%ﬁﬁ@_ﬁAB:hm%
W3 BC, x m J 1 Y& € W&AE DB, BC 3

40 m <T &g J|

30° 60°
«——4m —>C B

fg399.8
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fer =&t DB = (40 + x) m
feg & AHde f3ga ABC M3 ABD I3 |
y AB
AABC fe&g tan 60° = -
. h
A = (1)
y AB
AABD f&g t °o= —
an 30 BD
1 h )
o BT x40 )
(1) F 7 fuzer §
h= x3

ferm vz & (2)fS9 Jue '3 g fiser

(x/3)V3 =x + 40, 37 3x = x + 40

fer =&t x= 20

fem 3g7 h= 2043 [(1) 3]
for wet vierg <t €79t 203 m T

Gergaz 6 : i govinet foas € g 3 Sy '3 g s m €t fovraz ©
fiag w3 38 € 3les d gHETT 30° W3 45° I | goHAst forras <t 89t
w3 Bat fenrgst fegaraet gdt uzT 94|
9% : f939 9.9 f&9 PC goHfAs foHrgz w3
AB, 8 m €7t fonrgs § warger I 1wt 30045
goHfas fenrgs €t €79t 372 pC w3 gt

feHrg3t fegaragt gdt 9@ AC U3T Jdat

1 B D
939 & fimrs a7 2 | gHT e g 2uar fa
FHT39 duet PQ W3 BD & f398t JuT PB
g edt J1 fer ¥t £« QPB M3 £ PBD A C
feqizg de I W3 fer =t gd=g Ts| fé399.9

ferm Bt £PBD= 30°, foH 39T LPAC = 45°
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AHJE A PBD feg

PD o1
BD-tan30-ﬁﬂTBD—PD\/§

AHIE A PAC &9 A firser 9
A—C=tan45=

g PC = AC

w3 PC = PD + DC f&H &t PD + DC = AC

fa8fa AC=BD W3 DC =AB =8 m, &7 S PD + 8 = BD = pD/3 (fa67?)

o N 8 8(V3+1
fer 3 wd fH®eTJ: PD = = ( ) :4(J§+1)m
: B (BB

fer B¢, ggife fenrgz €t Gt {4(\5+1)+8}m:4(3+\@)m§rm§
et forrgst et fegarast gt 4(3+ﬁ)m%|

Gegazs 7. ffaasdt e uys @
f&g fdg 3° =<t € Aoy
faatan 2 Stets de gHE™d 30°
W3 45° J| Add UG, faofant
3 3 m oG9t '3 I 3T &t fé399.10

€ 93t u3T I91

T% : f939 9.10 &9 A3 B 5€t © AWy fastomt € fdemt & Tamger J1
fem 575 AB €t € 93t J13 m &t €9l '3 v ys 3 I fAg pI I
DP=3m JIwH" &t €t 93¢t u3T gaat 9de If 7 f3 AAPB € 97T AB
Sardt I

g AB = AD + DB

AHAE AAPD f& 9 £ A =30°

PD

fer &€t tan 30° = —D
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13 A NG
g 5= ADFF D=3/3m
fen ®Bet, AHdE APBD €9, /B =45°J, TH SEIBD=PD =3 m
IJe AB=BD+AD=3+3/3=3(1+3)m

fom @&, ot € 9t 3(V3 +1) m 3
YHSTHE 9.1

1. HIgH & fid a8ag feq0m S gt '3,
93 foor I 7 ydt 397 575 3t (arft) Jet I

w3 ggdt '3 U vz 99 € fHyd o gat 20
Jet I I Hidd IH U9t € 3% 3% 30° ETdE

TTOE R T A QIR UTT AT (|8 v
939 9.11) | fesg 9.1

2. &It WRE &8 B wdyu3 2 AT I W3 femm Jfem grar fer 397 o
H3 AT I fg T3u3 T fitvg 7S & 892 (touch) Sarer I w3 fere a7
300 € dE gP T J1 TIH3 © »urg fig & gdt, fiE wdu3 © faug
s & gder I, 8 m 1 edu3 o G5t uzT 39|

3. 69 3auTg Sfonft © 43 o8 ¥ uda &9 © f38ae Ueht (Slides)
Bar@e gider J1 5 A8 3 U QHa @ dfomt st O9 few 39t <t
f3gaey™dt Barer gder I farer g 1.5 m €9t '3 3@ w3 69
s 5% 30° e 3 Tt I2, 7o fa fon 3 Su Ouag © Sfow wet B9
3 m & €9t '3 ffq Su vs f f3saeu™dt sar@e vder I 7 aHte
TS 60° T AT gEg el 92| 99 ¥ miust iy fegaauet €t Gamt st
Jat grdtet 37

4. s ¢ 8 fig 3 7 Hisg € wrorg fig 3" 3om et gt '3 9, Hisg ©
m@@wwsowwﬂ?ﬂaeﬁ@—mﬁrwam

5. s 3 60 m €9t 3 g yIFar €3 It J1 U39 I Far Trar §
wrETet gu 9 mHis '3 e fig a7 ds fa3 fomrr I 1 mits v arar e
g™ 60° J1 fea Had fa arar fg aet fe st T, urarl &t Saret usrag|

6. 1.5 m BT BZT 30 Hieg €t f€a fongzs T gz gdt 3wz J17e €9
fengs ¥ AeT T (FuTT J) 31 OFEt Wi &% foras © g v 859
I 30° 3 60° I TET I1 TR fa €7 forras 5 fdat Tt 39 95 o famr
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7.

8.

9.

10.

11.

s € feq fdg 3 £ 20 m €751 forgz € fiug '3 Bar Hog Hisg
(transmission tower) T 38 w3 fagg = @_u_tl"E I FHESTT 45° M3 60° J |
HYg Higrg =t €9t usT 391

8 USHES (Pedestal) © fidg '3 89 1.6 m €751 wast Saft I¢t I 1l
= fig fifg 3° yast © fingg = @9 de 60° I w3 fem ot fife 3° Uswes
T fivyg © €97 a< 45° T UzHes <t @9t uzT 39|

feq Hisrg @ worg fie 37 g fonrgs € fiayg = €797 de 30° I w3
WGW&EB‘MGW@@W%6WU|WMSO
Heg 5t 92 37 fonrgz =t %9t usT 39|

fEx 80 Hea 93t A= € g<F Ui’ * 3 wgHS HTIHS Id79d BuTet @78
< U9 B9 IT Io | fegst S0t Ufawt € 89 Aga '3 fea g 3™ dfamf €
frgat =7 ©797e de gHe™d 60° W3 30° J | Gt o Garet iz afewmt 37
fog =t gat uzT 99| A
fegsfag e fea3e 3 fEa .t
oreg figr ¥3T J1 @eg € 3id
FAIHe gAd 3< '3 fEq J9 fig
3 Ted ¥ fHug u §9e d 60°
Rz Tnfie T 20m©a

o
w3 fen ffg § oed @ mog fie o 30 60
a8 e @gt 3w 3 afaz Pk 20m > C B
feg Jg g 3" oeg © faug = f5359.12

9T 3 30° T (T4 939 9.12) | 2reg &t €79t w3 afag &t I3t usT A |

12.

13.

14.

7m €6 forrgs € fiyg 3 9 dus Treg © fiyg v @9 de 60° T
N N A “ EN -

w3 feAe Ug T 3les d< 45°J 1 @red ot §9ret uz3T 9d |

AHEd 38 3 75 m ©7F9 Bele T8R € fiyd 3 2ue &% © AHEdt Ad™T

T 3es T 30° M3 45° I5 | 79T Bete T9H T ffg oty 3 o Ao
THO AT © fasas g 99 3t e Agmt ot fegaast gdt uzT 39 |
12 m St g B3t mHts 3° @ @

882 m o G5t '3 e fufsw ®
fnﬁﬁréfmﬁ"asa?ﬁ%w A :
IET T T de 60° J1 I PR R 1882 m
e €9 dE We d 300 9 ."'600 E
WU(EH&BH913)H°€H o | ;
W3TH IS AT AT I M-fl"z """"" Prosreriseseses e Lo

sﬁgcrezﬁwam
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15. fa figr a1 Wigar f8q Hierg & wirgrg 39 AieT I Hisrg & figg '3 uzr
e wreHt feq a9 & 30° € 3les de '3 2yeT J, ¥ Hied € wug 5
8 AHS I8 &8 »T 9t I 1§ Afds g2 919 7 sles dE 60° J famii
fer fdg 3 Hieg © worg 3 ugee et g enraT fomT fapm AnT uzT
I
16. Hiag € »og '3 e HIS 9UT 4 m »3 9 m € gl '3 Az & fem 3
Hieg € fig © €97 de ydd d I g ad fa a9 & §oret
6mdl

9.3 ATI-MH
fer wiftmrrfe f&g, 3HT I foyg safamt e wiftmis izt ¢
1. () femdt Iy Yua €t Wiy 37 Yud wrgr 2t 9ret @ng © fig & fHeGe
™t Iy gt I
(i) 2t 9Tt eng = €9 de fardt our w3 fuf3d dur 5% femr de
Jer I we fa feg fufsa Az e g Jer I e Qo nfest e fa eng
3 TyT © Bt Ag vy fig & €ug gae Uer J
i) 24t et THZ T sters o fanet dur w3 fufaw Jur &% gfeon de
Jer I A fa fufzw gur fufsa wgr 3 It It 9 9= €0 Afast 7e
A3 § TyT © gt g fig & I&T 3@ UET JI
2. f3deH3t wigurst €t AofesT o7& fan eng ©f ot 7f Sgret At € g9
Tzt t fegarast gdt uzT i3t AT AaEt I
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10.1 gfHar

3 IX A3 feT ufgr J fa S f€a 33 & Q5T fdemt v ayg Jer g+ fEa
forfaz fig (aeg) 3 »us Tdt (may fenwm) '3 I I8 IAT 9o &8 Atz
ggstet fae” e (€39), Jag U3, wiau fenmt U3, gy wife € g9 &g &
ufgn 1w g fea 35 &g nfaz fq dag w3 fea Jur i Suy

AfaST 3 fegrg It

wWig W f8 g 939 w3 89 3y PQ '3 fims 2¢te | Jaf o3 are fa3g

10.1 &9 3 Ageae J HaEMT I5 |
P
P
Al
B
Q Q
() (i)
fgsg10.1

(iii)

939 10.1 (i) &9, U PQ W3 dag few aet AigT fidg st J1 fem Afast
fég PQ 999 €t & #ed Jur I W3 & It AUIH IuT J1 f939 10.1 Gi) feg Iur
PQ w3 Y9 feu € A8 ffg An3 B I | fer Afazt f&g, »Ht gur pQ & Jag
o geq Iyt Ifde I71 933 10.1 (i) f&9 IuT PQ W3 Tag feu ffa w3 a=s
fa g ffg A J| fom Afgzt &9 Jur Jag &t muaw Jur gor@<t J1
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It Yo '3 St fugst § e I I famer QutieT ==
yo &9 uet dee et o3 Afer J1 939 102 § 291
feg fugst © gt ufimrt &t 9t & Hag fags & 39t
AHIST e 37 BT fwast ©taT 9¢ 9949 '3 AUdH JuT
©t 3gt dear|

S ug foghut arehvt Afagmt 3 feger fa g9
&5 Hefuz Jur € Jet 99 Afat I Aaet 97 3t By f93910.2
Ao J fa feat Afggd © feorer qur &t 9a9 o
Hefgz St 99 nfagt st I maet 31 fem wftmrfe &, wirt ag &t mugn
et &t IE ¥ g9 feT ugtar i3 B3t T I3 gt v & wiftns Satar |

10.2 Jo9 &t AUSH Iy
fued gra1 fidg 3t Sftmr J fa fan Yo St musr ST Qo Swr IR Yag § o=
fog fig 3 de=t I

999 © fan fdg '3 Augw Jur & I & AnsT BE I fouht fafomret
I
fafawr 1: feq Iad7ad 379 BE M3 TadTad 39 € fea fig p '3 fea fiar 319
AB fer yarg 73 fa €9 fdg p '3 fFa mizs R W md I fer Afggt § e '3
J¥ M3 379 AB G fiE P '3 It It wH€ fan o7& AT 379 Tt i mid a1
At YUz I Aae | 29 939 10.3(1)] |
fdg pm3 f&q 99 fdg Q, 7 Q, A Q,mfe '3
deet J 1 f¥a nfgt &9, 3 24l fa 89 Ja9
g aes feq fig p '3 It Jar (AB & Afast
A'B’ $ T) | feg, fog womer I fa dag ©
g fig '3 ffa mugn Swr St e J1feg wwGs
3 AT U9y 99 AIE J I AB &t I ATdt
AfgIht i85 €T Jag & fde pi3 fea Jg fig
R, ATR, ATR, wfe '3 deer I fow yarg 3t
Tyl fa da9 © f¥a fig ’ 3 ffa w3 a=s &9
HUIH Iy 9t I
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Sudaz fafomt 3 3HT wga eftmr Jear fa fae-fae Afaat AB 3 At
A’ B’ ¥8 Juet I, duT ABM3 Ta9 ©F AT g Q,, AF fig pE 33 »rgEr
Aer I I3 fg AB € Afazt AR’ '3 €9 e pE Hurst I At 1 feg fomrs
fe€ fa ot Jer I 72~ A”B”, pfig '3 wHrfowr wier 3?7 wigT fig R, 38t It
fig pe €% Suwr I w3 w3 &9 P AUt I wter 1 fem 3gt wirt Sue I

far d99 < Augn Sy aeq 9ur < ¥ ferm nfast 9 Ao Horz dler @ €3°
firg Aust 9 A
fafamr2 : foq gram * 3 ¥ 999 W3 999
ot geq 3y PQ fud | 82 IuT & AHT3d
oot Ui '3 wide Jutet fig | 3T Suar pf
fa 9 yar & g= Jyet @mMTdT Jt Iret
Hter €t Saret I&-38 we I 9t 1=
YT NI Fdd €< Jee g 33 M1 IJ I8
29 f93910.3(i)] | e mfast oo feg e
Iy feq U feg fHeg w3 grdt Afest fee
feg 8vd Iy € TAJ U fHeg I wEt J1
g2Ed JuT & AfaShiT PQ w3 PYQ” @
939 10.3 (i) fe9 29 | feg €6 Juret fot
It BT W PQ ¥ ANI3T © AUIH Juet I fer 3 3% feg wae &9
AafesT fued! I fa 9 @2 39T & AHI3T 999 & & 3~ <0 AUdH JuTet
Sdt JET I |

fon fafowr 3+ feg fHer feaser I {3 AUdR 3y gea Jur <t i ferm
At I 7 Ordt Hars fier € €8 g Aust d 7red

AUTH JuT W3 Jad © AF g & muaw fig [f939 10.1 i) i€ f¥g A
Ffde & M3 AUIH JuT § Jad © AY i '3 Auen I9sT Ifde Is|

ge A wiyE 97 UH 2y | ot 3HT g Arfeas
7t €5 ¥% 915t & gae eftnr 37 feat € udhat
25 oy | fEq ydte dmi ardvt St BRe wigg
for™ € »iggu I8 | ge ydte Tt gt eruast '3
I3t 996 < AYy &9 fenrfimT 331 ot
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WA &9 udhr €9 IuT © wigArg 913t JgeT J, ¥ Udle § TarhE @8 Jad
'3 AUTHE IuT J | feg & 2 fa Ardhit mfagtwt i85 939 10.4 133t € muan fig
3 e T Iy few AugE JuT '3 &9 gy 9 fourdt fder 91 g wirt
AUgH Ju © fer gie & fig Jatar|

@89 : 10.1 : 9a9 € fan fg '3 AR Jur, Audn fig 3 A T8 »dy
fenr '3 &9 It T

AEZ WS Ed 0T fiq gag fe3r I w3 fea fie P '3 mugw dur Xy fest
1wt g adeT I 3 OP, XY '3 &9 1

XY '3P3 fezwr f&q fig Q 36 »3 0Q $ & (29 9337 10.5) |

fig Q ¥ag © w99 J&r vdter I (fag?
fimirs fe fa Hag Q 9dd € »ied J 37 XY 9dd
d} foq gea 3yt I Aredit w3 87 949 <t rudH
Jur st Jeatt)) fer et 0Q, wigy femm oP 3
CEICE

0Q>O0P

fagfa feg fdg pe femrer XY € 9da fig
egEAg J, OPfie 0 XY o et I AE
Fue et 3T ifer st o XY I &I T (FR°
fa faGan A 1.2 &9 eamen faprr ) | fgs9105

foust :
1. Qudaz yiw (fa€an) 3wt feg & fier dg Aae of fa Jag & fan fdg '3
f&a w3 a=s ffa AUan Jur I<t J1

2. Ayan fig 3" »au fenm § G st S g ae a2 Jag € G fdg '3
mMIse’ (Normal)éfﬂﬁ%ﬂﬁl

YHSTS 10.1
1. T8 I3 Ewt fdati™ AUdH JuTe’ J Aae I&7
2. YT AETST § 99

() fam Ta9 €t Augm our @R —— fdemt '3 et J1
(i) Jad & © e 'Idce Tl dwr g dfde I
i) 8 999 €mif —— AHI3d AUIH JuTe’ J AdeMT Ja |

(v) 99 M3 GAEt Augr g e A g & — dafde Ja|
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3. 5 cm MJy few €8 feq 999 € fig P'3 AUIH duT PQAEI 03 A
T8t € qur fig @ '3 fem 397 fuzet I fa 0Q = 12 em | PQ & Huret T
(A) 12cm (B) 13cm (C) 8.5cm (D) J119 cm
4. f8q Jag g w3 &g a3t 9t 9uT © AH3T & wifadT Juret fig fg
St f&9° feq AUIH Jur I w3 THIT 9449 € 88d U I<|
10.3 feg fig 3 €9 ¥a9 * 3 Auan Juret < faret
foan fdg 3 Jag '3 it aret Auan guret

ot forest © g9 &9 7as € Sot J& ot
T‘B(f‘—d’wrra—&:
fafamr 3 . ffq oram '3 g ga9 g | i E

fig pfen © »ieg 616w g 3" a9 '3
AUJH JuT fuge = W36 Jd 1 AT ot 2ue
J?7 3T e J fa fhe 37 fust aret 9da
U 999 & © fdert '3 deet J1 fem mEt
feat Juret &9 Iet mugn 9y &dt J Aaet (i)
€Y 939 10.6 ()] |

g9 9ad '3 fEd fig P& »3 fem
g 3 Augn uret fie | 3T ufast It wigem P
3T I fa a9 © fen fig '3 € It ruan
Iy It I 29 939 10.6 ()]

w3 &9 dag © g9 €9 g P36
3 949 '3 fer fdg 3 Augn Juet fige
T W3 J9 | 3HT ot HigeA d9e I7 3HT
uGar fa fem fig 37 999 '3 € Uit 3°
4<% € AUJH JyueT fig Aae J7 [2Y f939
10.6 (iii)]|
AfaIht f&9 Yare 99 Aae It
Afe=t 1 : 999 € vieg Afes farn fdg 3" 7e
TEt 999 '3 It AUdH IuT &dt I
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Azt 2 : 999 '3 Aigz fan fig 3° 999 '3 f€a U aes €9 Augn dur J1
AfE=t 3 : 999 © g99 A3 fan fig 37 A o8 999 '3 © M3 Jdes ©
AUJH JyTST IS |

939 10.6 (iii) €8 AUTH Juret PT W3 PT, € @HEG T, M3 T, AUIH fdg
%|mﬁmp?mewﬁ€ﬁwwwﬁwﬁamp?
F99 '3 AuIH Jur & Suret i I |

s fe fa 939 10.6 (i) f€9 PT, 3 PT, g P 3 993 '3 AUIH gyt
Tt Sarenit g5 | Fareut PT, W3 PT, fe9 f€a misT 9@ J1 ot Irt fem &

39 Ade J7 PT M3 PT, 3)-rru|a°rfezra—cra—d'a?§? WS f&g T wifaar
U‘me@fms’a@mww(ﬁ@—o’mm?ﬁm

i (fa€@an) 10.2 : g7gd? ffig 3 ga9 '3 o areh Fuam Juret etwt
BETET FITHgT TEHT IS |

HEZ : A ded O @8 €9 ¥dd, d9ad ©

99 v f8g fifg P3PPI 999 '3 € HUIH Q

JyTer PQ, PR f&dm g5 (@9 939 10.7) |

wH g 9daT I fI PQ = PR

fer € B T OP, 0Q M3 OR @ fHBBE ’
T IS £ OQP M3 £ ORPAHAE J fabfa feg
WIg-fer™ w3 AUdH JuTel ¢ fe9® dT I8 R
"3 YN 10.1 3~ feg AHdE TS| I AHAE fg3910.7

f3g7t OQP "3 ORP fET,
0Q = OR (f€a It 999 © niau-fomm)

OP = OP (RS
fem met A OQP = A ORP (RHS AIGITHHIT ©HTIT)
fer T yuz Jer PQ = PR (CPCT)

feust .

1. 'FH@WA?;;WWWETI{@HT J9d It fe3 3dld & < fig di3r 7
HAIET I
PQ? = OP? - OQ? = OP? — OR? = PR? (f38fg OQ = OR)

fr 3 yuz der I fa PQ = PR

2. feg <t fowrs fe€ fa £ OPQ = ~ OPR | f&H &€t OP 9 QPR &7 €™ J,
I€ 99d €7 d €d & AUJH JueT @ de-ggmd '3 Afg3 Jder J
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Wi g 93 Bergder BEiE|
@_E"UEIEI - fig 99 f3 © AHa=dt (concentric)
Uqa' f9 €5 999 € Ale” § &< 949 & AUIH C,
et I, Auan e '3 AHEgHz It J1
A

J% : 7 fd31 I IET O T3 € AHd Tt 999 C,
W3 C,M3 T3 949 C, & HieT AB,H 8< a3 C,
B

& ffg p '3 Augn ot J, (24 939 10.8)|
v - fgzg10.8
WHT fHT 99&T I fa AP=BP
g OP$ fisrele | fem yag AB, C, T fg P '3 AUIH IuT I W3 OPmIU femm
JI
fem st - yiw 101 3°
OP L AB
IS AB 949 C, &t f€a wter I w3 OP L AB J I fen 397, OP+ieTAB & AHES 3
gt fagfa awg 3° wer '3 fufowr forr Sg EHE AHES M3 ddeT 4,
i AP = BP

GegeE 2:dEI0TH Yad ‘I Ut g T3
© AUJH dute’ TP W3 TQ fudmt ardwit Ix|
g 93 fa £ PTQ=2 £ OPQ J|

I% W dwd 0 T g vag, Ha aadt g T o
TW3 939 '3 &€ AUIH du™el TPM3 TQ, fag P,
Qryaw fig J, f&3 5 (B4 939 10.9) | mrt Q
%W%ﬁ

/PTQ= 2/ OPQ fgz910.9
Ho 36 ZPTQ=9

I Y (fa@aw) 102 3° TP=TQ | for Bt TPQ f¥a Mg f337 J1

1 1
fer =&t 4TPQ=4TQP=5(180°—6):90°—56
yniw (fa@an) 10.1 3°£ OPT =90° J |
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fenzfe? £0PQ= £ OPT- £ TPQ = 900_[900_19] el po
fem 3 £ PTQ =2 £ OPQ Y3 Jur J| 2 2

m3:50mmmﬁﬁaﬁaﬁﬁ8
cm &t ¥ HleTPQ I 1 PW3 Q '3 AUIH JuTat
wyr &9 feq fdg T '3 deef Is1 (2d
fg39 10.10) TPt Saet uzT I |

9% : 0TS e 11z 3G feg PQE g R '3
Jodt I1 fer Bt A TPQ AHEgHT I W3 TO,
ZPTQ ¥ d& AHES™d J1 ferm et OT L PQ
w3 foH 397 OT, PQ &7 AHEI™d J fAm 3°
YUz JeT I PR=RQ=4cm fg3910.10

&% dt OR=,/OP> — PR?> = /5°— 4> cm =3 cm
IE& LTPR+ZRPO=90°=/TPR+ZPTR  (faG?)
fem ¥t ZRPO = £ PTR
fen @€t AHde f3ga TRP W3 AHdE f3g7 PRO, AA AHIU3T TG

W%lmwg RP WUlWE—iWTP—E
PO - RO 193 5 73 R

feuzt : TP ufeardion yHw (faGan) enirar I fou wightg @ Y3 99 Aae
Jdo:

He 36 TP= x M3 TR=y 3T
X=y+16 (AHISAPRT & ) (1)
L+5=(y+3? (AHISAOPTE d) )

(HE ) T wels '3, A fuzer

3216
25=6y-7 H y= 3 ?
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16Y 16 16 % 25 -
fer =gt 2= (?j +16=3(l6+9)= >9< [(1) 3]
_
X = 3 cm
YHSTST  10.2

yrs 3:1,2, 3 f9° At feasy g€ w3 €193 ade fet |
. fea fdg Q3 f€a ¥d9 '3 AugH Jur &f urel 24cm W3 Q& I ET 3
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(C) 15cm (D) 24.5cm m
. f§3910.11 &9, 993 TR, TQ I €d 0=78 fIH a9 A Q

'3 € AYIW Juret foH 397 I fg £ POQ = 110°,
37/ PTQ ¥d™9d I

(A) 60° (B) 70°

(C) 80° (D) 90°

. 799 fed fig P3" O '=d €& faH T3 '3 PA, PB AUIH Ju= »uH &9
80° 2 d< '3 FIMT J& 3T £ POA TJ™8d I

(A) 50° (B) 60° (C) 70° (D) 80°

. THa 39 fa fan 999 © fan femm € fafamt ' 3 gt arewt mugm Juret
AHT3T Jemt IG |

. THa 93 fa Augw fdg 3° mugr Jur '3 fifenr famm e Sag € ded 3
I AT JI

.fEaffg A3 AT TIg € eI I 5cm Bt '3 J, I99 '3 AUTH JuT
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. © A d=dl 9337 & MIU o™ 5cm 3 3 cm I& 1 23 999 ©f R Ater &
HETE UST JJ W B 9ad & AUIH ddel I< |

fasg10.11
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10.

11.

12.

13.

fé—/a_v ?;)_ ~ ﬁ -§;=n 393
ABCD fy'fam famur I (29 939 10.12) |

'FFFUH%%(

AB + CD =AD + BC
fg39 10.13 f&9 XY M3 XY, 0 d&d
=8 foA 999 '3 € AHT3J AUTH JuTet
TS M3 AYIH fdg C '3 AUTH JuT AB,
XY$E AM3 X'Y'§ B '3 dedt JI fig
Id LAOB =90° J |
g =g fa fan grodt fig 3° fan Jag
'3 fdght et AU9E duteT =T
T JUHF ©dT dEd '3 98 dT 7
Hyga Jer J1

o 33 fa fan 999 € g7998 UH gaer
HHT3d 93d9H, AHY3dgH Jer J|

4 cm M3y forA @78 83 999 & 97998
yH goeT fed f3gm ABC fer 3at fifenr
famr I fa Jumds BD W3 DC (fAm &g
Augn fdg D ©mmaT BC fegfiz ) et
Bt gHETI: 8 cm M3 6 cm TS (@'Ef
939 10.14) | =T ABM3 ACUSTIJ |

fHo 33 fd 9o © 97998 UH gJet Jet

C <—6 cm—>D 8 cm

fg3910.14

T3JIH ST WIIHES-ATIHE Eff gATeT 9 €9 '3 HYTd dE g8 et I |

104 WI-wH
fer wiftmrfe f&g, 3HT I foyg safsmt e wiftmis i3t ¢
1. 9d9d € AUJH 4T € wag|

gagg Jemit I |

F9d € AR Iy AUIn g 3 e T8 wigy form *3 Fe et I
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& T3 feT, AT 89 g2 W3 Ugad € YW dT ddd JF JusTe! gITEMIT 1S,
fAe” fan d= & AHEI ™3 dd, fan Junds € &9 mHestis fuge, 49
3wt Et ggaTet daaT mife W3 Bt B Yre <t fe3r /i fem wiftmife &5,
wH fUg@i ggaret € famits & QUTar ade I8, dF Jd ddaer & miftmis
garar | feg guaret faf” I Adt 95, for s rafuzs J9 aifefsa fanfimr
(pre) & 39§ T J=IT|

11.2 y3 ©t 23 (fegws)
He &6 fa fea Junds a3 I w3 3t fem § f¥a fd3 9 wizurz, Hfamm 3.2
&g Tz 31 3t fem & Saret vy 3 w3 f83 91e, »isur3s © wighrg e fie
IS HAE J 1 Ud3 #dd 3973 o9& fer & Adt-Adt vy =t J¢t fedt &7 92 37 3HT
fer fdg & fae yuz 3da9i? fer yag € fig § Yyu3 99 © et wirl Jaf
fegt © fedhut © 99 It -
ST 11.1 : T Yz 3 3 918 wau'z €9 €571
&g Junds AB f&37 I, Wit fer § m: n © wiaur3 &g S5 orde I I fem
yfafan & mse 89 ATTe3T 998 © B W m =3 M3 n =2 BT |
JIST T YT :
1. AB 3 f5G5 de gaget aet fags AX fug|
2. AX'35=m+n)TAEA A A A MIA TERIFuifaz aT fT AA =A A,
=AA =AA =AA JTI
3. BA, © H&Q|
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4.ffg A,m=3)3 I Jd AT TV ABT
AHT3T f8d U (A, '3 £ AAB € §9/9d
I 9T ) AB § f¥a fdg C '3 Jeet Jet
fog @9 939 11.1)1
JETAC:CB=3:2J] 5
oG S iy e fodt fa2 7 Sfrer fegs foet 31 (990 1L
faGfa A,C,A BT AH3T T,

AA,  AC

fen set —L = —— (U I3 AHS—maUT3a3T faGaH e
AA, T CB == =

L AA 3 AC 3

IIETI AN, 2 ce 2 J!

fen 3° feg fier foager J fa fdg C,AB S

3:2% wgu3 &g E3e J1

Tasfua A gt feut

CELUECRIG fazg 1.2 X

1. AB 3 f68% de ger@et J¢t d¢t fage AX fud|

2. ZBAX € 9999 ZABY §&7 d AX € AH3J fq fage BY fife|

3. AX'3TEE A A, A, (m=3)M3BY '3 9B, B, (n=2)fer 33 »ifaz 93 fa
AA =AA =AA =BB =BB,J<I

4. AB, & s | Hfewr feg AB S fdg € '3 Jeet J (T4 933 11.2)1

3T AC:CB=3:2J]

g eie fa fem fedt 3 g B3t 99er fam 39t yuz Jet 97

feg AAAC~ABBC (fa€7)

3 AA;, _AC
BB, BC

o AA3_3 EN AC 3
Ud3 IS AT By ZUIfYIFrEECTE—E
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g wHT §ug o3t Iret guer § feq fio3 are f3gw © mHgu fea 39 f3gw
Tt 99T d9s feT Quutar datar fam gt garet w3 &3 are f3gw <t oz
grer &g ffq migus fd37 3|
TS 11.2: BT 83 18 A& gIe’ar € waH'd 23 a1 139 € AHIY Ba I3am
el guaT JIBT/

for ggoT &t © Afagh g5 | fea feg, fam f3ga Et gger s9st 7, 83
I 397 3 87 I »3 THdT fE9 €9 <57 99| 8 mas =i = »igg Jga&T
95 T8 337 Tt grrel w3 o3 91e f3gw Tt Hats gamet © Wau3 3 J|
(mftmre 6 <t ©Y) ol Iua=r § AHST T Bt Jat feIht Geraget 61

fedt fedt wu wfgst fi&w & @rar <t

Geragz 1. fEq &3 e f337 ABC © mHay € f3g7 & 99 a9, fam et
LR o S N N . o . 3 N Y . 3 2
grret fd3 91e f3gn it Har3 garet &r % I° @< B T - J)

7% : feq f3gm ABC f&3T I 1wt feq J9 f3gw &t g9er Jaat J, fam g
W%@FABCWWW?%%@I

EECUCRICIE
1. BC3 fAyg A © THJ U f56% de ga@et I¢t fia fags BX fu9|
~ o 3 v ~ us. v o ~ .
2. BX 341%@:(11%—@3 m3 4 {9 <51 Hitmm B, B, B, %3 B,, few 37
»ifd3 93 fa BB, =B B,=B,B, = B,B,J<|
-~ ~N o M 3
3. B,C fH&& »3 B, (3tHJ fg, "
feg3mz 4 9 38t P Iaae
TSl B,C € AMT3T fEq 94 BC§ ¢’
'3 dedl I fiY |
4. '3 I AT THI CAT AHI3T fed
JUTBAYA’ '3 dedt I fuiY 2y U39
11.3)1
37, A A’BC’ St Er f3g7 J1




242 gfe3s
g e fa fem goer 3 fae” ster f3gw yuz Jer J1

Fu 11 T, oo 3
S Tocc o1
BC _BC' +CC c’c 1 4 BC' 3.
-FE-H-B-E{T, = =1+ =14+—-—=— = — JI
BC'  BC BC 3 37 BC "4

8% dt, C’A’, CAT AHT3T J1 fer et AA’BC’ ~ A ABC (f387)
A’B_A'C’ BC 3

fwwAB AC BC 4

Geragz 2 : €9 fid3 9E f3g7 ABC & AHgy f€a 33w € 39ar a9 fm e
gt 337 ABC €t Ha13 gvtet =r % J< (I HIS T % 5]
J5 : €9 f3ga ABC a3 famr 31 wirt f€q f3gw & 99T agat I, fam gt

. .. . 5 o=
IRt A ABC € Ha13 gaTet e 2 IR

EECUCRIG)
1. BC3 fAug A€ EHg Ui 583 d= g8t Jet f€d fags BX T |
5 N Y M. ~ o o N\ Y .
2.5(3 @9 5 w3 3 f&9" <t dfamm g B, B, B, B, M3 B, BX '3 fen 397
»ifd3 94 fd BB, =B B,=B,B,=BB, =B B J<|
o 5 v . -~ [ o o ~ — .
3. B, (StHar fig, 3 1€9° 5 w3 3 f&9” =<t Hftmn) & C o fHe @ w3 B, 3°
J 9 A T8t B,C € AHT3J fEq 9uT, 2Ue 91e qumds BCE ' '3 deet Jet
ﬁusl A'
4. C'F I e T CA € AHT3T fd 9w,
TUPT '3 JUHT BAS A’ '3 dedt Jet A
fig @9 939 11.4)1
37, A’BC’ Bt e f3g7 J1
oo € Hoel iy J9s © BEl, frrs
fe& AABC ~ AA'BC’ (f367)

AB AC BC -
fEFrEE?A,B—A,C,—BC,m
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wgg BC _ BB,
= BC' BB,

_3 3
5

BC' 5 a_ - A'B_AC’ _BC' 5%
fenwﬁ—gamzfenw%—Ac—BC—3m

feust : Gergde 1 w3 2 &9 3HT AB#F AC '3 fos ae gaget I¢t fage <
B Ade H W3 ©F 397 »idl 2 Hae HT

ljﬂ.a'%B'l 11.1
Jof fa3 &9 999 © Bt 99aT v AuRdade < fek

1. 7.6 cm ST fEq qunds fag w3 fer & 5. 8 wigu3 €9 €31 €1 39T & HU |

2. 4cm, Scm mﬁécmmeﬁﬁaﬁgﬁﬁmﬁb@m@m@uﬁaﬁﬁ
f3g7 <t 997 99, fan gt gmret &3 9T f3gq et Har3 garet =r %d_l@'
J=I

3. 50m,6cm”@7cmmﬂﬁa@ﬁﬁmaﬁﬁﬁﬁﬁaﬁ%§ﬁﬁ
Ju&T 9, fam Tt geret i3 are f3gw &t Hars gH'GiET%E;IFrﬁiI

4. Mgrg SCm”PE\{@_v_tlTEﬁ 4cm%ﬁam@§ﬁ%§ﬁﬁmaﬁm§%€f€aﬁa
37 <t 39T a9, faret gmret fer AHEsH {397 &t Hars gamet =r 1%
e I

5. f&q f3g7 ABC g8 fAH €8 BC=6.cm, AB=5cm M3 £ ABC =60° J< | fed
&g f3g €t g9aT 99 fam Emit grret A ABC vt Ha3 gﬂl@i?%d_lelflil

6. f8a f3g7 ABCEEQ, fam i€ BC=7cm, £ B=45°, ZA=105° JI<|fea f&q
J9 f3g7 & 9957 99 fam &t A=t A ABC Tt Ha3 gH'GiET%dje'ﬁEI
7. f€q AHdE f3ga &t 99 99, fam &t gaet (Fde © feger) 4 cm w3
3 cm Sgret et I | feg € J9 37 €t 39 99, fan gt garet fi83

J¢ f3gw et Harz garet =r % T IE|
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11.3 fan 999’3 AUIN Juret &t 9957 -

3 fug® miftmrfe & ug 9o I fa wag ot fig gag € vieg Afas 9,
?%ﬁﬁ??mmmﬁaﬁwwﬁanﬁmmﬂaﬁf&?
¥59 '3 Al 3, 3T Gr fig 3Wﬁﬁawmﬁawwaﬁa H
@Hf&??mwwﬁw '3 &g Jet J1 fer Bt Aag IAt 999 © fan
ﬁa? '3 HUIH Sy ffga grde J 3T e G fig 3" 7 <8 niau fomm § Y

w3 Gn fie 3 fon ot Sy 9y 9| 3w fodt 3t AuaR Sy 924t
3t feg & <fumr I fa #ag fie 999 © ggg Afaz 9, 37 fer fig 3 Ja9
'3 & AUYIH JuTeT JeEuT & |
I il Sutdr fa fae” fegt mugm Juret & fifonr Ater 91
I95T 11.3 : 89 a9 € §799 AlE3 89 ffg 3° 67 '3 AYdr dye’ ef goaT
FIST/
wé fEd 9ag famer 389 0 I w3 fen € urgg feq fdg pfazr 1wt p
3 999 '3 € AUJH JyuTeT fHeEhT I |
EECUCRIG)
1. PO § &G w3 fer & migss 33|
He 56 po e Hu g M JI
2. M$ J'Ed Ha I W3 MO WJu fem™ &
9 f¥g 999 fue | Hs 86 fog &3 are
Fdd § QM3 R '3 deer JI
3. PEQM3 R &8 &G |
37, PQ %3 PR B3 &M € AUJH dyTet }
Ts (29 939 11.1) | fgs9 115
g ge el fq fen 39 o7% Ag AUgH duret fan 3at fHaet 951 0Q3%
ircusd
37, £ PQO Wdy 944 feu gfenr ffq de I w3 for et
ZPQO = 90°J|
ot wirt Ifg Aae I fa PQ L 0Q I7
faffa, 0Q f&3 a9 = wigy femm I, for Bt PQ d9d < Audm Jur ot
Jagit| fer 397, PR <t 949 € AUIH 9uT I
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feust : Hag 999 v ded odt fg37 g, 37 3H et €@ wAHIZd Hieer & I w3
& € &g AHEgTd © de fig € gu €9 9€d U3 99 Hae J1fer € 7%,
IHT BUII3 WGHT »idl U Hae J|
YS! 11.2
Jot fadt Ida I9aT & Bt murdiads <t fe -
1. 6cm "3y fewm = fed 999 A9 148 3 10em T A3 e ffg 3 a0 '3
AUTH Juet © w3 €1 3987 93 M3 BT Tt Sarebut un |
2. 4 cm W3y form B 89 999 '3 6 cm »JU fommA € 9 AW d=dt 939 & fan
fie 3" 89 AUgw JuT €1 99& 99 w3 BF & Tgret v | gresT 99d fEr HY
&t 79 9|
3. 3cmMdu fenm e 83 99a g 1 fer e far eue 98 formr '3 T 3 7em
ot gt '3 nfEs € e pw3 Q36| fogt Tt fagut 3° 949 '3 AR Juret
g )
4. 5 cm M3y fowm 2 B9 999 *3 mifadvt € AUgw Juret fig, 7 wiur fe g 60°
o dT '3 gt I |
5. 8 cm BT fed JUnIs AB 91 A I €I HE 9 4 cm way femm = f&a 999
W3 BE JIEd B d 3cm M3y fenwmr v feq J9 999 fi9 | I9d 999 '3 THI
Y99 @ IEd 3 HUJH JyTel €t 99&T Jd |
6. Ho 35 ABC f€d AHdE f3g7 J, fAiA 3" AB=6.cm, BC=8 cm M3 £ B =90°
JI B3 AC’3 BDBY JIfden B,C, D3 J d A'c @& f¥q Jag fufemr famr
J1 A F fon 999 '3 AUIH 3y € 99T 99|
7. fan <91 <t AorfesT o fiq 999 fug 1 999 & gad feg e a6 1 fer e 3°
999 '3 AUTH JuTeT €t 99T I | ) )
11.4 A'I-MH

fem miftmrfe &9, 3t S I fa Iat et gaaTer fam 3gt S Aeht 75
1. g Jundz & feq f&3 I mgurs &9 I3
2. feq fe3 are f3gw € gy 37 & 99 aga" Ae fd Ao gt o3t famr
I9 | (Mo greta f8a 37 wie 7t ffg 3 Su &t I FaeT J) |
3. fan grodt fdg 3 fan 999 '3 ¥ AYIn JuT 3 =f 99T Id57|

FuaT 11.2 dvif Beragst | w3 2 € Udr €1 293 99 Jv, fiq fa3 I8
9399 (Af 9ggH) € AHgY Jd 93937 (A gggn) o1, &3 I Ay
JIc’q & WGHd, J9&T 3T AT Aad! J1




Jod &' HufU3 U39S 12

12.1 gfiar
AT, vyt fug@hu T3t &9 AT8 AHSS wifag3t fae wifes, edr,
FHT39 93937, f3g7 w3 999 © UfgHnut w3 439est § U3 dds et 93
quﬁwﬁﬂlcmdwo'Hléoﬁ—u’HloT—rquwmsﬁmﬂT
I3, @W%?erawfeaauf‘e—ﬂ FadTaTd MTTd TS HEfI3 gt I
Frrﬁa—omemﬂe 38T, ITICEIS (dartboard) (HIAIT 895 fAR '3 STa He I
Y3 AT J7), 9% dd (cake), UUZ, 318! € BIE, WMBI-MB dT Ta&TeC et
2911, §g9 (brooches), AT JHIT, THT, S&' T foomrantt mirfa mifadhm
T3 € 95 G¥gde I8 (B9 939 12.1)1 foer st gagag fiza ©
HI3<YIs I5| fer »iftrrfe &9, »it wiust 9997 ffd 999 © ufory
(UgT) W3 U3deS Mt Hasuare! € AHlfum 37 1g Iatal W3 fer famns
?Gﬁﬁ?ﬁ(ﬁuwﬁ?ﬁ?{a’)@@%ﬁﬁ‘y‘&ﬁ’ TT Y3JISH U3T JIS
et a9tdt | TAgt & Ty fem Al S (sector) M3 T UF (segment of a circle)
aﬁmazswmﬂ'fwérmﬁrmw@wewwﬁéﬁ?m
wifg3gt 2 93 Huﬁoleusdseﬂ%msdlt{ru?aﬂ?wa




J9d &% HA[U3 43JesH 247
12.2 999 = UfgHy w3 439es - foq mifionr

33 W Jdedr fg fEq f939 € wiorg foq @9 I feg 3 i3t aret edt
Erer ufpy It T, fam & W 39 T WaT (circumference) TaaT AET T1 3HT
fUgsht T3t 3 fog @ wee I fy 999 © W © 6% o © o7 fia wos
iUtz der J | el mies »iau3 § 8 Tarat wivg o (fAm § uret ufgm wer
J) &% TIATENT AeT J1 gHd HEEt e,

wgr ~
femm™ -
Cu WaT = 1t x fomm
=nx2r (fA8 r 933 = way femm )
= 27r

& Has a3t gifeza mifanige (476 — 550 €1.Y.) & ner fed sretd e

62832 . o - - -
e fésm1 Gt S fagr fan = J, H &d19dT 3.1416 € g9™9d J 1| fen

20000
wwmwémaﬁﬁammmmﬁﬁm
IHTEAS (1887-1920) € € AISAHIT BT YWdT I9d, JNfe3d n T HS THHSS
T BYT AEST 39 Ufdass 996 fed AHdE J 99 I& | fae fa 3t a3 IX ©
e 1 3 7ree I T3 o ffa »ufana (irrational) BT I w3 fer w7 eavse
ferarg w3 w3 F—Eﬂ?ﬂ'@% (non-terminating and non-repeating) EjET JI LI‘cEf

. . g .22 . an
E@Hﬁawewwﬂﬂ'f&awm7ws.l4ww|
398 WE J<IT fd 9dd € 439eS n? g7 J I e 94 fd A 73 VIl
&g fenet 79, € Td9 § mod »igy fenmt dsf fg de I 3 feg B &
939 12.2 fE9 TaA™® wgAg feg 3~ A3 o i3t A

P
& T

(ii)
fesg12.2



248 gfes

IAT f939 12.2 (i) &9 »iag 29 Aae J, 8 »ifes <t Bargar Saret
%xan I3 93t I 1 o 3 Es fimer J fa 999 v U39S =%><2ﬂ:r
xr=nr J1g fugdht aHr3t i&g ught arehit orgset & o Gerade &t
AIE3T &% We Jdie |

Gugz 1: fEg Fagrag ¥3 '3 %24 Yf3 Hica €t v9 o8 @3 B € udy
5280 JIfem u3 €% 0.50 @m%ﬁmwmmwﬁmw

ﬁeﬁw@zwmwa&*m:T%I
UdT HI® 508

fer Set, ¥z ' WaT =220 m
fen 3g7 g U3 = wigy fem e I, 3

21 = 220
. 22
Hr 2x — xr= 220
- 220% 7 35
N . Taxm T
g€ U3 € WMdyg T 35 Hiegd J1
fer =&t 7c|5fEﬂc|5'aE‘&5=nr2=7><35><35mz=22><5><35mZ
[ 1 m? 43 € €get ¥ ygg = 0.50

foer &€t U3 &t €U 995 T A& Ydg = 22 x 5 x 35 x T 0.50 =T 1925

YHSESE 12.1
. v “ “ ~ 22 — -

(A9 3 99 9% &7 faar A<, n= - T YWl 39)

1. € 9997 & WY fou™ gHe™d 19 cm M3 9 cm I& 1 ER
Td9 T Wy fem 3T 99 farer War fest gt Taat
o WfgnT & 73 € ¥9™9d J1

2. & 9997 & WJy fem™ gHETd § cm M3 6 cm I5 | OF
Td9 € Mau for™ U3 99 farer u3des fegt gt 39 123
ddd’ @ Y3de®’ & A3 € gJgd J| )

3. 939 12.3 fea g view foms & ganGet 9, fan &9 I'©d © ¥gd <5 A
Y39 GOLD, RED, BLUE, BLACK "3 WHITE & Sdn8e J5, fagt '3 nid yuz
aﬂzwnaeaxmowwwm?ﬁ@mzlcmawmwuﬁ105 cm




J9d &% HafU3 439es 249
I3 I vig YUz dafT =8 fegt Uat ¥3at f9” 999 &7 ¥3des U3T dd |

4. fom 379 2 I3 Ut =7 fani™i 80 cm T | A fEd A9 66 km/h €t 978 37& 9& IJt
3, 37 10 fife f&9 gda i fds 999 arger 37
5. Jof fafiut f&9™ Adt 8739 9 w3 »iue €739 = murdiads fek

Hod fEd Tag e ufgHy w3 U39es Aivmmand gu &9 g9mg J, 3T @R Jad &
gy femm™ J -
(A) 2 fegremt (B) nfearemt (C) 4fearemt (D) 7 fearemt

12.3 W3y fommHl 43 w3 J99 U3 © U39S
3T fUgsht 3t 1&g wigu formt 3 (sector)
y)‘E\{HVB(_G’tfl’_a’(segmem‘ of a circle)??—l’éffg_g(ﬁl
3398 W J<ar fd fea gadt usg en Qo gara ©
dag = g »ayg fewmH ¥3 qa@er I w3 dddt
Y39 v 89 grar 7 ¥ Ftem w3 Has U & fegaa
Wﬂﬁ%fﬁaﬁaaﬁsaw@?%ﬁmw,ﬁ%
12.4 f&9, J9flc 9791 OAPB 9 €d O T8 Tdd =7
foq wigu formt ¥3 I1 £ AOB fer »igy femrHt
Y3 ¥ de Jai@er J1 s fe€ g fen fdza feg
TdId J9fta I7aT OAQB & 9dd & »dyu fammt ¥3
J1AUHE et 37 OAPB € BW wiau fenmt 3
(minor sector)aUT@'_t!Tff‘YH_;' OAQB feq dtqw »iag
fermt b3 (major sector) IT8eT J1 3HT feg &
Y Aae J fa fer dow »igg fewmt b3 = g
360° — £ AOB J |

e 9379 12.5 & 2, fan €9 ABJI'=d f¥3g
0 T8 dad df fiq et I fom =t dafts grar
APB f8q 999 ¥z J1 3At feg <t 2y Aae I fa
TdIg Jdfta Ia1 AQB & HieT AB ©@wTdT gETfomT Q
ffq I9 999 U3 I 1 AUHS dida’ 37, APB SYW 94
Y3 J99er I w3 AQB ElW ¥dd ¥ dag e J1
feust . a2 39 o faor 7€, 999 U3 W3 »dyg
formHT ¥3 f8ye 378 3T 91 gHE'd BY 949 U3 A
W3 BW may formHt 3 575 Jar|

G Qudas fams € wmag '3, fegt ©
Y3deS & Ufdd®as 996 & JF AYY U3T Jdd6 &F
W3S I
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H& B OAPB IE€d O %3 %JU fen ™ o8 Jad =7 fEd wigy femmt ¥
J(E9 939 12.6) 1 Ho BE £ AOB T TIa (M'H) (degree) HYU 6 J |

IAT A J fa f¥a 999 [viAs feo fiq 9adt ¥39e® A f3Ad (dise)| =7
Y3J9e& 2 Jer J|

feq 3dta &7, »iHt fer gadt U39 & 30 0 '3 360° €T 9 gIT BT
(Fe Tdd HY 360°) = f8d »idu fanH Y3 He Ade 7| feg feardt feut
(Unitary Method) € YWaT ddd, »H »3yg fenHt 48 OAPB € 43Jes It
TJHATE WGHTJ U3T Jd HAe 7 :

Hd JdEd '3 U3 9T € €Id" (degree) HYU 360 J, 37 »du femmt ¥z =7
U39S = 1y
fer met, fﬁfé?a’ '3 IS I T EIH (degree) HU 1 I 3Ty fommdt ¥z &

~ r

"~ 360
fer B, A2 I©d '3 9 d< T TIAT (degree) HY 0 J, 37wy femdt
2 0
Y T UITET = 2L x 0 = — x 7’
. n369 ~ 360 o N Y S £F T
fer 397, 7S 949 € may fammHt i3 € 439es € &et, J&f 3T ey
yy3 E_EI‘ETEAI
) \ [ N e
J= 0 =8 MIy fourrt U3 v 439es =—— xw’,

360

frg r 999 = »igu fom w3 0 widu fewmHt ¥3 = vaq
(degree) feg d= J1

< 89 gaed Yrs € aer J fa »irt fer niga fenmt b3
€t Ha13 IU APB € &gt YUz I3 Hae IF| IF, A
WfAaT 99 Aae T 2grd! feargt fedt (unitary method) €7
YW dT 9dd M3 HYIS Ta9 (360° € T8) €t St 2nr 8
3wt T APB T ST Guret %xmrmaa%aﬂ

%ﬁﬁ,ﬁaﬁe@mﬁ»ﬂﬁs%ﬁmmé@é:%ﬂw

WG g 929 O M3 MJT e r T8 JJ9U3 APB © ¥3des '3
fegrg adte (T4 fg39 12.7) 1 AT By Aae I fa
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YIJUS APB €7 Y3de® = Wdy femH Y3 OAPB €7 ¥3de® — A OAB € 43Je8S

=Y i — AOAB T ¥39EE

360
feust . gerg fo39 12.6 M3 939 127 3, AT SY AaE I fa
oW 3y et ¥8 OAQB T H39ES =2 — BW U fanHT U8 OAPB T H3des
3 EITW TIIUSF AQB T U3JEH = 12 - BY TIJUS APB €T U3IEH
g »E fegt ageret (At ufgei) & AT B © BEt 93 Guradet BEle:
Qerggz 2 . widu fomr 4 A, @8 g dag @
WY fenHt ¥ ©7 ¥439es U3T 94, fAmeT d< 30°
J15% It, Har3 diaw »igg fant ¥3 € 43des
S UIT T (= 3.14 T YWl d9) |

T - fa3r Ifenm wigg femt U3 0APB T (B4 fd39 A_

12.8) | ﬂ

m@ﬁﬁswﬁm:%xnrz Ap B
fg3912.8

= ﬂ><3.14><4><4cm2
360

= ? cm?=4.19¢m? (B—qng—cﬂ)

Har3 dlow wigg femmrt ¥3 e ¥3des

2 — Iy femmHT ¥3 OAPB €7 43de®

(3.14x 16 —4.19) cm?
= 46.05 cm® = 46.1 cm? (&N

TEge gu fam,
. - 360 — 0
W »ay Tt 43 €7 43des = %Xﬂ:rz
= (MJx&Mxlé cm?
360
330

= x3.14x16cm’ = 46.05 cm”
360

46.1 cm? (&1



252 afeg

Gerggz 3. 939 12.9 &9 ©aA™® I¥ I3 U3 Y
T Y3ded U3T dd, Hdd 9dd &7 Wdy formH A/\\B
- - 22 120°
ZlchWIS’LAOB=12O°U[ﬂ:=78‘@]I 7
J% : 999 U3 AYB € U39S fg3912.9
= %3y fem™ ¥3 OAYB €T ¥3J€& — A OAB T ¥3des (1)
. N 120 22 ) )
J<, nﬁuﬁwﬁwOAYB@m:%x7x21x21cm =462 cm? (2)

A OAB € Y3de® U3T dds & & OM L AB fi9, fae” fa fd39 12.10 9
fergrfemr fam g
fims fe€ g 0A = OB J 1 T ®et, RHS HIEITHH3T 3, AAMO = A BMO J|

VPPN 1 N
fer s, MFﬂETABETHUfEIgUWBAAOMzéBOMzE><120°=60°UI

Ha B& OM =xcm JI A M B
- . OM o (]
-FE-H- B-E‘:"A OMA T, a = cos 60° W
1 1 0
) X
— — — |cos60°=— -
" 2172 ( 2} fdzg12.10
o _ A
T
21
fer =&t OM=7cm
AM
1% It a:mm%?
2143
fer =&t AM = 2\/_cm

for met AB:ZAM:%cm=21\/§cm
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fer =€ A OAB € U3dES =

| —

AB x OM =%x21\/§x%cm2

2
- %\/gcmz (3)
v o ~ 441\/_ 2 i -
fer Bt 99943 AYB € U3dES = (462—7 3jcm [(1), 2)M3 (3) 3]

21
=5 (88 — 214/3) cm?

YHSTH 12.2

-, v Y 22 - “
(7" 39 & fagr A, n=7?1{mmaa)

1.

6 cm WJy form @78 f8q dad € ¥ »ayg fommHt ¥3 e 43de® u3T 94,
e 3= 60° J |

2. f€9 93 © TH IT4T (quadrant) € ¥39SH U3T JJ, TAHET WIT 22 cm T
3. feq w3t &t fifet @&t wet &t Saret 14 cm J 1 fer met enrar 5 e e 3w i3

Y3d €T Y3deS U3T IJ |

10 cm »du fewmmm @) 8 999 € det Hier Ied '3 ffq AHde ga@<t J1

J&t fafamT 27 ¥3des 3T 99

(i) A3 BYW YIIUF (i) HI3 TIIW Iy fenHl H3 (n=3.14BF)|

WIY fo™ 21cm T8 999 =7 g U d2d '3 60° €T d€ gTG T JI1U3T 9 ¢

() 9 €t &aEl (i) 9V T 9T 918 Way foumHT U3 €T 43des

(iii) HI13 HieT @WTaT 978 J1¢ 9ddu3 € ¥43ded

15 cm #Jg fenm 218 g 999 € aet fier I 2d '3 60° v de ga8dt JIHI3

JY w3 SoW T3 ¥ST T U39eB UST AT (n=3.14M3 3 = 1.73 T YA J9) |

12 cm WJu fommr @8 g Jag =t 9t et

IEJ '3 120° € J< 5G9 I | HAT3 IIu3

T Y3Jes U3T I3 |

(n=3.14M3 3 = 1.73 € YW1 I3 )

15 cm g7 @18 89 Tdardrd Wid € He's & fiq

95 '3 B 08 a5 UF & 5 m St IH 55

gfewr 3w I @9 f939 12.11) 1U3T I3

(i) He's 2 ©F 3791 = ¥3des fig w3t wg
9d A<t d| ffzg12.11
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Jfes

10.

11.

12.

13.

14.

(i) 99 7'E T8 U39S ffg U Aad WS § 5m Het IH € AES '3 10m St

IHt 3% €6 &3 7€ (1=3.14 T YW 93 ) |

&9 YaaTdd ¥gY (brooch) & TTEt T 319 5TF
geen mer J fArer for™m 35 mm J139 &
J99 € 5 formt § g &g eafam famr I
w8 & 10 93799 wau foumt U3t i[9 <3t
J fae” fa f939 12.12 f&9 Tanfon famur I
BTUBTB!%

() 948 83t gidt € 319 &t Jaret

(ii) 999 € IId WU formrt H3 €7 U39en
&g g3dt &9 »fs 379t I8, ¥ ga9d gt '3
Fathoft Jeit I (2 939 12.13)1 831 &
45 cm MJu fewm T 3 AUTE 999 Hod
J¢ for @i € 939 39T @ fegag =
Y3J9es U3T I3 |

far g9 2 & @feug (wipers) Jo, wWH feg
e <t feq grd & g€ a1 Ida Tfeyq,
fam <t U3t € &gt 25 cm I w3 115° 2 de
39 UH o AeTEt Jd AdeT J1 2feudt @ Idd
I3 3% fHaT U3dem® e d 7er J, Ba uzT
I

@% o)
&

fgs912.12

fgs3912.13

Aot & AHeEd €U 78 AT € Jof Afg3 derst € 93esl 2T € B, f€a sele
IGH (lighthouse) 80° I T8 fea gy fommt ¥3 €9 16.5 km &t gt ST &
391 BT Y €FE T I I AHEd € GF 791 T ¥3deS U3T Jd A 5% Aot §

g3est fd3t 7 Hd (n = 3.14 T YW1 J9) |
f&q 9t vaum '3 & fed fag (mHs) feamdts
IS J¢ I | fae fa 939 12.14 &9 warfonr
famim J1 A9 HaUR € »dy for™ 28 cm I
373 0.35 Yf3 391 Aeieg =t =g &5 fegt
faaetst § ge@e € 93 u3T 99 |
(V3 =1.738)

W3y fen™ R T8 Tdd © B »iau fenrdt U3 v ¥3des farer de p° J,Js foy

MSHTT J:
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p p 2 p )4 2
—— x2wR — X R ———Xx21nR ——Xx21mR
(A) 180 (B) 180 © 360 (D) 720

12.4 AH3S f9397 © HUAs € U3des

IE 3 WA MBI-MSBIT 9397 © U39es MBIT-MIBdT guU 9 U™ o3 I |
WG g AH3® fI337T € I3 HUHST (combinations) € ¥3Jde® U3T 9d6 € W3S
Idte | A fer yarg © f939 dameT Hies €9 W3 mdar-msar 994 f3arelst @
Ju &9 Tue g fise 5| S5t Tt famdnrf, S8t € Eae, fugdnt &
famrets, HaumRt '3 g f3Aels wife wifrd f939t © I3 Gerade gs) feat
fg39t © U39e® U3T 99& ©t Yfafam™ § w95 Gergdet enid™ HURES JaTdl |

Geargz 4 . f939 12.15 &9, 56 m g7 @& fox

TIINIT BMS (lawn) ABCD & & UTH FEtHT Jehwt

T IAITIT & DT fomirdtuT fement areini I |

HJd I9d IAI I famitdt =7 I ed ®mis & feaaet

T et fig 0, 3T T9arad Imis M3 TB Tt

forrdntt © Y3desT T 93 U3T dd| (n:% e P

YT FI) | fifz912.15

I ¢ TIIAT BMS ABCD T U3JES = 56 x 56 m? (1)

Ve 86 OA= OB=xm JI

fem Bt X2+ x2= 56

At 2% = 56 x 56

At x> = 2856 (2)
90

1
@WWWOAB?W—%XEX _anx

A B

O 56m

@)

x¥><28><56m2 (231 3

A=

- 1
&% It AOAB € ¥3de€8 = —X56xX56m” (£ AOB = 90°) 4)

N

fer =gt farrdt AB €7 U3des = (ix§x28x56—ix56x56jm2
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[(3) ™3 (4) 3]
= l><28><56 g—Z m’
4 7
1 8
= —X28X56xX—
4 - m 5)
fer 3gf, THdt fanrdt T U39es = %x28><56><§m2 (6)
mwﬁgmagaw{swsmixzsxswg

1 8 36T
+Z X 28 X 56><7Jm2 [(1), (5) M3 (6) 3]

28 X 56 2+g+g m?
7 7

28 X 56 X g m? =4032m’

gese feut
HYJS U3deB = MJU femmH Y3 OAB €7 43de® + Mad fammt ¥3 oDC &t
Y3JES + A OAD € Y3Je& + A OBC €7 ¥3deS

= ﬂxgx28x56+ﬂxgx28x56
360 7 360 7

+i><56><56+i><56><56jm2

_ lx28x56(g+g+2+2jm2
4 7 7

_ X756 (22422 + 14 + 14)m>

= 56 x72m?*=4032 m?
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Gerggs 5:1939 12.16 F9 Jaftc U3T o ¥39esm / \
y3T 99, fie ABCD 9#" 14 cm = f8g Jd1 J|

U : SIITABCD €7 ¥3d€8B =14 x 14 cm” = 196 cm’

~ . 14
Jdd 949 € T = Ecm2=7cm2 k /

@)

-~ ] 7 ~
fen &€, I9d 999 € My fem = Sem fgsg12.16

RNV N 2 7.7
'FE’FTB_SIT,'FE_O(tIddETHddG&=Tcr2=7><5><50m2

T

4

~ v . N 77
fon et 97d Jaa € U39S =4><70m2 =154 cm?

fer 397 Jafle U39 T ¥39ES = (196 — 154) cm? = 42 cm?
3

Gerggz 6 : f¥39 12.17 €9, Jafls feardls e ¥39es U3T 944 fag ABCD 377
10 cm = fd €391 I w3 fen edar €t 999 I & for He o wigy g9 fie
e IS (1 = 3.14 T YWdT F9) |

A B A B

v IT

I

10 cm
fg3912.17 fg3912.18
IS : MG 919 Me—Jd ¥33T S I, 11, I M3 1V 575 wifaz Idte(2y f93g
12.18) |

[ €7 Y3Je® + 111 €7 Y3JeH
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= ABCD €T Y3Jde® — €& WdU dad’ & 43des, fan f&g Jg9a = »igy
femm sem® I

1
= (10><10—2><5>< 1t><52JCIn2 = (100 — 3.14 x 25) cm®

= (100 —78.5) cm” =21.5 cm?

fer 3qf, 1 €7 ¥39eH + IV T ¥3ded =21.5 cm’
fer Bt Jofts fsafes ©7 ¥39e® = ABCD € 433eS — (1 + 11 + [ + IV) €7 ¥3de®

= (100 =2 x 21.5) cm’= (100 — 43) cm? =57 cm?

YHSTST 12.3

Q
. v ~ 22 — “
m?wwmwe,n=7?a‘h{mmaa|)

1. f939 12.19 &9, Jafts, I97 €7 ¥3IeS U3 J4,

Hdd PQ =24 cm,PR =7 cm. W3 O ¥dd &

eI JI

R NN
fg3912.19

2. 939 12.20&9, J9fls 9T €T UY3TEB U3Tdd, Hdd d€d O & &< HHd &dt

YT (concentric) & WU fem™ gHETd 7 cm W3 14 cm TS M3 £ AOC = 40° J|

A B
'w' P
C D C
f§3912.20 fgs912.21
3. f939 12.21 f&9, Jafts 9791 €7 ¥3I€S U3TI9, Hdd ABCD gHT 14 cm TT&T

ffq €991 I M3 APD M3 BPC € MU 9dd IS |
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4. f939 1222 f&9, Jafflc ITa1 & ¥39e® U3T 44, fAg Ia" 12 cme& fox
AHaH f387 OABE fAYd 0§ J'Ed Ha 9 6 cm»iau o 8T fed Jadt
gy fafanr famr I

PN
. ; N

12 cm

fg3912.22 fg3912.23
5. 9T 4 cm @8 8 TdIT € IIF 93 3 1 cm »IU fem™H @78 99 = ¥ garet
Jfemt famm I w3 feg™®@ 2 em fowmmr w f8q 999 &t dfemr famr g, fae” fa
939 12.23 &9 warfomr fapr I 1 2991 € g7t ITa1 €7 U3JeS U3T J4 |
6. € Tagrdrg HAUw, faAeT »ayu fen™ 32 cm I, &9 f¥a AHsH f3g7 ABC
230 J¢ g feafes gfem Ifenr I, fae fa 939 12.24 &9 wanrfomr famr
J1 fer fsafes € 439es U3 J491|

fo39 12.24 fe3912.25

7. f9339 12.25 /€9, ABCD 37" 14 cm €5 f€d €FIT JIA,B,CM3 DS I ©F Ha
d, 99 949 fer 33t fiy 9 95 g 999 T99 35 gt Jaat fd9” © Jaa' §
gadt gu €9 AUIH dde J1 Jafts 391 27 ¥3des U3T JJ |
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8. f939 12.26 f¥q ©3& ©T IAST (racing track) TIAEET I, fAre Aa w3 ¥9 fHI

10.

11.

WJY Yadad IS |

fg3912.26
Tt wiegal AH3T Jyndst € feord = gt
60 m J €3 f&9° IIq U 106 m Far J|
Hag f&g IA3T 10 m 9T J, 3T UST AT
() IA3 € wiedat faafam’ & wigAtg ffa yar
(i) IH3 € U3JeH
939 1227 19, ABM3 CD I ©d 08 f¥q
Jd9 ¥ © Uygrud ( mun f&9)8g fowm 95
W3 OD B< Jdd & fem™ J17ad OA =7 cm
J, 3T Jalls 79T T U3ISH U3T AT |
g AHgHt f3g7 ABC BT ¥39ES 17320.5 cm?
J1fen f3g7 © 999 firyg § I 29 Ha o f3gA
€ ga7 € WU & 999d »du femm & 9 fBa
Jag fifonr ater 3 (249 939 12.28) | Jafts
ITdT €T ¥3ded U3T Jd, (n = 3.14 M3
J3 = 173205 39) |

ffq Tgdrard gH® '3, & IdddTd feafes
ge &, fAn &9 I99 T wigu fer™ 7 em
J (29 939 12.29) | IS & gt IraT &
Y3JeS U3T I |
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12. 939 12.30 f£9, OACB 9€d O W3 WJU fom™d 3.5 cm =8 f¥q 9ad & 9ar

IIT JIHdd OD =2 cm J< 3T J& f&fum € ¥39em® u3T 99 :
(i) 99¥TOACB (ii) Jafts Irar
A Q
C C B
D
B 0 0 AP
fg3912.30 fg3912.31
13. f939 12.31 f&9, f¥q Suvet OPBQ € »iwd ¥ @ddr OABC gfenmt Ifemr J|
A3 OA =20 cm Je 37 JIfia I79T €T Y3JEB USTId (n=3.14BG) |

14. AB™3 CD 9 ©d O W3 WIT femm™T 21 cm W3 7 cm T8 & AH dEdt gad &
FHET € TV IS (24 939 12.32) 1| 7 £ AOB = 30° J, 3t Jafts ImaT =r

Y3Jes UY3T J4 |
A B
B
21cm
)
Tem
VY ) /
0
fgs3912.32 f§3912.33

15. f939 12.33 €9, ABCwau fewd 14 cm €8 fEd dag = duret fdmr I w3
BC S feni v o fed nigu a3 fiifenr famr J 1 Jafts 391 27 439es U394 |
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16. 939 12.34 &9, dofts fsafes v y3des 8 cm -
U3Tdd, 7 8 cm MJU fomAT @@ € dadt 9(¢°
it gareh @ f&g AT J1
8 cm 8cm
_|90°
8 cm
fg3912.34

12.5 AI-HH

fer wiftpurfe &g, 3T I T aafswt e wiftis 13T I -

1. »JuforA r T8 dad e WdT=2nr

2. WJy fe™m r T8 999 €T U3deS =1

3. »du fem™ @ 999 © ffa »igu formdt ¥, fareT 9 ©dn(Degree) f89 6 T,
€ Hd13 9t Sgret %xzmzjﬁrfn

4. w3y fo T8 Jag © fed wigu femmit o3, famer d a9 (M ) (Degree)
v = ~\ e [s) =
&g 0F, T U39eH ﬁxnrz Jer J1

5. fEa Ja9ds © U39 = HaI3 du fean™ ¥z T U3Jes — Ha13 390 €7 u3des




A U39eS M3 me3s 13

13.1 gfiar
gd J (29 937 13.1) | 3Ht feg <t ug ¥d J fa fegt 9397 © 35 © 43des

W3 wife3s fan 39t u3T o3 7 Hae IS |
(@) (ii) (i) (iv)
fg39 131

T IS Hies 89 Aé i wiad 31 Ty § fise I8 7 Gudas
< At S0 MU9gs A & AuAal 3 (I B § HET J) gew Is|
3T €9 2dq © filg I4 €3 dad
(Container) é Hgg dt et Jear (B9
939 13.2) fam fee fEq mas 3~ grg
FE'S 3o 38 77 Uat & o AenT JAier J|
ot ferer wiarg Qudas 99 SA f&
far o @ wrarg fagr 37 3t fea wisHs
I Hae J fa feg on f€a <5 w3 y
fe3913.2




264 Jfes
Ore 2ot fAfgu '3 € widu I8 BT %

gfen 31 feg 3 3t wifadt emz <t wgg =t o{:}

Jeaft 7 f39 13.3 &9 wanmet ot 31 ot It =
ferer & €1 Fae J7 fog forfos It ffq yay
W(testtube)%lﬁméwmﬁ
YGamsT 189 edfsnr J<ar feg uay sat ¢
fog Tse w3 ¥ wigu 918 o5 s 3 gt I

fer 397, w39 I9€ AN <t BUdI3 SHT € HuHsT -~
SF TGIMT WadT ST W3 Hed feHTast w3 939133
AHTaat & < 3HT Sftm IS

Hdd fan Ir9s, 3AT fegt AT € 3IF T ¥39eS A »ife3s AT Uds

AHGET U3T 9d&T 9d 3T IAT ifrar fam 3t gd91? 3HT mifrd 3t & de 39
Ut Jet 919 31 gueTel feg fan fea & gu &9 Taaflfaas adt 99 AaT |
ferm miftmrrfe feg, 3t fog 2bar fa fam 3g7 fegst At € AT € U339
W3 Wifezs U3T di3 7T HAE 967
13.2 SAT ¥ HUAST 1 A3T T U39S
g R dag '3 feurg Il & wirt 939 13.2 &9 2t /Y fem yag &
AT € AZT € u3des it fae uzT adte? ge, A & A3 AToHS JEt St
AT wrBEt I 3T wit HE 3T ufost feg By T W36 J9e IF I ot wirt
fer & mifrdt €2t mifimet f&g 33 Aae If fagt & wirt ufost 35 a9 9d
It By Aae T fa feg, 3 fia s © St fafontt 3 €9 fea g grer
I &1 gfen J1 feg 939 13.4 &9 feyre 37 Tgar Sarar, A< fg wirt
Ag Zafamt & fisr 8¢ I7

A N
Z N

fo39134
BT ¢ de% TJd 38 It feurdt et
fen =et, ferm an € Hygs AZT T U39es f3sf Ia1 € S99 AFT ©
Y3JeH € 13 € 9799 J<ar | fen o8 7é Yz Jer J
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3H T HYds A T U39ES (TSA) = d /a0 I ot S AF T U3JES (CSA)
+ TS ©f S99 AT € U3IEH
+ THJ MdU I1& Tl Tod AT € U3JeH
e fEq 99 Af3t '3 fegrg adle | Ha 6 wirt »igu I8 M3 Ea Hg $ A o
f&q fuger g 9J It 1 e wirt” Gt uart & Tufe fast migArg T I Jafar|
(FuTe) 3t & a5-57% fenmEe B w3s Jatdl | fen feg Jet Ha st fude
T 35 & fdae Jue © St »iHt g © Mg B gy fod™, mad 918 © Mdg
for™ © 9999 Beidl | fegt fudfont © sz ffu sSleg uar fi39 135 9
TIHTE WEGHT Jdl

MUE W3S © eBHY A fEd 9% warg @ Hed fuser yuz J wfer
J1ge, wrt feg Areer 9ide IF 9 for fuge &t AT (3%) ‘I T s9Ee ©
et fdd Ja1 &t 7gazs Ieaft, 3t g off wreardt It wrdtet 97 wé fen fuse
T T9d AT (3B) T U3IEH YT I9S T 7dI3 J, 1 MIU-I1S & CSA M3 Hy
T CSA § fie 9 geer J1
fem 3q, WAt afg Fae It fa

fusT =1 Hyds AZT (3B) € U3JES =»dU 98 T CSA +HJ €7 CSA
Jge WM 99 Geradet Bete|

Seragz 1: IHte & 7eH fes 3 393 © gu 99 fEa me fifgnr fam '3 dar
oIt 3T fapum /1 §T e/ °3 WU HH € I4TT (Crayons) &7 IdT IdaT Irder
J1feg 3¢ ¥ ¥y © wrang v J fare §7ug f€a »iga gieT sfem Jfemr I
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(e9 ﬁ%l36)|wﬁuﬁ@vﬁ5cmafgﬂwféﬂm35cmm@ﬂgw
FaT 3T AT TTHT U3ISS U3T FJ |

(= % E@I)

5cm
75 : fog B¢ fagas On <Az Tgar J faret gagr mrt

13.5 &9 i3t /i fem e, »t €9 yuz ufgew §
wfear € 39 '3 feg YyWar 99 Hae I I 39136

BT T TSA = WJU TS €7 CSA + Hg €7 CSA

N ~ 1
IE, MIU 913 € TId AT ?Hdd6&=§(4ﬂr2)=2nr2
= 2><g><£><£ cm’
7727 2
&8 It Hg = § 9t = e & € 9ret - »igy 918 3o € §9ret (wiau fewm)

3.5
5_7 m =325cm

fer =t ﬁgﬁ%ﬂﬁ@ﬁ(l): [72 + 12 :\/(3_;}2 +(3.25> cm =3.7cm

fer wet, Hg ©f <99 AT T U39EH = il = (7><—><3.7

foer &7 7é B2 T AT T ¥3des fer 39f YUz I<ar

252253233 om + g><£><37 m’
7 2 2 7 2

22 11
== 325(35+37)cm =3><(35+37)cm =39.6 cm® (B JTFdN)

3HT Ty AaE J fa ¢ € Hyds AT €7 U39€S MdU 918 M3 Hd € HYTS 38
Y3Jeyt € W3 € ¥97¥9 &1 JI
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Gerggs 2 . f¥39 13.7 &9 wamfour famr < 42em
FAAEC € BEl YWdl I T8 987 € SHT 3%
s o gfenr 31 fegt f&g ffg we I w3 Trar

’ N Sem

Wy 9187 I | feH 987 (block) € W™ 5 cm
AT ST (edge) TS RI WS IMI AT 501
€ug I IT wigu I8 =7 fo™H 4.2 ecm T
fen g3 € HYds AT T U3JEH U3T I

5cm

22
(=" 9137
U5 : We g HYIS AZT &7 43968 =6 x (fdad)? = 6 x 5 x 5 cm? = 150 cm?
I, W T QT 3791 fAn 3 wigu 9igT Sfamr Jfenr I, AT € U39es &9
AHS &t Jear|
e o, 959 & AT €T U39e® = W T TSA-MJT J1% & Mg T U3JeH
+1JdU 98 T CSA
150 — tr? + 2 mr2 = (150 + ®r?) cm?

>

150 cm? + gxﬂxﬂ cm?
7 2 2

= 150 cm? + 13.86 cm? = 163.86 cm?

N

Gorgazs 3. B3 e fiq fude gde
(rocket)ﬁaﬁgémﬁﬁﬁfgﬂ 6 cm
s '3 Iftp Ifom g, e fa fii3T ..
13.8 f&9 TaremT famr 31 Hygs groe 26 om
E"f@_u_t!'ré:f26cm%, ﬂ@_ﬁﬁgm
31 €t €797 6 cm J1 Hg mrarg gTar
T wurg e o™ 5 cm M3 SBIAd

graT & Warg = fe™ 3 em J1 Hdd Sem
Hg WdTg I79T '3 STJ Il JaT 13T AT

EN N A N ﬂ ) ﬂ

J, M3 BTG FTIT I UIGT 9T A1 TS T WU
HET J, 3T I3 II1 ©MTdT ITIE ©T Jal R

HE €% JTdl € Y43deS U3T J4 | ‘ EESSIGEEE
T=3.14BG| v 7

( ) fg3913.8
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J5 : Hg © mdyu fenA § r &8, HY €1 {3981 9l § | o8, Hg € €9t
3 hEH, TS € MIU form &/ &8, I8 T €9l § i 5% wang | fer
BE r=25cm, h=6cm, 7 =1.5cm, K’ =26-6=20cm™3

I= P +1 =25 +6 cm =65cm

&8, g Mg 3791 T Iddt Mg S8 B g '3 fefamr Ifenr 3, udz Ha
T OTd B © »UTd I I3 J1 fer BEt Hg © vmurg 2 €9 IaT (83 (ring) §
<t Ifarur A
fer B€t, adaft daT &% JaT I T USIEH = Hg T CSA + HI © Mg &
Y3JEH - B & WMIUd T U3deH
7rl + wr? — 1(r’)?
[(2.5 %X 6.5) + (2.5)*> — (1.5)*] cm?
7[20.25] cm? = 3.14 x 20.25 cm?
63.585 cm?
I, WIS 991 &8 Jd1 A€ <78 97T ©F U3deS =B 7 CSA +
e © f¥a w9 BT 43des
= 2/l + n(r’)?
=nr 2Qh +71)
= 3.14x1.5[2%x20+ 1.5] cm?
= 471 x41.5 cm?
= 195.465 cm?

Eerggs 4 : 398 & mye gaile &g B Ut
feraTaWd(bird-bath) g=TomT fareT nirarg feq
Yy& B 2Jar J fare ffq fird 3 wigu digtarg
H935 gfemm Ifemr I (T4 939 13.9) Iese &t
g9t 1.45 m I W3 8H = wagu fewmmw
30 cm J1 few Ut femsswg & Ayds AzT ="
Y39es U3T I |

1.45m

fgs3913.9

I5 : Ho BF fg 2ms €t @9t h I w3 28T W3 Wdy 98 € HIST Wy
fewmm » I
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e U fersrswg €t HUds AZT T 43J8H = €5 © CSA +MdU 913 BT CSA

2nrh + 21t = 2nr(h + r)

2% % % 30(145 +30) cm?

33000 cm? = 3.3 m?

YHSRSH 13.1

. - 22
e 3 & faar A<, n=78€f|

1.

T we, fagl 9" 999 T we3s 64 cm® J, © AHS €54t § e o fea 3R
gafem AteT J| for 3% YUz wee € AT T 4398S U3T I3 |

Jdt 9935 fq Yus »du 918 € wiad e J far € Bud ffq dusT ssc Bfamr
JI gy G = feurH 14 cm I w3 foH 9938 & 98 Q9 13 em J1 foR
3385 € MEdal AIT T ¥3JES U3T IJ |

&g fuzer, »iau fomm 3.5 cm €8 ¥ Hg € »rarg €7 J, w §F wag form
T8 foq wigu 918 '3 fefor J1 fer fuse <t 98 89t 15.5 cm J1 for fuzds

T I AIT € 43JEH UIT AT |

AT 7 cm @8 8 WaTarg g8 & §ug 8 wigu 9isT Ifemr Ifem I 1 wigg
918 T 20 3 20 fonim ot I Aaer 37 fen 397 9 3A T A3 € 43396 U3T 4 |
9 WeTag B3 € 98 € €9 €89 § »ied €6 de o ffd Mdu Jisdrg uaT
fem 397 garfen fapdm I 3 wigu 918 = fomm we © 8 faad 1 € 9999 J1
ot g9 A T AIT € 43JES U3 A |
Eﬁ?ﬁaa@(capsule)ﬁam

3 wrarg e 3 e © St rfnit 3 i < >5mm
g gy st Sfamr Ifenwr T (S fo3g

13.10) U3 duE® et Garet 4mmT € 4 mm >
W\@_WM?mmUI%ﬁE"‘[H‘:&” Y39 13.10
TTY3JdeS U3T I3 |

Jet 39 €9 98< € wirdrg w J fan 3 fEd Hg gfenm Ifent J1 #ag ssead
391 €t €9t M3 fou gHeTd ¢ 2.1 m M3 4 m I W3 Wy ©f 398t @ ot
2.8m%?m§§§%@iwﬁf{w3@§?ﬁﬁ(canvas)ET@IB’EE'SUBT
9158 I, X500 Y=t m? &t €9 575 fen &g 293 I @8 daen € 3913
3T 939 | (fmrs fe€ fa g & mmarg & daer a7 adt gfan Ater J))
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8. §9t 24 cm W3 foH 1.4 cm @8 89 3R < feg for G5 ordt w3 for fowmm

T fEa Hg Mg ¥ (cavity) o fomT AT J1 9t 99 3H T 33 3 33 <9dT
HIted (cm?) 39 AT T U3ISH UST A |
9. Bt € ¥ SH 9% © 99 fiad '3
ffa wigu st ¥e d dee Jv, fix
A3 geret 9ret 9, fae fa f939 13.11
feg feufeur fapm J1 Ao g5 <t
€9t 10 cm I M3 WTOTT T wdy
fenmm 3.5 cm%?f@ﬁ?ﬂé’ﬁ@'&

A3T ©T 43J8H U3T I3 |

13.3 3FF ¥ HEdsT ©F mfess

fugs grar fg it feg gau7 it I fa € wrarg 93 AT € Hums 57% e SA
T H3T € U39es fan 39T 3T i3 7 I8 | I wiHt Tutar fa fam 39t feast
AT € »fezs U3 o3 Ae I8 | fis e fa A3 T u39es U3t d99s &9
WY S8t wedt (ST T AFT € u3des § Afenm adt H fabfa feat &
fig@e =t yfafonr &9 Az € 439es & 99 391 B3 J famur At ud3
fe3s U3T J9s € AfESt &9 »ifrgr a3t 3991 € »ugg3s onf © Hurs
TS g BH T m1fe3s wiAs fe9 T wedt (SR & »ifezst € 73 © gdgd
Jer 3, fae” fa wiHt Ja fig3 Gerade f&o Surari
@_@mS:WﬁﬁﬁﬁU—a’(Shed)ﬁ_ﬂ’

feq Qe g @<t J1fea B3 fa

UITe Wrerg w J fam € Qug ffa K- L olgennis
WU 2wE gfewm I (89 fd3q \
13.12) 1799 fer A3 © wrurg &t 8m! ‘
YA 7 mx 15 m I& M3 WS Mg :
WE%@_W?Sm%BTﬁU_a'ﬁH v
Hee I & »fe3s U3T 94 | fgz9 13.12

g< 799 f£a He sete fa 773 &g It Hitadt 300 m* FE™s Wadt I

3 W3 & vieg 20 HATEd I8 fagh f&9° I99 0.08 m* € »H3 78 AE™S Uder

2 - AV ~ o =N 22
J 3t 73 9 fdat ger d2aft? (n=78€q
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I% .0 3 ©nied Jer e wmfess (A fon feu oet femadt 7 wiftsdt adt 9) ware
© nfed € 97 W3 MJT ¥ € mied o g7 © mife3st § e o yuz Jear|
ge wIe ot Sardl, 93t w3 @9t gHe g 15 m, T m M3 8 m I |

&% dt iy @8 o forr 7m w3 89t 15 m T
mw,@ﬂ?m=mwm+%ém@m

= 15><7><8+l><§><1><1><15 m’ =1128.75 m?
27 2 2

W, HHtadt @ WigmT famm AE™S = 300 m?
3 20 HAEI ©MaT Wi fami™ AE™S = 20 x 0.08 m’* = 1.6 m’®
fer met, 73 89 0 A g v oifess, e OF &9 wrtsdt w3 vieg I%

= 13128.75 — (300.00 + 1.60) = 827.15 m?
Seaaz 6 : T TH (juice) TTE T& »ye Jrda § 939
13.13 f&9 faure forsmt o1% g fder Ht | €8erarg farg™ =r
wiegat fo™ 5 cm HY, Ud3 fars™ € Ja8 »ud (38) &9
fe&g Gafawr Ifomm wiag e Ht, fan o fars™ <t ude /\
AHIET We J At H I Adg feg farsm &t €9t 10 ecm A, k-0
37 far@™ € W (apparent) TTdE AHIET W3 SHET WA
UTdE AHJET U3T 99 (n=3.14BG1)|
75 : fa@fa fargm e wiegst formm=5ecm I w3 €9t = 10em I,
fer =&t fars™ €t wirg™t argE AHTET = 2k

= 3.14%x25x%x25x% 10 cm? = 196.25 cm’?

.......

yd3 fer & »HS urde AHTET GUdd3 U'dE AHJET &% Mg &9 g
WIy I8 € Wfess € gdrgg ue J1

s 2 2
— ure §IEI I T = 3X314x25x2.5x25em’ =32.71 em

fer =t fars™ ©f WHS g'de AHTET = MTIgTHE Uide HHIE™ — WdUd I8 & mifess
= (196.25 -32.71) cm?

= 163.54 cm?
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Gerggs 7 : 83 31 fude a9 widudis & E A F
g e J fan '3 ffa &g Fadt Hg gfemr
J1 fem ¥y €t €9t 2 cm I M3 mmarg T

o
for™ 4 cm T1 1R fu3e T wifess U3t 99 | ? : ¢
@iﬁ(circumscﬁbes)a%?%mm%fﬂé%@ H P =G
wie3at BT w33 U3T I (n=3.14BF) A5 13.14

N S

I : Ho 86 BPC WdUdsT I W3 ABCWdUd8 & wad '3 ugr g Hg I (28
~ AN N o 1 N
939 13.14) | WIuai® (W3 Hg =7 €1) & way fem™ = 5 x4cm=2cm
NN 2 1
for et fuze v wifess = gnr3+§nr2h

= E x3.14 % (2)* + % x3.14 x (2)* x 2}Cm3=25. 12 cm?

I, He 56 fa fe3 9r¢ 3n ¢ yar-yar €ug &9 Jadt <8 EFGH J | fer &g

YJdt TBE & WIUTT & WJU fen™ = HP = BO =2 cm J W3 Br<t € gret
EH= AO+OP=(2+2)cm=4cm JI

fer met, Bt e wifess = B9 I9dt 98 © wifess - fuse w wifess

(3.14 x 22 x 4 - 25.12) cm®

25.12 cm?

fer 3q7, o mfE3at B wi3d =25.12 cm? J1
YHees 13.2

(7 39 & faar A<, n:%'&@l)

1. € aH €3 »auds '3 y= f€d Hg € »dg = J| 2t € »au o™ 1 em
J 3 Hg €t €9t GAe »igu fowm € ga9rag J1 fer 31 BT wife3s n e uet
IECRVEUCCH

2. &g ferfifenfdar € fefenrast Héga & i u3st waHishnH & Hie € ea3
Jad J¢ B9 3 g Bt faar famur 1 f8d wifdd 98 € wrarg 27 9
fme @& fafont '3 € Ha 02 3T Je | fern vss = fewmd 3 cm I w3 fenet
FETEL 12 cm J1 799 I9d Hg & €9 2cm I9 3T HEIT ©ATIT ITE IR
H3S &9 Hge I B wifezs uzT ad | (feg He &6 fa vss g wiegat mz
gTId] UATIT BIFT 99THd IS )
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3. g gr@EAHe &9 Gre »ifess < sargar S—
30% U3 ot ITHST It J1 45 I& AT feg
BIFdT fdat gTHST J<dft, Add I9F ISHAHE
ffg g8 € wrag = J, fare €6 fAd
WMITIBA I& W3 BAdt gt 5 cm 3
ferm™ 2.8 cm T (29 939 13.15) |

4. 53 IBHES WITe T wiag ot B Bat o5
gfen J fan €9 I8H Jue © BEl 979 Ha
WIF U3 g9 I Is| wWIe @t yrTat
(dimensions) 15cm x 10 cm x 3.5 cm IS 1 IS
Y3 € Wdu for™ 0.5 cm W3 JIfaaret 1.4 cm

J1Y3 IBHETS 89 a3t 2 »ifess u3T 99 Van
(T4 f939 13.16) | I/
B |
f¥3913.16

5. €9 9935 feq €52 Hg € »rarg e J1 fenet €97t 8 om I w3 feme Gudt
g (7 yfenr Ifenr ) = wigy fenm 5 cm J1feg €ug 39 Ut a5 gfgmr
Ifen I1 7 fen w935 &9 fia it I3 gt fagt &9 99 0.5 cm mi3g
fenm e f85 9ieT 3, urdt Adt 9, 37 fer f&9 99 9% uret v fiq 9t gmar
199 foas At I 1 9935 &g urehT ardhwt fifd &t Jretwt & Rftm u3T 99 |

6. €9t 220 cn W3 waTg 2 few™ 24 cm @78 8T @B fAr 3 €9 60 cm W3
WIT fo™ 8 cm =& f8q 99 << dftmm Ifewr g, o® &9 = ¥ ggr
garfem famur J1 fer 98 w7 geHs (39) U3t a9, AT fa fd3TJ 1om? BJ =
TEH'S (379) 8 g J&T J (1=3.14BG) |

7. €3 31 &9, €9 120 cm W3 w3u for™ 60 cm T fEd Hg Wil I =
60 cm 3y fenH T8 fEd »au 918 '3 gfem J1 fer A & uet o8 39 9T
g g Jadt Tee e fer yaa Ao wr fdzraer Jfafeo sses €35 §
AUTH I | 79d €& &7 WJT fem™ 60 cm I W3 €9t 180 cm I 37 g8 fe9
Tt g9 UTet 2 wfE3s u3T 4|

8. f¥q JigTaTg d9 € gd3¢ € ffd 98 € widd €t 9i9es J fardt &gt 8 cm
I3 fo 2 cm I A fa 9iTarg gra1 =F foe 8.5 cm J1 fer f&9 39 77
HAIE T8 Uel gt W3aT vy J, T8 99 & fog uzT 3T fg fer 993w e nnfess
345 cm*J | A9 39 fa OF 99 w7 €739 Adt 9 7 =1, feg Hee ¢ fq Qudas
HUE WEgal HUE ™3 n=3.14 |

-

<]
<]
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13.4 &g 30 v &9 w9 3° gAd wrang féu guisas
forfas gu s, IHT NIt 7ga Tt

JEIt | W 39 3, feg @8 € wWag

ot Jeuit I | IHT Ut © wrarg bt %&
é‘fsfg “ ua . eﬂ_ \ﬂ L= ﬂ . (@'& _— GE.
933 13.17) | fdss13.17

feg fam 3gt gt Atet I&? dag 3HtT fan ferm yarg €t wqEst
8T gide J, 3T 308 ¥ U3 T ¥935 €9 "1 & € 39 I19H JgaT uSar
e 39 §f BT yds gu fT9 T e &7 9v8 A< | feg wirl fen g feq Ja mifrd
H935 7 313 &9 (A9 f€9) ureial fam e »irarg €4t <9 fam wrarg &t 3rt
HHE3T g 9rde J1
Qurgde en : ¥ 3 g8 & wiiag =t
et 36, fom § fiuse w3 fuurgt
Jet ydt "1 § YIdiH © widg T8 feq
A €9 U1 33 998 '3 3T yIdH
T »arg & HHESt yuz J weatt st
HHE3T e wifess 84t Jear 7 ufast Y29 13.18
et e A fedt 9fg w B St we
Fut grdftEt 9, 7wt f¥a 31 & I mirarg © f¥a grg ow few ufgeafsz Je
J€ TYT IF 3 e JEt B° Ue9d ¥ wiag € §93% 3 89 99 mag ©
¥335 f&g ufonr mier 3, fae™ 3t f939 13.18 &9 2ue J1

Suddz 9997 § AHTTET € BEL, MG wiFt I3 Gurgget BEiE |
Gurggs 8 . v3® b @@t ifdt or® €97t 24 cm W3 widu fo™ 6 cm
wrorg et 8 Hy garfen famr J1 fea 99 3 feng 98 € wirarg e ges
f&371 918 & »au for™ u3T I3 |

w:ﬁg?mzéxnx6x6x24cm3
~ SN N . 4 =
Hdd 9& € Way fomm »J 3T Grer wifess gnr3zr|

fagfa g € gu &g w3 918 < gu feu it © wifess gamg T,
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g %xnxﬁ= %xnx6x6xm
gre P=3x3x24=33%x2}
fen =&t r=3%x2=6

fer =, 918 @ wiau fe™ 6 cm J1
Ceggz 9 fisdt € o €1 €3 '3 I%E T wag Tt feg Tt Jifem Tt &
&g ga3t f& gt 25t &g 39 uat § Ty enar uder o gfgnr wier J1 feg
ot f& gt Tt fifq wee @ wirgrg &1 I, fAn € YA 1.57 m x 1.44 m x
950mﬂ?|§3ﬁﬁ?wm600m%m§@_w950m§f|ﬁ_o(_d’ﬂ_c]3°f
9 gt &t ust 5 ydt gt Iet #t, 37 En oy 83 & <ot & Yo g9s ©
gmie gadt fEg gat et feg utet fdat € 9ret 39 afg aear? g3 <t 2t <t
UTdE AHJET €T uddt fE9 get Tt €t utde AHdET &8 3BT JJ (n = 3.14
G
I% : 83 d Tt e ufess = a3t fEg gt Tt 3T 99 9 uret v v s
I, 83 ©F Tt (@%) T W3S = 2k

= 3.14x0.6 0.6 x0.95 m?
gast &9 get 2ot 2 uet o8 ydt 3ot Ie 3 uet v mfess
=IXbxh=157x144x0.95m?}
3 €t 2o § Ul &% YT 395 € e Ut 89 et &t fE9 wrdlt g9 uret
T E3s
=[(1.57 x 1.44 X 0.95) — (3.14 X 0.6 X 0.6 X 0.95)Im>= (1.57 X 0.6 X 0.6 X 0.95 X 2)m’

O &g g9 uet = wifess
[ xXb

157x06x06x095x2m
= 1.57 x 1.44
0.475 m =47.5cm.

fer =gt ugt oo gat 2ot feg gt so Ut et et =

s g3 &l ot Fluge AHdE 314 x0.6x0.6%0.95 1
' ugdt o gt 9t ©t uge mHgEr | 1.57 x1.44%x095 2
fer et €3 €t 24t € utge mHdET ugst feg gat &t €t urge mHaET €t

Wt I
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Seaaz 10: 1 em foum T8t 8 cm St 319 & fEq g3 § €9 ms I3t
T8 18 m &Y f€q 379 © gu &9 fifonr arer (gefenr Aten) J1 379 & Herdt
U3t I | i

ﬁ'&:ﬁ@%&%:nxej x 8 cm® = 2mem’

gJrgd Mfe3s @8 37g € Bl = 18 m = 1800 cm

Hdd 379 & AT dTC (cross-section) €7 WdY fewH I, 3T 319 = wife3s
=7n X r*x 1800 cm?

fer =&t TX12X 1800 = 27
1
P —
< 900
ge L
r= 30 cm

- - 1
mw,wemwwm,wﬁmgcmwommm
(Farsan) T

Gegees 11 : uet o8 ydt 3t et fed wigu dierarg et § o urfey gmmar
3§M®%ﬁﬁ &T% WTS! 3T 7ieT I Hdd 2ot 2T fo™ 3 m I,

yeaﬁ%m}ﬁgmmawéaﬂ?<n=§s€q
J% : MIY SIS At =T wgy femH =
3
fer Bt ot v wifess = ><27—2><(§J m3=99m3
en ust v wirfezs, fam & wst iz A 9
1 99
= —X—m
27 14
99 99000

= —x1000 = —— fgzg
28 28

ﬁgmwﬁmw% 1 Afds &g, forn st %‘;‘)‘)mmm

m

|Nl\)|b.)

98]

e~ 99000 7 sp0 av " o
ae—c'rrz—gxz—snﬁsfe—u’,wm.sﬁwfe—m



A3 €T 43deS M3 mfe3s 277

YHeest 13.3

(e 3d fagr s A, n= %8@)

1.

w3y fenmH 4.2 cm T8 U3 € fed 918 & fwe™ o »igu fend 6 cm 78 €
gBe © QU &9 Tfen wier J1 98 & 9t u3T ad|

FLEEIGE 6cm,8cmW@100mWW€T@U’§@ﬁ3%ﬁW§ﬁN@
o foq 37 3F JieT garfon Aier J1 fer 918 T »idu fe™ u3T 99|

form 7 m =& €4 YT 20 m Fwr Ufen 7ieT § w3 Yee % fsagt Iet firdt
& f8d fAd gu €9 €87 9 22 m x 14 m T&" feq 99397 garfenr famrr J1 fem
9937 € @9t usT g |

3m fenm = i€ yT 14 m €t Fifggret (Fwrel) 39 Ufenr wter J1 fer &9
ﬁwﬁﬁﬁﬁﬁég%@%wﬁ4mﬁﬁﬁaﬁmw(ring)%@%ﬁ,
AHTS gU 3785 ¢& d f8d Yyad T §& garemt Ater J1 fer ¥ €t €7 9ret usT 3d|
12 cm ferm w3 15 cm €79t @8 ¥ &g J9dt @8 € WM9d € §936
WTETHGH 378 YdT gfamT Ifemr J1 fer »ifergty € €79t 12 cm w3 formm
6 cm T Hart &9 sfom arer J, fagt v Gudt firgT wiga Jistarg J<ar 1 €&t
Hot &1 Hftim Uz 93 # fer wirferg &7 39 77 Ade I3 |

5.5cm x 10 cm x 3.5 cm UATHT @787 f8g wee ga8<T & Bt 1.75 cm feanm w3
ZCmWﬂﬁ%?ﬁ@W(mins)émm?

32mm €51 %3 18 cm WUTd © wiay fewmmr @t g @8earg g8dt 93 3%
3dt Iet J | fer gt gt '3 st Sz Ater 9 w3 fen 93 €t fiq Hag mag
Tt geret AtEt I 1 Hag Hg mrard Bdt € §79TEL 24 cm I, 37 few €t € wigw
fewmm w3 f39gt 79t uzT J91

6 cm 93t W3 1.5 cm J1fadt (Fufl) fEa sfgg i€ uret 10 kv & 978 575 2fg
(F®) fagr 3130 fife feu, feg sfag fds y3ges <t ot a9 madflt, wefa
fHoret € Bet 8 cm W et = A9z Iet I

feq fars »mue ¥3 &9 gt 10 m forn T8t w3 2 m Ut fed <@g 2t &
wiegat femm 20 cm @73 &g urfey emrar e fag &% viger J | Hag urfey feg urat
3kmh € 98 &8 98 2f fgor J, 3t s AN gmiE <ot udt 99 Aeatt?




278 Jfe

13.5 Hg €t fésa (Frustum)
397 13.2 &9, wrl Bt ersmt & Sfumr 7 € murg 33
At & fis@e &% ged 951 MG ge fem 55 99
W IIE | vt fEd B9 Jadt Hg Sl i3 fer =r
f&d Ia1 geT TLar | faaT d9a it widdt fedt I |
yd3 fan fedt o wst gat 9 Go feg I fa vt Hag ©
T € AHT3T f8d 3% e fen § de o fEd e 89
Jadt g w&ar 931 At fer '3 wga It famrs fdar
Jear fa uret Ule © et yuar i3 e @ fars™ vy
339 '3 fen wrag € de I8 (2 9339 13.19) |
fafamr 1. g5 it 7t wifrgr It It ueraw (fre” usmfed, a8 wife) 56 w3
f&q Hg g5 | fern & 979 € AUe3T 578 WU € AHI3d d2 | 8 Hd & J7
fe€1 303 9% ot g9vr 9?7 393 95 f¥a 3w g9 I, i & Hy & o
(frustum of a cone) Ifde I |

IHT B9 Ade J fa fore MBar-m&dr way foumT @) & dadrarg g
I | fer et 72wt f€a i3 I€ Ha & €Fe »utg © AHT3J far 3% Tmmar
dee It (29 939 13.20) 3 fer 38 © fEq U 52 Ha § ger fée O, 335
< THJ UH ¥4 Hd € I7d1 & g © fEad (frustum)* Ifde I51

fg3913.19

fg39 13.20

W Hg € fead  u3des w3 »ifess fan ydg usT 99 Ao Ji7
g fer & fea Gergde omaT Aure adTE |
* Frustum' 9 &fes Hee J, fareT wigg 3, Sfon I 2337 3 feAer 99296 d  Frusta
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Seagz 12: ¥ "y € feaa, 7 45cm €
J, & fafawt & wau fem™ 28 cm M3 7 cm
I | ferer wife3s, Td9 AT € 4396 M3

o < o 22
mn@@umwam(n:TB@

J% . fer féaa & © &9 dadt Hant OAB M3
OCD ® ¥33d & gu &9 eftmr 77 Aaer I
(€9 f939 13.21) | Ha & Fhfteg &9 dg
OAB & €5t n, I w3 f3ast €9ret 1 T,
3T OP=/h M3 OA=0B =/ JIHs BC Hg

oCD &t Ahteg &9 €9t n, m3 338t
§gmet 1, J1
W§r1=28cm,r2=7cm,”‘l_;' B od E%@_W(h):45cmﬁ!%ff§%l
% It h = 45+h, (1)
AF 3~ Ufast AT gHEd Hant OAB W3 OCD Bt 839t 1 M3 h, &
fsgurfas ggsr wgdt J1
fagfa f3gm OPB w3 0QD AHay I (fa€7?) fem wet 7é YUz J -
28 4
L . )
h 71 1

(1) M3 (2) 3 7S h,=15M3 h, =60 YU3 Jev J
ge, féaa = nifess
= Hg OAB € W35 - Hg OCD & W35

122 ey 6oy = L.22 7. 3 3
=[3 p (28)” - (60) 3 7 (7) (15)}cm 48510 cm

Hd OAB M3 Hg OCD it f3get G 8ret gHed | w3 [, J&t
TIATE WEHTI Y3 gt Is -

L= \(7)* + (15)* =16.55 cm (SBJTFT)

L= J(28) + (60)° =4/(7)* + (15) =4x16.55 = 66.20 cm
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fer yarg fesd 99 AT T ¥3deB = nr [, - 1r

22 22
= (28)(66.20) — - (7)(16.55) =5461.5 cm?

I, fésd Tt 9% AT € ¥3deS

29d HFT € U3IEB + i + 1y

22 22
5461.5 em? + —(28)” em’ +—=(7)” e’
= 5461.5 cm?+ 2464 cm? + 154 cm?= 8079.5 cm?

He B6 fan dg € feaa &t €9t 1 J,f398t €9t 13 w3 fafowt 2
wag femm™ r M3 7, (r,>r,) 3,37 vt for 2 »ife3s, <ag AgT v u39es M3
IS AT T U3ISS J&f 1Y H3IT € fHUT YWdr J9€ 9T U3T 9d Hae I

el Y o 1
(i) HY € fdad &7 wifegs = STh(r’ + 1+ hr,)
(i) HY € 689 € @99 A7T &7 Y3968 =n(r +1,)
8 1= P+ —1n)* .
(ili) H €F 569 €7 & AT € 43968 =1l (r,+ 1) + W2 + rl,
Y 1= 1+ —rn)
fegt g39t & 337 € AHgU3T E1 argeT T yWar dad fHg 3T 77 Ader
g fegt g3 T Yuar ddd §EIde 12 § IS IdIE |

() fead e mifess

%Tch(rlz+ r22 +r1r2)

- TS [(28)" +(7)? + (28)(D) e’
= 48510 cm?

(i) AGYUS T = 2+ (r-n) =452+ (28-7) cm
= 3,(15)% + (7)> =49.65 cm
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fen wet fésa € <dd AgT T U39eH

22
=(r,+r)l= El (28 +7) (49.65) =5461.5 cm?

(iii) fEsd €7 & AT T U3JEH

= n(r+n)l+ n’ + Ty

22 22
{5461.5 )+ () }cm2= 8079.5 cm?
g fegt g39t € I3 Gurgdet €9 €93 adiE |
Sergaz 13 : yafifed w3 BR<t u3at 3T 9is @
IH T I3 97 9J I6 1 8T8 S 71S € IH & IoH
gd Higr g fgnr 3, fan & Hg € fesa € mrag ©
Yadl €&t & fom™ gHE™@ 30 cm M3 35 cm O f9s913.22
w3 Ayt firdt €997t 14 om T (B9 939 13.22) 1799 1 cm® HIT T TeHs
BAFAT 1.2 ¢ I 31 I A9 ST 39 A7 AdE @B HIT BT EeHTS U3T I3 |
22

(n=—88)

7
75 : fa@fa vigr €9 vy € fésa © mrarg w1 J, fem =, fen &9 39 7 Ade
N o~ T2 2
wnﬂaww&w:Eh(n +r ),

g r 3 »oTg T may fo™ I »3 r, 82 WU T Iy fodH T

2 2
=lxgxl4 33 + 30 + gxﬂ cm’ =11641.7 cm?
3 7 2 2 2 2

feg fezr I fa 1 cm*Hid & Ten's 1.297H J 1 %3 999 A9 e 99 T Ade @3
HI BT 379 €eH™s = (11641.7x1.2) g
=13970.04g = 13.97 kg = 14 kg (Fa1390)
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Segs 14: U3 575 gt fBd y&t a8t Hy © fed feaa

T wag € J, 7 R U3 ¢ g2 €9 4y g mUTg

'3 gt JEt J (29 939 13.23) | fem o<t © BT 9aararg
Wém450m@250mﬁﬁmﬁ§?&w

€79t 40 cm W3 FBeId warg o €79t 6 cm I 1 foH

T8 § gehT Bt yudr o1t o3 € e € U3dEs

y3T 33 Ae g wirt gset € 98 § fen & wiis st

9 9J I71 &8 I, BH uet = wife3s u3T 99+ for
W%ﬁma—o’ﬂa@%un:%s@ f9s3913.23
I . gadt 7 98 €79 = 40 cm I, far &9 »murg <t ©%9ret St wrfvs I
for oet Hg © fésa € €9t (40-6) cm =34 cm T

fer yarg, Hg € fesd €t 398t €9t 1= 02+ (- 1)’

8 r =225 cm, 7, =12.5cm M3 h =34 cm

fer =et = 34 +(22.5-12.5)* cm

= /342 +10% = 35.44 cm

fer &9 Yoot o3 ©f 9750 €7 u3Jes =Hd © fead € Tdd AT €7 U3JEH
+YJd1 »UTT €T 439eH

+ TS ©f T9d AT € U3ISH

[1t % 35.44 (22.5 + 12.5) + 1 x (12.5)?

+ 21 x 12.5 x 6] cm?

% [1240.4 +156.25 + 150] cm?

4860.9 cm?

I, I8! €9 v Ade @8 uet v wife3s, fan & g5t € urde AHgET
& afde Is

X h
=3 ><(r12 + r22 + 1)
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22 34

= XX [(22.5)* +(12.5)* + 22.5 x 12.5] cm?

22 34
= 7 X ? X 94375 = 33615.48 cm?

33.62 fgag (Faran)

YHSRH! 13.4

(ﬂ@*ﬁ&ﬁ?ﬁﬂﬂ%,n:%sﬁ)

. . o /- °o 3 W\
1. uet vt @ ffq fas™ 14 cm §7 9t @® foq P '
o ~ o N EN NP Y] . o
HY € fead € »iad w7 J1 €&t gdardrg fafamt A o

o fo™ 4 cm W3 2 cm 95 | for fars™ €t gge é\\‘o\_do’/:%
HHIET U3T 3 |

QAT
2. fﬁaﬁg%%mﬁﬁaﬁ@%ﬁMmﬁm@fgﬁ@

Fadt fafomt € uformy (lrrcl'f) 18cm M3 6cm IS |

for fesa €t ea9 AT T ¥39ex U3T A9 |

fg3913.24

3. f8q 3gdt AUt Hg © fea fEsd © wrarg € J1 (29 939 13.24) w9 fere
Y8 fAd = wau fem™ 10 cm I, Qudt fid = »igu fem™ 4 cm I W3 Ut <t
faggt €9 15 cm I, 37 fore g8 Bl B9 U9y T ¥3des U3T I |

4. T3 ©t Eg &8 "ot w3 §Ud 3° yfenr feq ¥93s Ha © fEa fésa ©
wrarg =1 J, fardt €9t 16 cm I W3 I8 w3 Qudt fiafout € wiga fommm
FHET 8 cm M3 20 cm I513 20 Yf3 fgeg &t €9 %, fen 9935 & yaT 39
AT T8 €0 € HE U3T I9 1 5% 1, fer 9935 & gege € sEt yuar it

g3 & 9ed T HS T8 Y3 100 cm? T ©I 3B USTII | (1=3.14 BF)

5. 20cm @_U_tITE!of w3 fAyg 3= (vertical angle) 60° T8 foq ﬁ_g( ?i)' @_TIEOI @_U_tlTEﬂ )
f€9dd 3" I d e Ba 38 7% € 9791 e dfemr famr J, e fa 3z Ha &

WOTd € AHI39 J1 7dd fer yuzs 1y € féaa & fenm %cm@'@'fgﬁ?ﬁ@'

Ju &9 geg fé3r Ater g 3t 379 & gret uzT 94 |
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Jfes

YHeRE 13.5 (fe'gr-wamma )*

3mm foA T8 3T T RIIT S 12em B W3 10ecm fenm T3 B 2o '3
fer Yarg Bufenr AT I fd §I S8 € T I S Yt 33T B S &7 J 13T &t
Tt W3 TeH'S (I9) U3T 94, feg Hee I8 fa 3t w3 8.88 ¢ Y3 cm*J |
f&d AHdE f3gn fam it gaet 3 em M3 4 cm I (93 3 fegre), § GRE
IIE € MEHAT WHTTen TreT J1 fer 397 YUz €99 Hd (double cone) E MTE3S
W3 AIT T USISS U A | (n TTHS A 3T B B L) |
feq &t ftAe »fEgal HU 150 cm x 120 cm x 110 cm TS, €9 129600 cm? Tt
J 1 fer uret &9 I3 2o @&t e @ I urdhw AieT I A 3o fa 2ot

w v N ~ v SN 1 “ N ENELN
ydt @ug 39 99 & A< | Idd fie miue wifezs er Ew&“rmfﬁmﬂaﬁ
I99 f¥e T WY 22,5 cm x 7.5 cmx 6.5 cm I, 3T & ﬁﬂg"@sﬁ?ﬂw foe
UTEHT HT HaeT 95, 3T 9 81 3T Ut g1gd & owmre?
far Hdta & 15 fest feg, foq ot & widt f€9 10 cm <9yr 3¢t | Aag for wret
T Y3JeS 7280 km? J, 3T €IAE T3 9% eIy Batgar {35 SEHT & WTH Ut
T 73 © 9999 Hl, AT fq 99 & 1072 km Hdl, 75 m I3 3 3 m Suft J1

18 cm
Jo &t gt It f¥a 35 <t Ut 10 cm B9 fia
<ue fdu €9 "y © fésd & 735 575 gt J| ’
~ Y] o EN ~ cm
Aag foer €t I8 €39 22 em I, §BaIT 10
a Y] ~ ~ cm

a1 T fe™ 8 cm I W3 Ut © Gudt fAg =
fenti 18 cm I, 3T fore gehe fifg St s 8 om
<t 9Ted €T U3deS U3TJ4 (2d 939 13.25) |1 29 13.25

Ha € fEd fEad © s¢t, ufost AuRe o3 Ho3t & Yudr 9d¢ JF, @9d 38
T 43JSH W3 I8 AF T U39eS © BT B3I § fHu ad, v Imar 13.5 [ee a3
IE T3 |

Ha € fEd fEad © set ufos Aure i3 Hast & yuwdr dde I8, mifess &
83 7339 fiu 93, = gra1 13.5 feg &7 famrr I

* feg ymsest Wit €t famdt 3 ot fia3t aret 91
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13.6 ATS-MH

fer wiftmfe f&g, 3HT Jot fgg gafsmt e wiftors o137 I -
1. Mg g3 AT WITE, TBE, Hg M3 918 M3 U 918 &9 fan € SAf & Hums

(@ oG 575) 575 g oA € HIT €7 u3Jes fagufa3 ddaT|

2. SHT WITR, TBT, HY, T8 M3 gy 918 &9 fan © At € Hurs &% g
A T »fE3E U3T JISTI

3. A< fan Ha & BAE murg € AHT3T fan 38 enmaT de o fEd ge Hg Jer fae
It 3t ¥ W ¥9eT J, B9 Hg v € fEaq ag@er J|

4. Hg € fEaq o8 HEU3 39 Jof fod 6 -

0~ e 1
6) @EM?W:;%’I(GZH% rlrz)

(i) Hg © féaa €t eag AT € ¥439ES = nl(r, + r) ¥ 1= (1 + (5 - 1)

(i) Hg © fEad T 9 & AIT € UITEH = n(r, + 1)) + n(r2 + 1)
Sudas H3d' €9, 1 =fEsa &t fidt @9t 3, 1=fEsa & f3g&t
STt w3, M3 r, fEaa © S Jadt fafgmt € wigy fenm T3



There are lies,damned lies and statistics
(€8 55, HST 35 W3 WasT fefams J)

— Disraeli

14.1 gfiar

<3 Arget &g S5 iy ga J1 3AT fegst »iafantt § f939f emmar fae fa
&3 fg39, wifes fd339 [fAm f&9 m-Ans (MSTr-wB an) 93¢t @8 T W3T™s
& Wi 7| M3 97997937 gggd mife gut &9 9395 daa <t fHftm /Y I He
?%%ﬁﬁ”@ﬁ?”@ﬁ?@mm(numerical
representatives) U3T dd J f8a geH I3 widl <u 91e H| fegst AfemaHar
I{Bﬂﬁ'ﬂﬂ"rﬁé @T:’U?q%’ﬁg? g Y (measures of central tendency)ﬂ'ﬁ%ﬂ?‘il”l’ﬂﬂ;
feg fag 3 WUt g€ vous (mean),)-ﬁ%ﬂ"(median) w3 I8 (mode) €7
wifs 3T A | fem wiftmife fe™g wirt fegst f3st vyt 3 Wavms, Wiaar w3
II&d &7 Wiftis wiedaiifas wiafami 3° egafifas wiafamt et »igr eureiar|
WA HY<l g7997d3T (cumulative frequency) W3 HISl gdgTd3T HTIS oot
graGTet df gagT < agtdl w3 feg <t fHyar fa Hg<t 97d97d3T € (cumulative
frequency curves),ﬁ B’HHE(ogives)Wrtl?'@ﬁ%, éﬁﬂB@TWW%I
14.2 =39ifg3 wiafamt = Haurs

fae” fa wirt ufgst It wree If fa fie3 98 Yuet & Honms (AF »iA3) ATd Yuat
THS T 13§ Yyt € IS forest o8 3791 J9d Y3 3T AteT I I A3 3t
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3 WE IJ AT YHS x,, x,,. . ., x T GEGI R gHET [, f, ..., f, I 3T fen
T w3 J T YueE x, £, TS 8T I, YT x,, £, €9 WEET I, »ifel
IS, Hd YU & U T HS =fox, +fx, +. .. +fx I W3 Yot =F Afemrr
f1+f2+...+fn_§rl
fen B, fegst T HoHs I8 fod wigrg Yz J<ar -
Jtl'xl +f2'x2 + +fn'xn
L+ fh+ +F,

we 949 fa Qudas & Auy gu feu f€d garat »iug = [E37 g (capital
sigma)] & YITETGE Tt| for Wiug T Wdg I HIBT (summation) I

X =

n

W

i=1

X =

n

> f,

i=1

o w o~ ] E X % EN NS
mgwmym,f:L@ﬁWﬂTwa, feg AHsE JT

i?t‘f&yl—s’*ns"’awfrll
Wi g fer 739 T &' fodnt Gergaet 89 HaH's YUz 99 SET Yuar Jdie |
Gurggz 1 : fan Ag® & AH3 X € 30 fefonmadnt gwrgr ifes € fEa tug
&9 100 &9 yuz o3 9 i, Jat faudt mraet &g €3 ae 51 fegst
fefeommaet enmar YUz i3 »iat & HoWs u3T a9 |

YUz wid (x) 10 (2036 40|50 |56 |60 |70 | 72|80 | 88 |92 (95
fefonraedt S dfter (f)[ 1 | 1| 34|33 [2]4 |4 | 1|1 [2]3]1

I5: Te 99 a9 HOH'S U3T 396 B! A 999« 7% GHE! Ha3 9799d3T f
THTT JIE6E8 B Agd3 J, »E fegst Jesest § Aaet 14.1 &9 feue
WEATd f8d AT (column) €T THTE |
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AISt 14.1

Sfx 1779

g f=£=—=59.3
£ 30

fen wEt YUz 3T famm Hanrs 59.3 J1

A3 daeT Hies dt fammersg rfadht &g, »iax s €3 de Js fa
@wwﬁamw@mmw@wggwmaa EEEIUIEE]
S9a) wer 3T AT I for st wé i3 98 wiegdfifgs wiafamt § eddfifas
widfamt &g gu8e €t Aga3 It I fegst niafat 3 Hors y3T 39s = fedt
dt 7iga3 et J1

Wg Berade 1 & weddifgs wiafsw dt 93, He 86 15 & Tdar
Wwaﬁaﬁmw&vmlwwﬁmmé
WWWW@WWW&HW@EWW( HE) waTS
TJd W39 &9 BT A Is| Bergde € 39 3, w401{m|3'aa'5w4
fefemmagnt & Taar WiZaTs 25-40 fE9 &7 & d WIS 40-55 f&9 fonm Aier J|
fen uduar & fimnrs &g e I8 wig fogst & fia Tadfifgs sdarasT mraet
FIEIE | (SY ISt 14.2) |
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A3t 14.2

TI9T M3TH 10-25 [ 25-40( 40-55 [ 55-70 [ 70-85| 85-100

fefenrgehn <t Bt | 2 3 7 6 6 6

I, I 2991 3975 Bet wré f€a wifad fdg (s) €t 7993 9, 7 ud
Wizas v YIfeu 991 feg W fomr Ater I fg gda Tgar »i397s <t grdaraz
€n © Wu fig © 979"y JI'efgz It J1 fem SEt 999 =9qr © Ha fg (mid-
point) [HT Eddr ﬁ'c{g‘ (class mark) ] é On Taq1 feg W< @8 A9 f{bIEr 7
I{BCH%C[(representative)ﬁ'ﬁ’?’?ﬁﬂ'rW%IWG@%W@HMM‘B’W?
i e (21 Riz) O 1 QuaEt w3 Jouft i e wing de ¥ Uz a9 77|
gie

. Suast =gar HivT + It =ger HivT
=391 fig = 5

N o o ~ 0 10+25
Hdt 14.2 € HEyY &9 2991 10-25 =7 2ga1 fdg 5

3q" wHt 9 <991 i3I © 2991 i U3 99 Ao If | fegst egar figh &
Agel 14.3 &9 Jue of feg 2391 fdg x, & IH Ja€ I& 1 mH Ju &g <aar
¥39E € T3 g x € Haz gdgasT 1 fauft Aiet J1 g Gegoe 1 &t
3J, HoH™s e o Yfafont €5 it Sae If)

. ge 17591 fer

"It 14.3
=991 i3T® | fefomaeint <t iftmrr (f)| <991 fog (x,) fx,
10-25 2 17.5 35.0
25 - 40 3 32.5 97.5
40 - 55 7 475 332.5
55-70 6 62.5 375.0
70 - 85 6 77.5 465.0
85— 100 6 92.5 555.0
GE] Tf=30 X fx, = 1860.0




290 difes
I8 A3F (column) &9 f&3 Hat T w3 37 7é =fx yuz Jer J1 fen

Bt fE3 I8 widfan & Hods X, 3 89 wigag Jer J
= _ Iy 18600 _
3, 30

H@Wﬁﬂiﬁﬁﬁﬁﬁéqﬁ&ﬁﬁ(directmethod)f%(?.lTT-l"'ET%I

wH Sue I fq Aget 14.1 W3 14.3 &9 AHs wiafawt & ygar Ji3
famr I w3 fegst &9 Howrs Jee @m3 ffa It g39 e Yyt i3t fapr J1
yd3 fegst gat 89 A ufga (Hawms) widar-madar yuz Jfemr J1 ot 3t
feg Ao Aae I fa wifaar {98 Ifemm w3 for &9 faazm vawrs fimvmer At 37
Tat Wt € w39 T Ide Adet 14.3 &9 Ha I8 Wu fig asus St ey o8 J1
59.3 Adt Hows J we” fa 62 f€a 338 Hors J1

JE-IE x M3 f € HS 3 I I8, 3T x W3 f € TTEeS dea’ HATAS J
Aer I w3 for &g mit & 93 Jar vier I for et feg fadht mfagr 2
TEl, MG HoH's dee B! Ags fedt g9 Adie |

WA f € &% JEl I3 &dt 99 HaE Y3 wHT, 99 x § fEd st Hivm
&9 9v% "ae TF, AR &% 9iesT gaat mdt I Aet I1 wirt feg fam 3g7
J9tar? I9d «, &9 fea fonfaz wftmr we@e g9 3937 off fegrg 97 »E
feg fedt »ius@e = w3s adie|

fen &g ufgst ugr feg I AeeT I fa yuz i3 a8 Ad « fee fam x &
mm(assumedmean)@@%ﬁ%w%@ﬁfﬁé‘a’Wq—d’I?f
e | 578 It »iuet FreeT § 99 HuT 99 B mHT @’ & mifar 1 B A O
" x,x,...x € HY &9 fag mer 39 1 wHT =475 AT a = 62.5 9 A TF
MG a=47.5TBER|

WIS YTl J fd o M3 I3d x, € fegdd W39 ¢ Uz 37 7e, 912 I x,
Ul ﬁ'm(deviation) U3T 3T AR
ge d=x-a

= x —475

3 uar €9 999 ¢ W3 BFE A3 £ T JIS6es YU3 J9d AJ fd € A3
Y3 3T A | fog gresT Araet 14.4 &9 yareret aret I




mazr fefaprs 291

ATIST 14.4
<991 vizes  |fefonradnt & | =31 ¥ d=x-415 14,
At (f) (x,)
10-25 2 17.5 -30 -60
25 - 40 3 32.5 -15 —45
40 - 55 7 47.5 0 0
55-70 6 62.5 15 90
70 - 85 6 71.5 30 180
85 - 100 6 92.5 45 270
GE] 3f =30 3fd =435
. L _ Ifd,
for et Arget 144 3, fegsst @ HoHs = >

Wig g 4 W3 x feu Agy rgfus 99 &7 36 1T |

faBfa d yu3 996 et 999 x 89" o & werfenT famr 3, fer wet Hons
Y3 936 B wHT ¢ €9 av3e TF| fer § Iifef3a gu f€e Is T8 nigra
AUHE 3T 7T AT J

fegsat € HoHs d= 5
fierr w5 g - iz
2f;
_ X Ha
DY/
_ 3
= —ad—
2f;
=X-a
fer =t X=a+d
g f:a+%}flll

< A3t 14.4 fE9 a, 5fd 3 3f € HS 995 '3 A Y3 Jer J1
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X =475 +%=47.5 +14.5=62

for B, fefanmragmt emmar YUz o3 9re wigh T HoH's 62 J1
HoHs dee ot Budas feul asufsa Wans feut (assumed mean method)
Qe I
fafanr 1 : Aget 14.3 €9, TIF x (17.5,32.5, »fe) & ‘@’ H&E I HOHTS U3T I3 |
IAT &t 2ue I | IHT 99T 99q Al fi&g Howrs fed fagr g 62 wi@er I
(for€°?)

fer oet, wrt feg afg Aae It fa YUz o3 918 HoWs €7 Hs 92 I8 @’
e W& §ug fsgga ot ager J|

s o8 29 fa Aact 144 € A39 &9 €3 i W& 15 € J1ed
(multiples) I | fer €, #ag »HT ASF (Column) 4 € AT HST & 15 &7 ITdT
3q f&37 A 3T A f &% T I8 M skt Hitmet Yz J Aregivt
[f€8 15, IIT TTIT M3I™H &7 @ddT WY (AetH) J1]
fer Bet, W& He B fa u, =

I it Ad o & 91eaT F9e I w3 ufast & 39T yfafan Ardt gue of
(FT fu, U3TIIE T3 fed Tfu YU3 9 I11) M@ h=15 & I AGST 14.5
g |

X; —a

J, Y ¢ I8Ufsd HO O W3 h SddHY J1

A3t 14.5
o xi - a
SIIT U3IT™H fl x, di =x,-a u = h fiui
10-25 2 17.5 -30 -2 4
25-40 3 32.5 -15 -1 -3
40 - 55 7 475 0 0 0
55-70 6 62.5 15 1 6
70 - 85 6 77.5 30 2 12
85 - 100 6 925 45 3 18
CE 3f =30 Sfu =29
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o — Z : 2
He & U = it JI
X,
feg &t it ¢ w3 x f&9a7g Hdg 3T 99idr |
0 BN Xl—a
S U3TJ U=~
(x;, —a)
2‘17
fon =t i = (" _ 1|2 —ad
>f h 3,
ey 3
T h| 3, 3,
1.
= —|X —a
h[
H hu = x—a
Eic X=a+ hu
2fu,
¥ _ a+h| =2+
fer =t X = [Zﬂj

IE AT 14.5 3 a, h, Ifu M3 3f T HS FI& '3 7S YU3 Jer

X = 47.5+15% 29
30

=475+145=62
for et fefommagt enmar YUz 3T fapdt HoHts wig 62 J1
HoH's dee df Budaz fedt uar feese fett (step deviation method) STEET T
fors 9 f
o UTT fEuse feut @2 It Afeumsa J<9ft A2 A ¢ €9 et AfsT
JT5dz I |
o 3t fedtt Twmar Yz Hows fea ot Jer J1
o IBUfSa HoHs fedt w3 uar fegse fedt, Y3y fedt © ot Aas qu
T |



294 Jifezs
e H3d X =a+ hu T G2 & YyWar 37 7 AT I 7Y o M3 h QUIT3
fe3t et Hftmret &t 39t &7 dg, ud3 freg (F9) 3 fegwer
mfrdt ew3fed Hitmr 32 37 fa u = x’;aﬁ%
g fem fedt v ywar f€q Ja Gergde &g ddte |
Qerggz 2 : J&T fE3t It AaSt &9 9793 © WEBaT-2 IH W3 I edt FHS
IE\T-I"T (union tenitories)@ﬁgW%Wmm%m
wiftryaret € Yy <3 & wanEt I fem grar feT o 133 fedmt 57
fenzat miftmmyaret & Houts Y3H3 usT 491
fersdt miftmruaret (15 - 25| 25-35(35-45|45-55]55-65(65-75|75-85
CRVE{1:E
IH/IEN HHS | 6 11 7 4 4 2 1
yent =t Hftpr
(AI3: W& HELELmrg & enirgr alt3T famur Haet wifus g9t Ags fiftmr Aae)
T5 : G Tdd ST W398 T 1 U3 Jate »3 fegst & feq ASg (d™8H)
fég Jute (T4 Aast 14.6) |

A9t 14.6
femsdt mfmmuaret I/ edt AHs yeut X,
= yFhs <t wfto (f)
15-25 6 20
25-35 11 30
35 - 45 7 40
45-55 4 50
55-65 4 60
65 - 75 2 70
75 - 85 1 80
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N . NN ~ =50 <~
87 Wt a =50, h =10, 8T T7 3€ di=xi—507rl3'ui=x’10 Jear|

IE WHT d M3 u U3T J9€ IF w3 fer & At 14.7 &9 JuE i

AISt 14.7

Qudas AISt 3, A Bf =35, fx, = 1390, Tfd = — 360, Tfu, = 36 Y3 g7 J|

Yy fedt v yGar @@s '3, 7= 25 21390 599
3, 35
Teufsd Honms fedt & yuer 995 '3,
- Xfid; (=360)
= +_ — =
= ar 50 + 39.71

yar feose fedt v yuiar 995 '3

Foa+| HM =50+ 220 )%10=3971
3f 35

fer set, Uz ¥39t € yfendt ngst &9 fenzdt siftrmuaret &7 Howrs
Y3 39.71 J1



296 afes
feust : wrdbwt 38 fedhut 3 yruz ufgent fEa s g5 1 fem et Howrs uzT
I35 et fedt g fer 97 '3 foggg qger I fax w3 2 He ot 951 Had «x,
W3 f ©HS B I6 3T Y3y feut Tuhr Jeaft | 7ad x M3 £ & HS Aftmang
U €9 99 €3 I8 3T wirl” Trssufesa Honts fedt 7t uar f[fese fedt & yuar 99
AE I | /dd TI9T HY WAHTS I& M3 x, € HS ARMIEHY U €9 I3 5 I8
3t At AT ¢ T fEd 7S Iesys 1 B 9, UdT feese fedt v yuer 99 Ade
Bl

Qurgas 3. It fadt 3¢t €3 ¥a 977 fgae Ha' f&g, dregm emdr B8 98
feget &t wftmr & Tam@et I mat (Bf93) fedt gee I¢ =T e feget
HoWs 3T 937 feg Wonrs ot gfes ager 97

feget <t 20-60 | 60-100| 100 - 150 150 - 250 250 - 350 | 350 - 450
At

Iregw ot 7 5 16 12 2 3
At

I% : o8 TTIHY MBIT-MSB T & M3 x Af3HT U €9 €3 I8 1 MG a =

200M3 h =203 o udT ffgse fedt e yuar adie | mrt Arget 14.8 &g warme
WEHTI WdI Y3 Jde It

ISt 14.8
ST | Srewwi | x| d=x-200 ui:j(i) uf,
feaer €t At

Hitpyr ()

20 - 60 7 40 ~160 -8 -56
60 - 100 5 80 ~120 -6 -30
100 - 150 16 125 -75 -3.75 -60
150 - 250 12 200 0 0 0
250 - 350 2 300 100 5 10
350 - 450 3 400 200 10 30

A3 45 -106
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_ 106 - 06 -
fon =gt u = 5 fgnse%x_200+20( sj 200 —47.11 = 152.89 J |

feg g erer I g Qudas 45 dregmt & f€q Iur fgae wot &9
152.89 € MA3 &% feae BT TS|

g Tfie 3 fer graT o9 ughit argeret & 3rt far 39 yuar 99 Fae JI
fafomr 2 .
et A3 © fefenmagt & 35 Aot 189 €3 o 999 AHT § Jof fafmt
&9~ € fafonm a9 et a9 -

1. vye Ags &9 o8 &9 I (ge) =Et aret ifunr &9, must 3 ©
Afgmt fefenraet enmar aifes 89 Yus iat § fdsr 991 fem 3gt
Y3 vidfant e i egailfg3 799793 €3 gl 95 |

2. viye 7 189 30 fest B faards ois3T fam Sarer w7 <0 3 20 3UHTS fedsr
39| fegst riafant & fiq 9dfifg3s adaa3T <5 Adet © gu &9 Um |

3. WUt AHT3 & Ad fefemmadahmt € @9t (cm &9) Wi w3 Goat <t
TI9Nfg3 g7 dgd3T €3 Haat gag |
e Ad AHY fed s i3 widfamt 3 Tgdfifgs €5 Argeht g7 86 3 Idd

AHd & »UST §799T93T €3 Hde! T HUH™S dee 8¢ ad | fer e Gow 9de
fedt &7 yuiar 99 Fae IS |

yraest 14.1
1. fefonmraeghnt € f€d AHT TMdT MU T37Eds 938" mfants & widls fEd
FIeHE o137 famm fam &9 €9t 3 fEa WIS € 20 wat &9 o Ufemt
&% Hefgz Jat fou »iaz feds 31 yfs wa vaws (win3) dfent <t
Hit u3T I3 |

Ufemt St vt [ 0-2 | 2-4 |4-6 | 6-8 | 8-10]|10-12[12-14
wat ot Hgwr 1 2 1 5 6 2 3
HOH'S U3T 99 SEt 3HT fagst fedt e yuiar i3 w3 fag?
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2. fan Saedt € 50 HAEdt € IumeT Hagd! € Jof fouft €3 Araet €73 fegg ad |
FsT HAE (ufemt f&8) (100 - 120(120 - 140{ 140 - 160|160 - 180 | 180 - 200
Hagat < Hftwr 12 14 8 6 10
fea mat (8fe3) fedt & ywar g€ J%, fen ededt € Hagdt & Hans
IS HAEdT U3T I3 |

3. J5 fest €3 Araet f€a HI 8 € dfontt 87 3uTeT 7Y ¥y § E9NgEl J IHOH™S
79 Y99t X 18 J| wifapyT3 I1dgTd3T £ U3T da:
IAST HY yIET 11-13|13-15[15-17 | 17-19[ 19-21| 21-23|23-25

(Fue f9)

Hfemt <t Aftpr 7 6 9 13 f 5 4

4. fan gruzTs &g, f¥q 3dcg enmar 30 fersdvt €t 79 i3t aret w3 Bast
Tt fo & uzdE (heart beat) Y31 fife 32 a9d It Tang et €3 Araet feg Huu
Ju 5 fardft aret | fea mdt (8f93) fedt & €93 Ja9d feast fersdv € fes
Tt azae =t Y3t fife Hours At uzT 94
fes Stugas &t | 65-68 |68-71| 71-74 | 74-77| 77-80 | 80-83| 83 - 86
Yyt fite vt
fersdtnt <t Aftour | 2 4 3 8 7 4 2

5. fan g9 &9, 8% feqzT, Ut {39 94 wig <9 99 As | fegst Ut feg »igt
AT WBIT-m& a1 H 1 Ut &t Afe wigHTa, »igh €t €3 I fd wigratg Ht:
wigt <t Ao 50-52 | 53-55 | 56-58 | 59-61 | 62-64
Ut &t it 15 110 135 115 25
feaq Ut f&g It »igt € ot \ftr u3T 93| 3IHT HoW's dee set faast
fedt = ygiar 3T 97

6. J&t fo 3t Araet fam HIS € 25 Ufgerat € 31a §Ud I8 IneT ¥ad & Earg et J:
IS UIY 100-150 | 150-200 | 200-250 | 250-300 | 300-350
(Jue f&v)

ufgergt <t wfumr 4 5 12 2 2
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f&a €fgz feut v Yuiar 99d 37 €7ug 9T ¥dw & HaH'™s U3 d |
7. I [E9 A8ET SEMTIHTENS (S0,) € HT3TT (concentration) (371 Y3t fHfens
f€9) 3T 995 et f€a fewra & 30 vdfent fi&a™ »iaz fedd o3 9 st &
J& &3 wigATg Taditfas izt famm:

SO, & Hr3ar GEICLICEY

0.00 - 0.04
0.04 - 0.08
0.08 - 0.12
0.12-0.16
0.16 - 0.20
0.20 - 0.24

(NS S

g &9 S0, € HT3TT T HOH™S U3T 34 |

8. far w3 & »iftruar & yd A® B9 MUt AHT3 T 40 fefenraghit &t
Jrgadt & I5 & wighrg fgargs izl foa fefemrast fifs fos Jigofag
fgar 1 = vuHs U3T 94:

fest <t 0-6 | 6-10|10-14|14-20|20-28|28-38|38-40

At

fefemraatmi| 11 10 7 4 4 3 1

o Afenr

9. J&t fe3t Arast 35 wfgat &t AygzT w9 (Y3 f&9) TamG<t 91 Hons
ATHI3T ©d U3T J4:

AYI3T eI % f9) | 45-55 |55-65 |65-75 |75-85 |85-95
wafgar <t Aftour 3 10 11 8 3

14.3 =39iifgs viafaw e g5

3 3 feT AT ufgmr /it {3 995 d (mode) fE3 98 Yuer ffg Qo g I 7
A8 3 U @9 wieer J 3¢ OF YuE € HS fan €t darg3T g 32U I 1 fen
T &% IHT egaifg3 vidfaw' T 998d § U3 9% T 9997 &1 31 A3 feg
3t H | S8 wirt e@daftfgs wiafamT 27 9g8d 3T 996 < feut <t 9d9T Iaar |




300 Jfes
feg fog Aae I fa ffq 37 <u vat €t 3 fadt <o 3 <u gdgazr 321 feg
frdt mfast f&9 wlafant & §T-998 (multi-modal ) Wia3 faar ater 31 8 feg
& g At J fa <gaitfgs waz & gg-gg8a I Aae I8 Y3 mHt »ut
T9oT § s fod It ggsd T8t Arfimet 39 I HifHz Jutar

wi§ ufgst g Gerade €t AgfesT o8 fog we adte fa wiegdfifas
nigafant a7 ggaa mHt far 397 YUz oi3T H
Qurgas 4 : fan Iregw @mdT 10 fgae Het &g &2 ae feger €t Afunr I

feg wigATg I
2 6 4 5 0 2 1 3 2 3
fegat wiafsmt = 998 3T I9|

I% - W Budaz wiafawt & et foq g7dgdsT €3 ATdel geele fae J&t
TaATemT famr J:

feaat <t Aftpnr 0 1 2 3 4 | 5 |6

faare Hat <t At 1 1 3 2 1 1 |1
AURe J fa gregm & mifaasw Hat (3) €9 2 feget st g | fom st
fegat wiafsmt e gg8d 2 J1
fEq T39lfgz gdud3 €3 Adel €9, I7d993T § T o §UBd U3T IS
HIe adt I1 8 wiHt €9 <Jdr1 (class) U3T Id HIe JIF fAn €t grdgra3r
wifaa3an J1 fen T991 & 998 TIAT (modal class) faaT 7er J1 ggsd fon
HgSd <391 © med 98t s J1 far & I8 fou §39 evmar yus o3 Afer O
I8 = l{ﬂ}(h
2fl_fo_f2
fig 1= 9g8d <Jar < J&=t Hivr
h= SIITBIS T HY (foT Ve I T Aid ©gaT miZass & MU Eared J )

f,= 9J8%d €Jd1 € grgura3T

f,= 998d 2391 3 3Id Ufa® <dd1 =f gd9d3T »3

f,= 9U5d €J41 ¥ 3 gmE WidT T8 <dqr €t gd9a3T J|
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fer 739 €1 293" 3et miE €9 Gergge BEe|

Guraae 5. fefenrgent € €9 AHT EvmaT fed 1S & 20 ufgear G ug 13

I8 HIYE & 33 @ MBIT-W&dT ufgeTdr & Hgar <t Ay o8 HEfus 9

fod wigH wiaz YUz 98 -

ufgeg vy 1-3 3-5 5-7 7-9 9-11

yfgergr <t 7 8 2 2 1
At
fegat wiafsmt = 998 U3T I9|
T . 758 wifud3aH 2991 97997937 8 I W3 feH g799Td3T & HII3 @9dr 3-5 J1

for =t gogd @991 3-5 J|
dJd<,
TSI TIdT =3 - 5, IS <JdT & IS HHT (1) =3 W3 TIITHY (h) =2 T |
HIS8F 21 € I1d9a3T (f) = 8
HUSd 2991 3 319 Ufg® 231 &f g9993T () =7 M3
HUBd €991 3~ BId ¥™ME JT €t §199d3T (f) =2 T

I8 = l+(7fl_f0 jxh
- 2fl_f0_f2

= 3+[%)x2:3+%:3.286
for mt, Budas wiafan =7 998 3.286 J|

Serags 6 : gifez Tt fEq ifumr 139 30 fefenragt ewmar yuz i3 91 wiat
dt <3 Bergde 1 < Aaet 14.3 feg ot aret 9| fegat wiafsni e 9gsa usT ad|
for € & It 9u8d W3 HoH'S dt 38a ad w3 fer =t fenrfi ad1



302 difes
J% . Gurgde 1 € AgSl 14.3 § €Y | fafa wifgasw fefenradnt €t it
(7) T 8T wi3TS 40-55 T ferm Bet ggBd =TT 40-55 J1 fem et

I8 <JdT & I&& HHT (1) =40 3,

TIIHY (h) = 15T,

ggBd TJ91 €t 99G3T () =7 F,
g9Bd T991 3 3i Ufgst o8 <9ar1 &t §19993T (f) =39,
W3 §98d TI91 3 3 gME T8 TJd1 & 9993 () =6 J |

I, H39 T YW 99& 3, A1 Y3 JeT J

I8 = l+(7fl_f° th
- 2fl_f0_f2

7-3
= 40+ x15 =
[14—6—3} >

for =t gggd »ia 52 J1
ge, Qergae 1 37wt Aee I fa HoHts »id 62 J1

fen wet miftasy fefenraehrt & wig 52 I w3 Az © QU &9 I9d
fefonmaet & 62 vig Yyu3 o1z 5|
feust:
1. §Tg9E 6 ST 9gsd, Hous 3 ge7 J U3 fan Jg yrst & feg vows &
¥J™Hd AT @37 & J AHIeT J|
2. feg Afgst €t Har 3 fsag9 ager J fa wrst gt fefenmagnt emmar yuz
&3 e wins wiat feg I At feg mfuazy fefemragut emmar yuz 3 98
WAz wiat &g J1 ufost rfgzt ffe, Wowrs &t wgaz Jesft, Y3 Tndt nfast
&9 9g&d € 7gd3 et
fafan 3 : fafomr 2 €9 g2 I€ AHTT W3 Gt TwiaT 13 91 oM 3 feug
SciegT Adt YU | I AHT § widfamt BT 9g8d dee sel 94 | §gat § fer &t
3BT HUH'G 318% & BEt 2 Id W3 €& & wigar dt famfin™ 995 @m3 < 3J1
feust : WiAHTs T9a1 @3 T9aftfas viafamt T ggsa < dfemT 7 Faer J1Y3
feg »iHt" fer <t 9997 ot agrdn|




wazT fefarrs

(%)
-
(98]

YHaeHt 14.2
1. J& f&3t Arat fan oruzs f&g f¥q fenm A f&g 993t 98 dathmt <t BHa

EChUSEilar
e (st f<9) 5-15 | 15-25] 25-35| 35-45 | 45-55 | 55-65
Jatbut < Aftpur 6 11 21 23 14 5

Sudaz widfawt BT ggsa W3 HoHs U3 99| €&t I edt Yfedst & it &t
IS Id W3 Baat &t fanrfim I3
2. I& fE3 wigz, 225 faaet Quagst € Hies a5 (Wfent &) €t gosr fée Is:

Hiesas (Wfemt f&9)| 0-20

20 -40

40 - 60

60 - 80

80 - 100( 100 - 120

)

grggrd3T

10

35

52

61

38

29

Buads T 9UBd Hieasd s u3T I3 |
3. I5 &3 viaz fan filz € 200 ufgerst € 9% Hdleed WIG ya9 & €3 §

eImge I fegst ufgerdl v gg8d Hdleed ¥ydd U3 991 fvH € %
HOH™S HdteTeTd ¥ddg < u3T 99|

yav (X f<9) yfgerat =t Afmr
1000 - 1500 24
1500 - 2000 40
2000 - 2500 33
2500 - 3000 28
3000 - 3500 30
3500 - 4000 22
4000 - 4500 16
4500 - 5000 7

4. I35 f&3t €3 Araet 993 © Ad 3 AgST &9, It wigHd miftmmug-fefemradt

waUT3 & TIATEE! I | fegst »idafamt T 5g8a M3 HoHWs u3T 94 | &6 iUt &t

fenfemm a1
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5. f&3t 3¢t €3 AaTt fene © 93 euv g8 enrdT f8d 9a7 »isdamedt faae
Hot f&9 garent grett €37 & Targ et O

fegat »iafan € 998 U3T Ad |

6. fea fefonraet & ffa Haa € fan mes §ug ¥3 J o B8 Sws Tt arat &t
Hitmm 2 J13t iz Bast & I et Aget © gu €9 ygre 37| Ardet €9
&3 999 Yue 3 fife © »39% &8 OH AEs 3 Swe @Mt Irat & Ay
&% HEfgz J1 18 fAd 100 w398 §ug Yy o ae | fegst afanit v ggsd
UIT I
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14.4 =Jaitfgs wiafsmt &t Hfgar (Median)
fae fa 3t M3 3 &9 ug 9d I fa, HiGa™ (median) I edt Yfeast e f&a
Wiaar U I 7 far »iafaut e 79 3 fegda®™ U Jder J ue 94 fa
~ . o =y | R e o & o a
f&'uEUTIQEﬂE‘n?HUBTW(n; j%’Tl{dEET);FSge'UIHe n T3
5 ot 2o (413 Qo 2 i ot (o) der d)
He BC mirft It &3 niafzmt & Hitar usT ggat I 7 f&a Yifumr &9 100
fefenraemt enrar 9 50 wiat f&8° YUz »igt g7 €rer J1

Ufgst YUz gt g7 2ueT g f$d W3 a799793T Aaet § I8 f8y migrTg
g5 |
AT 14.9
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N Y o 2 Y, N N . N n ~N . N
8 n=100T H fARz At J1 Wit Yy ge—mg (EHJ?I{HEET

WHZ IS F° 509 M3 512 Yy v Az | fegst Yyt § Y3 995 Bt

WH IS fod WEATg »idl fue IT|
AIST 14.10

I wit fer gosT § EanT IF fq set H3g (F®H) Gudas Araet
&9 73T 9t 3 €n & He<t grdurazT v v fde It
At 14.11
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Qudas mraet e wg firser O
5027 YuE 28 9 (fag ?)
s1et quE 29 I

fer B, Mgare S22 _ 285

feust :Arget 14.11 &9 wifis A9 1 »3 3 HYSH 97997937 H'9St © &TH 785
ArfenT wter I 1 Hiter ¥ 28.5 Bfe3 gder J fd argar 50 yIH3 fefomraent
3 28.5 3 Uie vig M3 gt 50 YIH3 fefomrggnt & 28.5 3 Tu vig Yyu3
o3 I3
i e fa It i3 At &g Aufad iafamt &t Witer fae Y3 Joe If |
J& fE3 wigAtg far iftmr 189 100 it i85 53 fefommagut emmar
Y3 ¥idt € AHfdd §19993T €3 §ud feugg 9|
ISt 14.12
yu3 wig fefenradtt <t wftor
0-10
10 - 20
20-30
30- 40
40 - 50
50-60
60 - 70
70 - 80
80 - 90
90 - 100

0 N 0O O B W W kR W WL

Suda3 Araet 3 I &3 Yrst B §739 T ©t dff 91
fdd fefemradnt € 10 3 We »ig yuz i3 957 Aune gu e €33 531
fda fefemmaamt & 20 3 We »ig yuz i3 987 fimms fe€ fa 203" wie
0 - 10 €8 vig yuz I3 g5 w3 Qg feforradt & wig g fagh & @gar
10-20 fE9 vig yuz o3 g& 1 fer BEt, 203 We »id yu3 996 o8 fefomradnt
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ot 98 Afewm 5+ 3 97 8 J1 fom Bt wirt Ifde If fa eadr 10- 20 <t Foet
FIFITIT (cumulative frequency) 8 J1

fer 3gt, »irl g T99r €t Heet gdgra3et € U3 9a Ao Jf e mHT
feg u3T 99 AT If fd 30 3" We vig Yus 996 @3 fds fefenradt 95, 403
e vig yuz 995 < fdd fefommadt Is, ..., 100 3" We ¥id YUz 995 @3 fds
fefanrast 9 | vt feast Afontt & féq Arget 14.13 € gy €9 w9 9o I

AIST 14.13
Y3 wid fefenmagtnmt €t At
( Fg<t g9ga3T)

103" W< 5

203 We 5+3=38
303 wWe 8+4=12
403 Ue 12+3=15
503 U@ 15+3=18
603 uia 18+4=22
703 U@ 22+7=29
803" W 29 +9=38
90 3" W 38 +7=45
100 3 uie 45 +8 =53

Sudaz €3 west gy & At gduesT €% F9rdEl J1feF 10, 20,
30, . .. 100, HI13 I M3ITST Tt Guasht AiHmet I |

it fer 3gF Qust fefenmadht €t Aitmr y3T 99 oet fagr 3 0 37 <u
7t §HT g9rgd wid Yu3 13 I8, 103 20 A fer € g9red mid yuz o3 I3,
203 g 7 fen € g9red vid Yu3 i3 95, wife € SEt feq Adet g7 Hae
ITI ST 14.12 €9 wirt 2y Aae If fa Ard 53 fefemragmi & 0 3 ST A 0
< 99799 Ma Y3 o3 I8 | fa@fa wizams 0 - 10 &9 5 fefenradt I, fom wet
53 — 5 = 48 fefawrgdnt & 10 3™ ST At fer € 9999 via YUz o3 Is1 fen
yfafamr & Ardt Jue 98 mHT 20 3 Su #f fern € 9999 48 -3=45,303 <4
7t fer © 99799 45 - 4 = 41, »ife fefenraet YUz 9ae of | fAgst & Ardet 14.14
&g wamfenr fap I
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AISt 14.14

Qudas Frast wf €3 Fu Yo © HuEt gt €3 »uegEt J1 R
0, 10, 20, . . ., 90 HaT3 TTIT M3TTHT Tt TS HiHeT T |

I TIINfE3 »iafant €t Hitdr yus 39s & 3, mirt Qudaz & yad
it He<t gdea3T €3 et &9 fan f¥a €3 Araet & ywar 99 Hae If|

wHT ATgST 14.12 W3 AT 14.13 § fier o fed st gt 14.15 g7
T It A Ist feAt &

AISt 14.15
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I WA TSNS riafantt € g 3~ fegda® Yy § oes Hee! ¥99d3
<Y J &I Y3 o9 Aae, fagfa A 3 fegaras Yue fan Tgqr »izas feg
J2am fom w5t fog wgdt I o fem Wa Yue § OF =391 wizars e Sfomrae, |
Widfanft & © gareg 3o &g <5er I 13 fog <ga1 W3as faasr J7
w3 L uzr g It ge wrt §7 T9ar Wiadrs S9v Ot et Heet ardgrag
g?ﬁw@%@?@?ﬁ%|%ﬁm:m§ HRTET &TTT (median
class) Ifde I& 1 BUII3 €3 €9, n=533 9=, 5 =26.5J1dE60-70 1 feg

X o . o n “. EN ~ i
fragT gg9r I faAet He<t g7dgTd3T 29, 5?"%’26.5 I wifgq I w3 fere AT

SeoAN

ESGERL
fem 3t 60 - 70 Wifger <ger J1

HgdT @391 Y3 995 3 ¥mE wHT I &Y H39 & YWaT dad Higar
TU?B(H@UT

feg [ = Wigar egdr &t Jost Hivr
cf = Higar <da1 3~ 3t ufa® <% egd1 <t o<l gdgasT
f= Mfgar <3qr € gdgra3T

[ NN

h= 23d1 HY (feg Hae J¢ fad Edd1 HY gateg I8)
n
TE 5 =265, [=60,cf=22,f=7,h=10

NS o

& 739 &9 3¢ I8, wd YUz ger O

. 5— 45
HIgaT = 60+(2657722j><10 =60+7

= 66.4
for set, Sarsar »iu fefenmadnt & 66.4 3 We viad YUz i3 96 W3 gret Wig
fefenmagnt & 66.4 3° g w1 fer © g9m=g wig YUz o3 I5|
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Serggs 7 : fan AI® & TR AHT3 Tt 51 BIAMT Eit § et T e
HISYE 3T famim w3 I fou wiaz yuz o3 9re

€9t (em) <9 It & Hitonr
1403 We 4
1453 We 11
150 3 We 29
1553 We 40
1603 Ui 46
1653 Ui 51
Higar €7 9et u3T 94|

©t 7ga3 J|

fagfa fe3t It €5 Araet wie yarg wt J | for et A egar »izarst et
S UaET HIHTET 140, 145, 150, . . ., 165 Y U3 Jeht I8 w3 fegst € Harz <gqr
WITTH FHETT 140 3 WS, 140-145, 145-150......160-165 Ia | fa3t It €5 3°
A U3t Barer J o fed fadhnt 4 B3t 95 fagt & €8st 140 3 We T ae
TIIT M3TTS 140 3~ W &t 7997937 4 T 1 I 145 A HT. 3 Wi G gret Tragingt
11 B3t Ta W3 140 7. HE. 3~ W §79ret Trinit 4 B3dnit I | for Bt Tgar
WITH 140 - 145 &9 BT &t Bt 11 — 4 = 7 ISIM I'e <1 M3TH
140 - 145 €t gdgra3T 7 J1 fer Yarg 145 - 150 € 997937 29 - 11 = 18 T,
150 - 155 €t I7d9™d3T 40 - 29 = 11 3, wfe| for Bt Aot gdga3T @ &%
At adETa3T €3 HaSt I fed gu =gt I At I

AI<t 14.16
0 [} 0 ﬂ. 0
140 3 U@ 4 4
140 - 145 7 11
145 - 150 18 29
150 - 155 11 40
155 - 160 6 46
160 - 165 5 51
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51 EN S o 5 S
g=?=25.5 J1157 Yz wizass 145 - 150 g mifer J1 0,

[ (J5St FHT) = 145,
HRIaT 294 145 - 150 € SIS Ufas <99 &t Ae=l 91dgd3T (cf) = 11,
HITa™ 2941 145 — 150 & 97997937 £= 18 W3 SddT HY h=5J|

I n=51J1 e =,

n

— —cf

H39, Higar= [+ X h BT Y9 996 '3 A Y3 Jer I

HigdT = 145+(25'518_Hj><5

= 145 E—14903
= + T .

for =, =t <t Hiftar €79t 149.03 AHY. T

fer e gy I fa BT 50% SIot =t §797e1 149.03 cm 3~ We 7 fom
& 99199 J W3 gt 50% & §7 9t 149.03 cm 372U I
Gerages 8 : I Ty wiafsmt €t Hitdar 525 I 1 999 g7dgTd3Tel €7 13 100 J, 37
x M3y e HS U3T 9|

TIIT W3TH g9gg3T
0-100 2
100 - 200 5
200 -300
300 - 400 12
400 - 500 17
500 - 600 20
600 - 700 y
700 - 800 9
800 - 900 7
900 - 1000 4
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feg fe3r I fa n=100J1

feA &g, 76+x+y=100 I x+y=24 1)
HfgaT 525 I ° 2391 500-600 f&9 »r@er Ji

fem @et, 1=500, £=20, cf=36+x, h=100JI

n

H3d Wigar= 1+ 2fo h, € YT 95 '3 HS YU e I
525 = 500+(m}<100
20
qt 525-500= (14-x) x5
7t 25= 70 - 5x
qt Sx= 70-25=45
fem =&t x=9

fem et (1) T AS YUz ger I 9+y=24
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g< y=15

IT A At 35t aedt yfeadt © Wt e wiftms 39 fomr I 3t wig
Wit fen 91y &t g9ur gttt fa € fenm 7ge3 © sEt fagz vy <o €193 J1

Jedt Yfeast v Az 37 <U Yyudr I % Y Hows J, fagfa feg mrg
et §ug marfas der I w3 Tt fiuags Wet ¢ fegarg mfgs der g 3e feg
WWEHH?B‘EBWHEB‘E?WEIédo('dﬂ'ﬁil?dt:”UIfEU
A € 7 2u fg3 J¢ <3 €t 388 995 &9 notfed Jer J1€egae € 39 '3
fom Wi fEg nidarms T Agst 2 fefenaet evmar Yz o3 are it et
WH3 HOH'S ©1 3887 d9d mHT feg fHer Je Ao If fa fan Ags & ugedns
ST faari

33 miafant T fiug Hs Hows §ug yge ufe 95188 dde €39 3
gl fed fadt ardarg3T @& T9ar v HunTs fe3 98 wiafant e fEq edhr
ySifsa Jer I 1 ud3 7ad fea egar &t adurasT Ha &€ 2 I w3 gt Ua =gar
Tt grdETa3Tet 20, 25, 20, 21 M3 18 I 3t fegst T HoHs wigfant &1 Adt
ySifae yers st adar| fem et fed fadt nfast © e, Howrs »iafant e
f&a dar yIifsu st gaar|

fed fadht mifimret &9 frg fenastos Yue Haseyas adt de i3
wHT feq YIa3Ha' (typlcal)WWWWUTBTHW@W
Jer J18egde € 39 '3 fan ©n € Haedt € yStasHa §3ued3t €9, WA3
Hred! »ife T et Witar fig €793 wua J1 feg wifadt mfagut g5 fam
Eﬁfﬂnw(waggeswag?g?)wamamfgnwwﬁiﬁw
Afgght feg it Hows &t g7 3 aredt yfeast v vy Witar 3¢ J1

feg fadt mfaght feg, fag fmmersg wiBe o W8 reTfus 9daT Jde A
A3 3 <0 UAEIET @A3 €7 U3T JJ8T J<, 3T 9gSd A 3 <0 99T fedsy Jer
J18Tgge ¥ 39 3 AT 3 < o e T uRdteT & Yarad u3T 99s
Tet, Gn QUIaTsT TNz § U3 996 B, fan € Har Ag 3 U J, St g
IS T HS 3 U URE 3T 7S 8T 99T U3T J9T wirfe fE9 gusa v Yudr
3T AtET I
feushnt .
1. fegst f3st aredt yfeast € wuat &g fea Hdu I 7 Is 3y migamg O

3 Hfoar =gg%a + 2 HOH'S
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2. W-AHTS 2941 HIUT 218 2943 wiafamt €t Hitar < uzT o3t 77 Aaet J1
yd3 feg wirt fem €t 999 st Iatar

yHaest 14.3
1. J& fadt adard3r @3 faA WIS 2 68 Qudarsrer €t famst € Hdtded yus egrer
J 1 feas wigfamt €t Wgar, HoHs w3 9989 U3T 99| for &t 38 & 941

2. a9 Js fa3t aret €3 < Hitar 28.5 99 ITam3 y T HS U3T I4:

3. f&q Hies g gvic 100 ufsrt ggat & GHa & €3 3 I3 fou wiaz yuz
FgeT I I Higar @HT U3T 93 7dd UfeH deg §ast feomadt & fast e fagt
T €HT 18 A At €7 3 it 9=, ud3 60 IS 3 e I
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4. &g U Ehrt 40 Ufamt &t Saret sagar fighites &g wndt At I w3 yuz
wafamt & Jat f31 At € gu &g TamfenT famr J

Ufsmt =t Higar gmet usT 3|

Haz : HigdT 3T 996 € Bt idfantt & Bar3tdsT edar »3dagt 9 sesge
y2ar, fagfa g3 feg egar Wisarst fi&g Sar3a3T Hat aret J1 3¢ feg <gar
117.5-126.5, 126.5 - 135.5, . . ,171.5 - 180.5 {35 5e® AE TIs|
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5. I& fedt Argat 400 f58 Ut (lamp) T Hes I8 (life time) § TIATEET O:

Hies a5 (vifomt f39) Ut <t Hfa
1500 - 2000 14
2000 - 2500 56
2500 - 3000 60
3000 - 3500 86
3500 - 4000 74
4000 - 4500 62
4500 - 5000 48
g &y v Higar Hies & u3T J9 |

6. 8 HESq e 3fedaadt 37 100 @!LIBTH (sumames)éf)j?ﬁﬁﬂﬁ’ﬂ%@_w
S 293 I WiaIdT TgeHT & wiudt €t Hitmir €1 I Tt sderazT €3 yuz Jet

waT =t Aftor 1-4 4-7 7-10 | 10-13 | 13-16 | 16-29

€ u-av <t Aftpr 6 30 40 16 4 4

y-ait f&g Hitar »iyar € "fuwr Uzt 93| §u-ant &g Howrs »iyar €t
At & Uzt 93 W2 &% If, BUs™H T 9989 U3T I3 |

7. J& f&3t J€t €5 f€a A3 € 30 fefonradt € ens (39) § Target J1
fefanragtmt &r Higar 379 u3T 391

=7s (fa@ary f&9) | 40-45(45-50(50-55|55-60(60-65|65-70(70 - 75

fefanrgeo <t At 2 3 8 6 6 3 2

14.5 He<t adgra3T €3 WISt v waHl fe3g9s (fsgue)
e fa »it wrae I fa 933, »iuadt a8 fimmer vt 3T 8o I | B
fI397 w3 gdgra3T gggd < a3t &8 39 3T /i v g fiq He<t
TJEd3T €3 § Mt gu &9 9395 Fale |

Sorgde T B, W9 Aget 14.13 &9 ot Hedt gdag3T €3 Gug fegg adiel




318 afez

e I3 fa H® 10, 20, 30,

100 HaT3 <JJT WM3IT&T Ehut T 601 5., v &3
Quaedlnr Hiiret go 1 Hreed g RT3 ESO"?WW 39N

vigfanit § »rat gu fee f93ds set
wHt fuf3T g9 (»ud) €°3 =gar
WIITHT It Guast FivmeT, fig
Hﬁ'ﬂ"T—l’c‘)_O(fﬂ-l"?F (scale)ﬁ I wifas

J9€ ' 73 BEIH T4 (y-T9) €3 0 10 20 30 40 50 60 70 80 90 100
Qat #f Jet JI UnsT B T BTy Hhyet —
Ho<l ¥d97d3T Ydie Jde J7| - fozg4a

e gt gfgmt §ug fea It st S wgdt st I1 M€ ge € 37 dua
(€7udt ¥, Hars Heet gdard3n) 3 Y3 Har3 e (10, 5), (20, 8), (30, 12),
(40, 15), (50, 18), (60, 22), (70, 29), (80, 38), (90, 45), (100, 53) MBfYz FIE M3
feat ﬁg’rﬁ é fex HJ3 J9 Tdd (free hand smooth curve) €MTdT fizrdte | feg
yu3 Jet T99, 3 uie ydrd <t Ao<t gdga3T <dg (cumulative frequency
curve) T EGL (ogive)”l't@'r@w_—'._of JI (@'Ef 939 14. 1) I

mﬁ@m'ogive'é 'ogeeV' (‘Y;I?ﬁ%’) sfgnr Ater 9, fam €t @3uzt nee
'ogee'g;ﬁ'@ﬁ'l%ﬁa@:?gm(convexcurve)@@ﬁ?m@ﬁﬁé
ﬁamm(concavecurve)@mﬁmjﬁﬁlmﬁﬁmS_t:_’
wigrg df It I fAr € g Sg3Hd(vertical) Ifde I51 142t w3 15<T.
W@Hﬁ?éﬂ(Gothic style)ﬁm%ﬁ, ogeeWHETEHH@_'FT
FoT ©t Yy fenmzr feg™ fea J1

I AT AgeT 14.14 e f€3 98 (37 <u yad ©) Ho<l gd9d3T €3
©*yg fegrg Iae I" w3 B = 3d< fuee I7

we a4 85 0, 10, 20, ...90 FHETT

HAT3 €JdT M3I™BT 0 - 10, 10 - 20,
sy 90 - 100 it JSHt HiHRT TS | T
'3 < yd9 'E miaHt fi93ds © BEt

Yug 83 fufsw gd €ug Jsst Hinet «
»fgz Iae It fom 37 e, wHT
(Jagt Hhr, Horz Aot gdardsn) ¥ ¢

0 1020 30 40 50 60 70 80 90
wigAg g (0, 53), (10, 48), (20, 45), Jost Fher —>
fasg14.2
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(30, 41), (40, 38), (50, 35), (60, 31) (70, 24), (80, 15), (90, 8), WSfY3 e 7| feg wmrt
fig & g vz I8 <99 ©d fHsee I g€ ° @99 Wig YUz Jet J1 89 ‘3
it Yarg® = foa Hedt grdardsT @ag 7 39€ mueet J1 (TY 939 14.2)

feust : foors o8 29 fa €2 3d9< (939 14.1 W3 939 14.2) gd™5a widfant &

HI3 I& 1 AGSt 14.12 &9 &3 Io|
Iz yrs feg §7ser J fa 39 fan gu
feg vigar o Hefuz 37 ot ArgSt
14.12 Emr%wrremfu?ﬁme%
fegat gt Hoel gdgasT eddr 3
WW@WW&HW
TG fem €t uay (A9

feamn—areucrfeaa%rfum
73 §ug, 5:5_23_265 ot mfast

3T 99 (T 939 14.3) I fer g 3°
J d, BI3HI Ud & AHT3T fog aur
ffg & Qudaz <99 § f¥a fig '3
deet Jifen g 3, fufzmud €ug
Ty 9| fufsw gd w3 fem g ©
e fig 37 Hitar fsgufaz I Aiet
J (29 939 14.3) |

Hfgar u3T 995 ©f fia Ja fedt
& gt fegt I

&g It gfomt 3 €2 Yag ©
(3e 3 We ydd € W3 3 g Ydd
<) 3d¢ fig 1 E< 3o< fea g '3
dee I | fen fdg 37wt fufsm od
'3 &9 fyge o1 feg Sy fufsw ug
& fre deer J, G wiafanrt €t Hftar
It I (S0 939 144) |

:
;

gJgg3T —>

-

100+

0 1020 30 40 50 60 70 80 90 100
Suamgn AtveT —
fe3914.3

100+

0 1020 30 40 50 60 70 80 90 100
fesg 144
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Qurgas 9. fan HI® © f¥q Bflar dudan (shopping complex) ©T 30 Tt

THTIT IHTE 918 ATSTST B8t 3T IS fEdt ardgrgsT €7 Araet YUz It O
g (B4 JuT 1&9) Tast dt Hitpr
53 <u 7 fene gdrgg 30
103" <u A fone gargg 28
153" <u A fone gargg 16
203" < A feAe gargg 14
253 <g At feAe gargg 10
303 < At fere gargg 7
353 < At feAe gargg 3

udas riafawt 3 8 It g9 '3 B 3d< fig w3 HitaT B9 U3T dd |

T% : ufgst »At 9re dug €ug fufsw

W3 3T U9 e of, fir feg @9 2 s0 |
03 g i3 et T . E

40 t

30 T

gd '3 Twange It feg wHl fag (5, 30),
(10, 28), (15, 16), (20, 14), (25, 10), (30, 7)
w3 (35, 3) & B3 g9d &S a3z I8 . S
T9 &% g fde gfifer 3 wd "3 < 0 10 20 30 40 50
L@H?’éﬂ?@?ﬁ?@ﬁmﬁ%"—%{ﬁs’a W%WW_)
14.5 f&g feufemr famm J1 939145

20

10 T

W g, Guda3 ATdSt 3T SddT i3IS, HAT3 gdgrd3Tel W3 Haeh

gagTg3Te Y3 Jate |
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st 14.17
TIIT M3IT™S 5-10(10-15[15-20]20-25|25-30]| 30-35]35-40
oeT ot Afgmr 2 12 2 4 3 4 3
Ho<l gggra3T 2 14 16 20 23 27 30
fegst HgT w7 yWar 99d »HAT (10, 2), Sos
(15, 14), (20, 16), (25, 20), (30, 23), 35,27), 1 | _ a2 <
(40,30 fI3T 14.5 TBmBy ffgmafuz . 01 ° .

a9 Jf| feg fegst § ffa Haz I8 <ag
oI e ‘3 We T Yyad v 39 Yu3
gae It fae fa 939 14.6 &9 Tanfonr
famr 31 fegst € aree” g (A3 fig) 3
fufza ug €°ug &9 fuge '3 # fufsm ud
M3 g TS g J, GR e o Hs 3
Hfger yuz Jet 31 feg Higar 2 17.539 J)
feust : Qudas Bergae &9, a1 »3T™® Bar3Ta3T f&g I | 3d< fige 3
ufost feg Aferfes 99 e grdter I fa fegdr »3d® BIr3a3T @@ I

0 10 Tzo 30

40 50

WTaaT (17.5) &9 Tt Jastut
—_—

et (By gufent f29)

939 14.6

T I51 (AW 3t &9 wifes fo3at ©vt goaret €t 2u )

yHeest 14.4
1. J& f&37 €35 fan Sdedt € 50 HAEd' T It »HEs TSaATEeET O

Faa mies (T f89) (100 - 120

120 - 140

140 - 160

160 - 180

180 - 200

HAgat < At 12

14

8

6

10

QU3 €3 § fBa We ydd' © Auel gdu93T €3 €9 928 w3 G e 3de

fagi

2. fan 73 & 35 fefenraent €t Hata® At AN Gasf & 379 Js fod gu fiee

=g 3T fapr -
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379 (fa. 9. ) fefanmaeint <t Ao
383 U@ 0
403 U@ 3
023 ue 5
443 U 9
463 U@ 14
48 3 U@ 28
503 ufe 32
523 Ui 35

Sudaz miafant 3° uie yarg e 3d< fifg w3 Higar 379 & yuz 991
3. J& f&3t Aget fan fifls € 100 €oHt € Y3t Jaond J= © §3ues 3
TINEE TS|
€3ues (kg/ha) | 50-55| 55-60| 60-65| 65-70| 70-75| 75-80

erant < Hftpum 2 8 12 24 38 16

fen €3 & U T Yad € €3 &9 9es w3 feg fen v o< figl
14.6 ATI-WH
fer »iftmife f&g, 3HT I fou Tafsmt a1 wiftms 37 I
1. SIS wiafzmm e Hous I 8y wigATg U3 13T 77 AaeT J:
_¥x
-
(i) IBUfsa Haws fedt ¥ = a +—Z£}dl‘

i

() Y3y feut: x

Gii) Udr-feuss fedt: x=a + (Zg—ujxh

i

fegst &9 feg He fenrm wier J fa gda =91 & gdgasT §re Hu fie, 3=
zadr fos §ug wmarfgz Jet 1
2. TIMf3 miafant & ggsd J& gy H39 ©wiaT U3T o137 A7 AdeT O

m=l+(&]xh
2fl_f0_f2



oz fefarrs
fag Haz wysT AIfed »idg Jue Js|
3. for gdgra3T €3 At fe9 fan <gar <t Hu<el gdura3T 8n <91 3~ ufast
& HTJ 24T €t I99Td3T € 13 JeT J|
4. 239Mfg3 viafawt & Hiter Js feu §39 ©wrar Y3 i3t A7 Aaet J -

W
[\
W

ﬁ—cf

ﬁf‘tl—OIT=I+ 2f X h

frg AI3 e HIfed »dg Jue Is|

5. Ho<t gd9d3T €3 & eyl gu 3 Hue! 979993 €ddt At 3 We yag €' At
3 U YIF €, 39 eMdT fague |

6. <INz »iafamt €t Hitar fegst € Bt Yarg € 39t € aree fag 3~ fufsa
ud €ug fi9 &g w3 fufsw ud © gree fig © Ha3 U8 3 Y3 J AeT J1

ysar @ Bt ferm

Sz idfant © 998 W3 Hitar § U3 Jde BEl, H3d € 93
96 3 Ufgst feg Afsafas i3 arer grdter I {3 @ isds Bar3asr
&9 I3 | fen 397 Tt Ha3t = Yuar 3a< fige et <t gae 98 w3
3de ot Afat f&g ©°F93 Uner €2 gfon *3 AT &dt” €t I Aaer J1




HITSHT

The theory of probabilities and the theory of errors now constitute
a formidable body of great mathematical interest and of great
practical importance

(Harearet 8 a3 w3 3dcint 8 a3 g& w3 Jife3a gdt e w3
W3 fefearaa Hase e &°d & AHT AEUZ Jde I5 )
— R.S. Woodward

15.1 gfiar

A3 IX fe9, wiHT weatet Tt l{ﬁﬁl’lﬁ (experimental) [ AT 3AIFET (empirical) ]
Hyesre € g9 &9 mfts 99 9o I, faosT emzfea yuwar © ufsgemt €3
gz /1 wAT e fHd § 1000 €79 88 © Yudr =t 999 i3t |, fan
ﬁﬁm(outcomes)wmfgﬁwmz
f93 (Head) : 455  UT (Tail) : 545

fer yurar €73 wmarfaz, f€a 93 €t 3agdst Haesr %,wo.%s%m@fﬁr
U< ©t IAIYE (empirical) HITST 0.545 I1 (AN IX ©t dIfe3 €t Us yASS
T wiftmrfe 15 = Gurgde 1| € 2Y)) fimrs fet fa feg Ageset fEa fid &
1000 =9 Se@e ¢ fea emsfed yuar € ufgemt €73 warfaz g | fer a9,
feg 3ngdet 7 yufora Agese nuegeEmt 51 »Ag &9 feg yufaa
AIeae TH3fed Yudr € ufget »3 wese € TUds & €90 d9d6 €3
foggg aaett Ia | fere fewrer, fog Ageae fHdg MEH™S (estimates) It
I | vag At fer Yuar & 99 1000 =9 fHd & 8% d Jdle, 3t A fend
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WIBI-MBIT Wiz YUz J Aae Is| fam &9 7g ufgst or8° Sud Ages
WMEHTS Y3 J&T |

31X fE9, 3t f€a fid § »ida =9 Gefenr Wt w3 feg &< ozt /it
fa f93 (77 ue) fIat @a wifewr (AW IX © it 15 <t faamm 1 w3 2
g o) | 3t feg & S wt fg fae-fae” fifar Gerse & Aftm Juet e,
@_é*@%*fé’aﬁg(ﬂ*uz)m@zﬁqﬁﬁmﬁ@wﬁmw%%ﬁw@ﬁaﬁ|
3T It AOT Ud AT © WS a1 ME a1 I © fend It S fen yarg & yutar
3 g5 w3 I3 »e & Hitwr § gaw o137 J1

8Trgde © 39 3, vioget et © eatiHt Hie-fefommat ave 3t gers
Comte De Buffon) & f&a fiid & 4040 T3 G&fen w3 2048 53 yuz 131

fen mfast g, ffa fg3 e & Haear 2048 g 0.507 i fges © 7.9
4040

3fdg (J.E. Kerrich) & f€a fid § 10000 =79 G&rae €9 5067 53 yuz 31
fiw wfezh o, i i wn@e o i Hareer — 0 =0.5067 31 i
mmtﬁm(KarlPearson)%f?ﬁ%H%ﬁ%WWéﬁafﬁ%fé
24000 =73 Gefenm I Gr 3 12012 93 yuz o3 w3 fen yarg Gng fea g3
T i@ &t yGfara HareaT 0.5005 yu3 It

I, Ha B fa it Yis 99 I, wag fHar §8&e © yuar § Ha 56 fea
firghs @9 dtzT e, 3t i3 »e <t yufara Haesr off J<aft? wag yuar
10 fH&is Trg dizTAre, 3T HgesT ot Jedit? IHT wiH Areardt € Wag €73
feg wfggn 9391 fa fae” fae” fia Bemse & dftmr Tuet At J, B2 62 93
(77 U2) w@zél{ﬁﬁmﬁ@wfﬁaﬁf&was,w%%%@@?jﬁ%
wr ferd 93 (Ue) Y3 da9s & Hui3d HIeaT (theoretical probability)
afde If, ferd »rt ward grar &g Sutar | fer miftmirfe &g wirt 89 weat &t
froiza Haear [ﬁ-l'ﬂ?;'i YJUJTIT3 HIEST (classical probability) <t Ifde I5] &%
HE-UgE darerdl w3 for urger €73 wrrfgs Aa® AHfiret <t 999 Jdidr|
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152 Hoes — fo'a fruiza fandlas

W Jo fadt vfast €73 fegrg adle:

He 6 € fid § M9593 (Random) G&TfemT famrr 1

Ao wAt fiq i €t 97s 992 If, B2 wirt feg asus 99 I fq fea fon
ﬁ‘cl'B(fair)%lE"EfEUFfHﬁ-lB’E"f (symmetrical) ff 37 fg It 9 &7 I fx
feg f&€a It U, grd U, €t 38 €9 U 5911 vt fia € fer a1 &
Srer faar VU3t (unbiased) I IfdE TT1 MYEY3 €8 (random toss)

T AT ge J fa Ha & fast fan Waut3 (bias) 7 gaee € A3393YI
fSare fa3m e J1

wH ufagt 3" Aree I fg fiar € Age fedhi f&9° des fiq It fedt o=
S "aer I — A7 3793 €73 Jear 7' feg ue €73 Jear [wH fiia 2, Bre
faaTd (edge) € = Eif femr &9 fSare €t Haear § de dde Jf, 7 §eJde
¥ 39 '3 §¢ Hae J A fHar 33 €73 f591] 1 mirt feg 3garars gu &g Hs
Aae I fa 999 ufgen, 93 A ue, = yare dor €3t It e I maer J filsr
fan 99 ufgen T71 grd meet &9 wrt afg e If fa ufgen g3 w3 ue
FI')-I'FTE"EIT(equallylikely)?@%lmﬁ?ﬁm%ﬁaﬁﬁ@_@mw%
BG fa il fea U (dice) § Hew I I A3 B, fEd UTH BT wigy feq fanfiHars
UH 3 J<dr | Hee Ufged ot 957 8T 1,2, 3, 4, 5, 6 I& | I3 At & §ug
e € g9r9d HaeaT J1Idd UH § Hee 3 U3 I &8 AHHgT ufga
1,2,3,4,5M3 63I51

ot I YuaT © ufgeH AHAETET (S9T8d HaesT @8) Je I8 1 MG SHie |

Yo B8 a3 88 fdu 4 8 drei w3 | &t 9ie I w3 3At for 88 f&9
faat 8% € nieg g9 <4, f€q 9re ¥99 dee J | fere ot ufgen ga? of fia
% 9 e W3 8 otet are © ufgey Ewmt ga9g Haes=r Ja? fagfa feg
4 TS Iret I& W3 StSt e des e I J1 for sEt 3 feg Aga Itisar fa
3J3 ©ATTT BB e © HAES f¥d B8 9 e © 979d Je< df et fimmer
J1 fer et feg ufgen (B9 s ore #f ffq it dre) mHs<t(aarEg
AgesT @8) &0 I51 ud3 88 &9 fan & dar &t or'e fsase © ufsem
AHASE (g9m99 ©f Haesr @8) I5|
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for Bet, 999 YuaT € ufget & AHAaE! (AHTS HeeaT @78) J& gd]
st J1ud3, fem miftrrfe f&g, »irt feg s 3 97T fa 99 Yuier © ufge
AT 51

31X &9, »irt fEq wesr E & yufara 7 3naset Agesr P(E) § J&F
fou gu &9 ufgsthz oz H:
w3t (dfam) &t Afer fam feg wesT wet I

w35t &t I Afem

AoTeaT d 3adadt fentfim et 25t Hitm feT Tad™® 77 Ade @8 fan =t
YWdT 5% g3t 999 WeaT € Bet edf3nm 7 Aaer J1 fan yuer § goarde
Aarer J 7 feg & I Aaer J fa mifgr g Hee It & 32 1 fagt v, o Gerse
T UTHT Hee © yuar 9, fer &9 aet afssret st Jeti udg f€a Guqrfa
(satellite) B3 © YW1 S o I1TaT 99& BT, 9 9 TIIGT €l fd 85 AH
Sret mAes3T f Hae ufgen ot I8, € ¥d feg 3Ht ot Ao I 7 fBa gvs
© J1de JE goHASt foHTd3 aHe Jedit 7 adt, =t 3Aduct Hae Ufgat €t
JIEaT I96 BT FITH E WesT © gudT TS © ¥ fEu AT ot Ifg Hae J7

wfad yerar feg, g wirt 99 geuset & Adt Hae sEt fanmg J At
W f8°d YiaT © €998 3 99 Hae J1, faBfa feg asuset fraizsa Haesr et
5T I3 &9 Ast AafesT daeht 98 | ufgat €t gamag AgesT I (AHFT)
T FsysT (fAadht wida yoiar feg Hae war Jemt I8, fae fa €ug fHar
Ceme M3 U H T © 5T Bergae 89 I8) feust auuser &9 ffa I A wd
fam wesT € Haear & Jat fadt ufggmr &5 cuger J1

fan wes E &t firgizar HIeaT (theoretical probability) [fAS udugrars
HITEaT (classical probability) <t fagr #/eT J] PE) I &y u &9 ufgafaz
ot et 9 E & »ag® ufge™t &t Afamr

P(E) = et @ 7re frge ufgenit oF At

feg mirt fog IoUsT Jae If o YGiaT © UfdeH AHHg! (89mad ©f HeesT @& JJs

wHT Hay gu &9, fHui3d Ages & fHae ‘Aaesr of Jafdn

Ages o Qudaz ufggmr 1795 feg Uba-AfeHs-BUS™ (Pierre- Simon
Laplace)%ﬁ?h:ﬂl

P(E) =
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Haes fuiz & g3 1631 Aet ffe Jet, Ae fia
fezta<t 3f3a FH3A W3 9ifes AH3CT 7 9936 &
fer fen fé&o ufost yrsa fodt, famer o H: The
Book on Games of Chance §Ja" €t 5€®3 t, Ag=es
= wiftia 3 Has Jfes FRIdT T firs »iuE €8
fafonr| fegst arfes Arzdht &9 v gagst
(1654-1705), €.3t. Hfeed (1667-1754) ™3 Uwg-
ATeHG-BUSTH wfad 89 I fAgs’ & for 939 &9
fEd Arged TareTs fia3T | grusH gvirar 1812 &9 faudt 3
gret YH3S (Theorie Analytiquedes Probabilities)‘c;'i fex N
et fonaat Tirar HesT ¥ faag wet ST fam %"'9"“'
HY 3° T57 Uares Hionm AeT JI T8 € IB RS89, (1749 _ 1827
HIesT € wdd °3dr fae fa dfeq fefamrs,
MJEHT3d, éﬂﬁﬁm(genetics),éﬁam,
AN HTH3J mife 439t &9 Iaug H3ar feg Quatar
3T 7 fgar i
WG WA YWdT 578 HEfU3 98 wesret f Haear € U3T Jarele, fan
o9 =39 © AHASTE (equally likely) I € SBUST WaT J|
Gergas 1 : ¥ 93 yuz 990 & Haea uzr 99, e & fHd & fed @9
Serfon Ater J1 o5 dt, feg ue yuz 995 & HeresT & 3T ad|
75 . 8 fid § feq @9 G8ge © yuar &9, Age ufgemt &t Hftmm 2 J-
I3 H)MI U2 (T) IHs BG wesTE I3 yuz 93s™ J13E, E © Mads (e
g3 yuz 995 3 mag®) ufger 1 J1 fem sEt
E € 7iga® ufget & ffter 1
g AgT Ufgent o At 2
fer yatg, Hed WesT Fue Yu3 99" J, 3t

P(E)=P (fg3) =

P = PO2) = (fa87)
Gerggzs 2 . ¥ §8 &9 ¥ v are ¥q st are w3 ffg uigt are I w3
AT et ffq It witarg €t I | fgzar faar 88 € wiwg 24, fom fag fr'a
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Jire 9799 dudl J1 ferdt ot Agesr J fa feg are
() Wtegt Jeaft? (i) BS J<ait? (i) ST IJaft?

I3 : fgzar 58 897, 6w &g fagr 20 9re w99 Jedt J1 fem ot @ ommar
Jet <t 9re g99 e AHAgE J1

Yo 8§ Wist 9re o799 dee” Wt Y J, ‘B8 I §19d deaT WIS
R W3 ‘38t 9re ¥799 JEar Wt B JI
Je, AT Hae ufget €t Hitmr=3 3|
(i) W Y & mad® ufgat &t Aftm = |

fem et P(Y) =

[SSRRE

[SSRRE

few yag, PR) = % W3 P(B) =
feust:
(l)mmﬁ%wm@mﬁaﬁmﬁH%B?W(elemenmry
event) ITFE I 1 Gergde 1 &9 €8 weae EW3 FHE8M wese Is | for
yarg Geraas 2 &9 weaT v, R w3 B &9 Ida €9 Hest wesT J1

) Bergas 1 &9, wHT Bye I7 fa P(E) + P(F) = 1

Qerade 2 &9, Wt |y I f9 P(Y) + P(B) + P(R) = 1

s feb fa fam yerar Tt Ardtw Weghi westet ¥t Hgesret 73 1
31 feg formya gu f&g & /e 91

Serage 3 . Vis B wirt fEq U § fed @19 Hee TFi() 4 37 5T Hftmr € yuz
Je S HgesT ot 97 (i) 4 3 &t A fore gar=a wftpr YUz I € AgesT ot 97
I3 ¢ (i) feg vo B6 fa ‘4 37 St At YUz 99T wWesT E J1 AT Hae
ufger 8 I8, f€T 1,2,3,4, 573 6 I8 1 AUHS J fd weaT B wiggs ufgeH
5 M3 6 I5| fer Bt B € viag® ufget €t wftmr 2 31 fer et

2

P(E) = P(4 3~ <3t Hftpur) =
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(i) H& B6 ‘4 3" 8§ 7 §AT ga9g Rt YUz J9sr WesT FJ|

Ad AgE Ufga™ = 6 I |
WesT F & Mad® Ufda 1,2, 3 M3 4 J1
fer et F € wiags ufget €t Aftmr 4 J1

fem et P(F):%:%

ot Qudas Gerade &g &3t It wes™ E W3 F HeshT weae J&57
odt, fog Hedh wese &dt” gs, faffa weasTE € 2 ufgem I8 w3 wesr
F¥ 4 UfgeH I&|
feust . Gegde 1 3, Wt Sue IO fa

P(E)+P(F)=%+%=1 (1
g wesr E 9 fi3 yuz daar I W3 wes' F fEq ue yuz 9957 J|
Burgae 3 € () ™3 (i) 3~ < wiHT Ty I 9

1 2
P(E) + P(F) = §+§=1 (2)
g wea E ‘43 T3t At YUz 998 W3 WeaT F ‘4 € §9THd 7 We At
Y3 gIs” J|

s fe€ fa 4 37 <31 wftmr st yuz 995 e"migg @t I 7 4 3" 8 7
©Fe gargad HitT Y3 995 = J w3 TR 397 rer Gxe < fodt yare ager I

uadas (1) M3 (2) f&g, ot weaT ‘F’, ‘BT (not E) € 9ard9d adt J1 T,
fer 39t I I 1wt wesT ‘Esdt § E 8% wamgE I
few 397, P(E) + PE 3JT) = 1
ge PE)+P(E)=1 I, fAA 3" P(E)=1-PE) YU3 Jer J|
formug gu &9, fan wes ET Bt fea A 9 fa

P(E)=1-P(E)

weasT ' E&dt §ﬁ>—gﬁ43aaﬁe’ra°rw2w E,WEE&W(complement)

s viyeget I I wt feg & afde It fa EW3 E UIAUT yId westet 95 |
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»igl e 3 Ufgst, me Jat fou yast € 8739 U3 99 ©f afim Jdte:
() uH & €9 ¥/9 Hee '3 Hitwm § YUz 995 © AgesT o J7

(i) uH & g @9 Hex '3 7 37 & Aftmr YUz 995 & HareaT ot J7
W& (i) e €39 vde:
AT Free It fa yH § €9 €79 Hee &8 odes & J1 Hafe3 ufgeH I | feg
ufge 1, 2, 3, 4, 5 M3 6 I | faBfa uR € far <t <59 §73 8 »ifas oot
J1fen wet 8 © wisg® det & ufged st 9, I mfad ufgemt €t Aftmr fieg
(0) J1THJ waet &9, um § fEq T9 Hee 57, HitmIr § YUz J9aT mHae
(impossible)%l

fer BEtP(8 yu3 Jda) = 0

6

g2 99 wear, farer euger wrHge J, € Haesr 0 det I 1 wifadt wesr
‘c;'i £ wHge wesr (impossible event) fge Is|
W (ii) = €739 T

faQfs ym <t 93 eaa 873 wifadt At fedt I 7 7 321 9, for =t
yH v f&q @9 Hee '3 feg fonfaz I fa yuz vt 7 3° 8t I<aft | fom a9d
WS & Mg Ufgat €t At /g Hafes ufgent €1 wftm € g9red J<aft,
H6 JI

=0

fer et P(E) = P(7 3 &t Afgmr W&W):%:l
for 39a BT wear, famer euger fsufas (sure) I, d Haresr 1 It I I wifadt
WIAT é feq fanfes (sure)?l"rﬁ'ﬁl'q"'ﬁlg (certain) WCET Ifde I |
féust : AgeaT P(E) & ufggmr 3, wirt Bue If fa »im (W E & »ads
ufget <t Aitmm) IHET 99 (AT Hee ufget &t wftmr) 3" g7 Jer g A
Bre gagg Jer J1 fow a4,
0<PE)<1

wg ge feq €e¥/gde, 3 (playing cards) &% HEfU3 BElE | o 3AT 3™
ot feq gret <t 37 feme 52 U3 (cards) I s, gz 4 myat 89 €3 Ie I51
J9d AHY fE9 13 U3 J€ I51 f&g 4 AHT TAH (spades) (4), US (hearts) (V),
fea(diamonds) () W3 o=t (clubs) (#) TS | FoFt W3 TIH 8 JaT € I Io M3
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s w3 e 35 I91 € I I8 1 I3 AHT © U3« fEar/wiaT (ace), ITEHTT (king),
g9 (queen), TS (jack), 10, 9, 8,7, 6,5, 4, 33 2 I I& | gE€H™T, TdH,
m%@ﬁ%ﬁﬁﬁ%(facecards)”m@%aﬁl
Cerags 4. It 3g7T € aret 52 Ufanr & feq gt f&9™ fa U3 fem wer
J 1 ferdt AT usT 99 Aag feg U3m
() fea fear (wam) dear|
(i) fea f&ar (War) sdt” d<ar|
5’8’:Hﬁéﬁﬂﬂﬁgwmﬁm(equallylikely)ﬁ@%ﬂﬁ?
I AT JI
() f&a 1t fieu 4 f¥d (va) Ie Is 1 He 6 wear E feg fear (war) der J1

E € »&d® ufget =t Hitmr = 4

Fd Hae Ufget &t #fimr =52  (fag?)

- 4 1

fer gad PE) = §=E
(i) Ho B& wesT F fea (War) adt J1

HfemT F & wiggs ufgemt &t wftmm =52 -4 =48 (fa@?)

A9 Hae Ufgat =t Hitwm = 52

fen 9 P(F):%:%
feust : s o f F 39 95 ot wafy E &t 31 for o093 wirft PF) & fem
yarg & fgy e I P(F)=P(E) =1 - P(E) = 1_%:%.

Gerggz 5 . ¢ fustdt Hafi3T w3 I 2fer v g He use gs 1 feguzr I fa
Hafl3T @ 1Y fA3e €t Agesr 0.62 J1 3aHT € fize € Haesr ot 37

T : He B8 S W3 R gHETd: HAM3T € fi3eE w3 9unm € fise € wearet
& TIAET TS|
Hafl3T € fi3e € Haear= P(S) = 0.62 (f&37 J)
IRHT 2 fA3< € HaeaT= P(R) = 1 — P(S)
[fafa weaet R W3 S Ydad I5]
=1-0.62=038
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Gurgazs 6 : AfesT w3 oHler € RIS 5| ferdt ot Haresr I fa g@< () &
7o fes fda-fds Ie? (i) T 7o fos f&a It 37 [B T 7S (Leap year) &

NN

B3¢ J¢]
I . gt AIs & far feq s34, He 56, AfesT v 7oH fes 7s = 3t
& fos I Haer J1 fen yarg, grdt g3t oHfer e weH fos & Ars 2 365 fost
feg" 3¢t foq fes I AaeT J1
(i) Hdd IHteT =1 7oK fes AfesT @ Ao fes 37 fda 3, 3T O FioH fes @
&g ufget &F HitT 365 — 1 = 364 I3
fer g9 P(M@?W%H&?%Wf@ﬁ?%%):ﬁ

365
(i) P(Afe3™ Wiz oHter = 7oK fes foq It 3°)
= 1 -P (&< = 7o fos f95 )
134
365

[P(E)=1-P(E) T Ufgav 37

T 365

Sergas 7 fan Ags €t a3 X €9 40 fefenradt 9 fagst €9 25 S
TS M3 15 B3 I& | AHT3 & miftmiyg & feq fefenradt A3 Hated © gu fee
geor J197 994 fefenmradt e s wikar args €73 feudt 9, 7e fa aras fod
<391 It I5 | feg €9 fegst gzt § ffa &3 &g ur o I9ft 397 fogr fidet 1 fem
3 g B for 58 &9 8 arg3 Judt J 1 fordt ot Ages I fg o193 €73
fafiomm aH (i) &34t T 37 (i) B3d 27 I7
J% : 948 40 fefenrgdt g5 w3 feger 88" Jew ¥ of = 993 ga&' J|
(i) A9 AT Ufget =t Afamm =40

93 §3 I T IH IT € mads Ufget &t witmm =25 (fag?)

25 5

QEP(WB@_%BB—OFTETWH%):P(M):IO <

(i) 9938 §3 BId T H JIT € wads Ufgent =t wiimrm = 15 (fag?)

@P(m@%m—oﬁ@w%)=l>(m)=%=g




334 gifes
feuzst : it p(Bzar) § fer yarg & u3m 99 Aae I

P(SJ3dT) = 1 - P(JBII &dT) = 1 - P(BI) = 1-%:%

@_?UHES:'@HH‘OD&%H?) 3, 2 a3 4 3@ U (marbles)ﬂ??lﬁ_ord’fgﬁ
gan feg g ga7 wigtaq dfenr Aer I 37 ferdt ot Hgesr I fog ger
G) fgerd? i) SBTI? (i) 3B I?
J5 : feg afger fa ger wigrsa dfenr famm 3, Aay f&g feg afae € avs I
fa 7rd ufgeH g9rag &t Haesr @& (AHHg) I fer g9

Ad Age ufget &t BT =3 +2+4=9 (fag87?)
HoBE WeaTw deTASE J' &, Wea™B 'HeT 3BT J’ $MI WSS R ‘HaT IS
I & EaEgET JI
(i) WesT W & mags Ufgemt & Hitmr =2

fer 999 P(W):%

fem yag, (i) P(B) =
fimrs fe€ fa P(W) + P(B) + PR) = 1 T

Seges 9 : T3 © fI5-fg5 fiffont § fedd et I (Hs =6 fEa fifar
% 1€ I w3 gAd Har % 2 &7 J) | feret ot Haesr J fa g wie-we € f93
Y3 IJaft?

J5 oAt 93’ € SE H i3 ‘U € BT T foue of | 7 © fifont § fea g
Serfen wrer 3 37 Hafes ufge™ (H, H), (H, T), (T, H), (T, T) I& %3 feg A3
AHAgL (F97ed ©f Aot @8) I8 &8 (H, H) © wag J fa ufas fifa (Vs
BG T 1T fHa) €3 93" wear w3 grd fiflg (R 2 fid) €3 & o3
wrear | fem Yarg (H, T) € wi9g J fa ufgd g €73 937 wrear w3 grd
WesT E W ue f€g f§3 »ear € »ad® ufge™ (H, H), (H, T) W3

NN

W3 (iii)) P(R) =

O | W
(SR
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(T, H) I5 1 (fag?)

e 994 E © miad® ufget =t Aftmr =3

fer 3t PE) = %

@Eaalﬂgww%w%fﬁaﬁgquoﬁﬁs-qw%%|
feust « 3HT PE) fer yarg & u3T o Aae O
- = NP |
P(E):l—P(E):l—i—% WQTHP(E)=P(H€T1‘€3?>‘<?F)=Z

ot 3t feg 2 I fa g a9 Tt Ardut Gergaet &9, g9 yuar
Ad Age Ufgeat &t Afuwr forfas | Adg odt, 37 g Brdt A9 99 381

WEAT YW mind I, frg ufgen € wftmret € fegarg aet < w9
Hadt I 7t faget &9 ufgey fEa gag 7 wifes 2 wied = 99« fig Jer 3,
wife | 5t 3T ge Ad A ufget § fare mae 97 fae fa 3t wree 9, feg
Hae adt° 3, fafa & wfimret € fegarg »tfhz gu &8 migfarez (waar)
Hiymret Jet I w1t feg fa 999 © »igg miefaes (vaa) fig I gs1 fer
9o 373 enaT Ut aret (fruf3a) Haesr €t ufggmr & €93HTs gu €9 fed
YTaT st 3T A7 AaeT | fon mifim e feg I ot dear? fere €739 © =,
wi§ Jat fast Gergae €73 fegrg adte|
@_E"UEIEIO;E: - feq ﬁ-I@T-ﬂBFS 6_(_G’Fﬁ (musical chair)“afa’ feg, fAg=st »igs "oz
o gdt /i, § feg mero fe3t aret fa §9 Hoft3 5g 996 & miw 2 file € vieg
g < "otz g2 99 Aaet 1 fendt ot Ages I fa #aft3 59 J= 3° ufas »iu
fite f&g ge g wrear?
7% : feg Haw ufged 0 w3 2 € fegarg & Adtt wftret g1 feg A
JUTET 03 239 € T J (T 939 15.1)1

v

1 2
fe3g 15.1

0l

« feg iftur €t famdt 37 st 91



336 gifes
He 86 weaTE ‘Hoftz By I 3° gmiw ufas wig fife & 9 J 7ier J1
i o N aY N 1 ~ i N Qo . N
E € aas ufge™ At 3ur €73 owaem@aﬁmﬁg%ﬁ@form
. o =N . ~ -~ . v U . 1
yfgeHt €t g9rad Heear J, wHT feg 399 € Hae I fq 98 gdt 2 &9 5
WeaT E T MagS J

1

N WesT EE Mad® Tdt _ 2.1

ydt gt fam &9 ufsgen Afss IFae g 2 4
ot »it Gergge 10 € uger & fan wesr & Haesr, AT "ads 439es 3
HYTS ¥3des © MaUT3 € gu e TaF Ade If
Seges 11" : e J&tarueg € 9iW I< 99 feg ges fuzet I fa 8o fdsa 15.2
f&g Tare wifesTarg ¥39es 29 fa3 591 fim I ferdt ft Agear I fa €
fd3g feg eandt ot Siw fég f5am 37

4.5 km

v

IS . J8taueg v wifezgrg 439 feg a3 <t fSarer A<t J1
HYTs U39 © ¥3des, e IStaued 591 maer 9
= (4.5 x 9) km®=40.5 km?
15 @1 @H3fed U39des = (2.5 x 3) km? = 7.5 km?
- N ¢ Ay N 7.5 75 5 =
fen 994, P (J8Iaueg st f&g f5famm J) = 205405 27 J

+ feg yiftpur €t famct 3 st I
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Gerggz 12 : 83 39 &9 100 AT I, fagst f&9 88 ata I& w3 8 feg &=t
fadt wardt I w3 4 f&g fammer yardt 91 fFa eurdt fivt 89 aftat <t retarg
J9eT J # 3la I8, 7E fa f€a Ig eurdt aamsT Gust anfiat 8§ It sarget J fist
f&g favmer yardt I fer 39 &9 ffq aHte wigsa grgg It At 1 feret
ot Agresr I fa feg affa

() it & wetarg 97 (i) AAT3T § ALtag I7
I ¢ 100 AT 2 39 f&9° g fla Yuurs afaz grag o<t #idt I1 for 99
100 FIHAIT Ufge™ I |

(i) it © miag® (& Aetarg) ufget & Hitmr = 88 (a8 ?)

fen gad P (ata filt & Atag 9) =%=0.88

(i) AT © »iggs UfgeHt = Afimm =88 + 8 =96 (fag?)
96

fer ggd P (aHiw BA3T & ALtag 9) = @=0.96

Seges 13 : €9 Aad ym w3 & 38y & fedsr Hfewr A J1 A9
Hafez ufgant & fed | feret ot Haesr I fa €& urfiomt &t Hftmret e w3
() 831 (i) 1331 (iii) 123 2t A @Fe g9rgg J|
IS . He BI&TUTHT ‘1 EdATeeT I 3T RIS uH €73 Hitmiet 1,2, 3,4, 5, 6 ST
et S At I Hadt I feg 3e @ dear, A SIB U €73 2, 3, 40, 5 A
‘6> J=ar | fer Yuar © Harfe3 ufgent § It Arget &g 3T famr 31934 €3
73 = ufgst At 31y €73 wrB Tt Hfimr I w3 TRdt Hfir nE
U €3 w@E erg@t witr I

5.1
6,1) (6,2 (6,3) (6,4 (6,5 (6,6)
fg3g 15.3

1| an
2 | @0
30 @
ST 4 4,1
5
6



338 Jfez

fors fe& fa az7 (1, 49 A3 4, 1) 3 fda T (fa€?)
fer g9 Hafes ufgem <t Hitmm=6x 6 =36 J|
(i) E ©dT EgATel WeaT ‘Hitmet €T 13 8 I € wagd Ufga™ (2,6), (3, 5),
(4, 4), (5,3) M3 (6,2)I& (T4 939 15.3) |
I E T Maads UfdaH =5

5
fem et P(E):g
(i) frm 397 fa AT f939 15.3 3 9 AIE IF, WSS F, ‘Hiter a7 /3 133
T agS Jet & ufgay st I
fem et P(F) = 0 _o

%:
(i) fm 37 fa 3At fi939 15.3 K9 By Aae I, wesT G ‘Aftme 7 73 <12
3 g 7 fore g9¥9 &' € WEdS A UfgeH I |
- 3
fen g9 PG) = —=1

YH&eH 15.1

1. J5 f8y I8aT 3 yaT 99:

() WasT E€ HIeaT + WeaT ‘Eadt’ €t AgeaT= JI
(i) BRwWesTdtHgesTA eI st Aadt_ Jimfadtwest
JIEE I
i)y B7 wear €t Hoes famer eude forfgs 9 I wifadt wesr
JIEEt I

Gv) T yerar et At idfsa westet Eit Hareset e 73 JI
v) for wea €t AgesT IS AR ggEg et I M3
3 2 7 Ore ggrgg Jet I
2. It &3 yGiar &9 faoz-fags yuar € ufge midg<t 98? AuRe a9 |
() f€d Foeled 99 T&ET T W3S 99T J | I1d IS Hg J AEt I A a9
I8l 7y &dt It |
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10.

11.

(i) f&d fuzdt sHIcE™S & gHae €9 UG e w3s 99! J1 87 grde feg
Ire UT HId J A ST Ut AIEt I

iy T8 HY 71 35, YHAS T MaHs Sarfent At 18733 Adt J 7 9183 Jear|

(v) 83 99 7 AoH Jer 3199 83 B39 I A 3 8341 J|

ST € U § MdF da¢ AN fed eneT BT wEt fa fagdt A ufast are

J& fafint &g faat vt fam wesT €t Ages adt” J Aaet?

(A) % (B) -1.5 ©) 15% D) 0.7

A9 P(E)=0.059, 37 ‘Eadt’ €t Haresr ot 37
€ &3 o9 aes f8y =t Higa gt fifaht Fight 9 | ifsst fagt 88 &g
oy On fe9” ¥ 9=t ggg Jedt 1 fordt ft Agesr I fa 8 It aret o=t
() H3d €t Hfgq @&t 37

Gy &g et Higa et 37
feg fia3m Ifenr I fa 3 fefenraet 2 fEq AHT fe9™ 2 fefamraeht € Fov fas
fog It few or-J= €t Haresr 0.992 I | ferd! ot Haear I fa feast 2 fefammggint
= 74oH fes fog It fes 37
foq 58 &9 3 88 W3 5 &M I e Jo | for 88 fe9” 3 9 e wasd g7ad
et gret I | ferdt Ages ot Jedft fa are () 88 I=7 (i) B8 adt Je7?
g sufeg s 3@ de, 8 fdd 92 w3 4 I3 92 I& I fer 39 &9 fF'a o nimaa
T1J9 JfemT e J | ferdt ot Haresr I fa Jfemr famr ger
OHBFSI? (i) fderI? (i) gIT &t I?
ﬁaﬁhﬂ%(piggybank)ﬁ?, 50 IR e R fHa I8, T 1 2 Uag fia g5, T 2
T dg fHa w3 T 5 2 en fifd I8 1 7 sl 9 & fow o §5er 995 3 att fea
fHar g9 fFare & ufged mAg<t I& (g9 &t HaesT @8) 3t GRet Haea
ot I fg 63 f3famir Ifemr fifar (i) 50 UR =7 329 i) T 5 = &dt Jear?
It myE T-I'E—T—ﬂ%’-sjfa’ (aquarium)@’B‘Eﬂ fea _/ :
IS 3 He ydled! J1 gaserg fiq 2 b
far f&9 5 =9 Wit W3 8 HET HaT I3,
f&g foq Wet Yuuz 9fgs 8rs ggg Ja&t g
(24 f939 15.4) | feret St Haresr I fa ggg
et aret Het &g Hat I7
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12.

13.

14.

15.

16.

17.

18.

HEdT (chance)%ﬁs(@l—a’ﬁ_ﬂ’, %%@WW%
A fean feg wife 3" gmre wftmret 1,2,3,4,5,6, 73 8 ﬁe
feg for foq Aftm €8 Haz 397 J1 (29 f93915.5) |

st feg T ufgant mirest Is 3 feret ot Harear 3 vv

fa feg Fta Aaz

() 8 & JJar?

Gy f&a <t Hftmm § gdar? fg3g 155

iy 2 3 <3t At & Fgar?

(v) 9 3 &t AftT & IJar?

fEa ym § f¥q @9 Hienr Afer J1Js fafimt 3 yuz 995 &t Haesr usT 94:

() T wigm At (i) 2 W3 6 Efegag rEz St At (i) 8 i Hftmr

52 Uf3wit €t Saft 3gF o7 ¢ <t 9ret 3T w 9idt &9 fea U3 grgg dfen Ater

J1J5 fafimt § YUz 935 €t Haesr usT 93:

() B JJ1 = el g (i) fed IR T &T U3T

(i) BB JAT T IAST THTUIT  (iv) U'S &7 I&H

(v) JdH g7 y3T i) & ffe <t gamd

3 B U Ufswi-fee T efger, @™, g9, end w3 Wa-$ Use o 99t 39t

e o famr I 1 feg fegst &8 niwraa f¥q U3 g1ag Jfewr Aier J1

G ferdt ot Haresr I fg fog U3T fog gam 37

(i) 73 gIH MEEt I 31, GRE WS a1 Ju fd3T Ater I w3 f€q I9 U3T ¥9g
dfgnr Ater J | feret ot HaresT I fa grar dfemT fapdt U3T (a) fed war 97
(b) T gamH I?

faA 919& 12 YaHUE 132 T U o feg TS 918 I8 1 9= 29 J &dt e

Aaer fa I8t U's ya™ J A aig J1 fon fimde f&8°, £ U's wigss g7ag

e 7ET J1 979 dE 918 U's € 3id I ©f AgeaT 3T I |

() 20 g39 ¢ ffd AT &9 4 59 yd™ I | fen Ay &9 ffa 989 motsq
T1J9 dfem AT J | ferd! ot Haresr I 19 feg g%g yarg Jear?

(i) He BE (i) i€ a9 dfenT farm g59 yarg adt I w3 & Jt fend gamar
89 ¢ &% fHa o aier J1 g gt gsgT &9 9 989 wigad 97ad
et wrer J | ferdt St Hetest J fa feg 989 yag adt Jear?

fog Ut f&9 90 UBaT (discs) I3, fAgat §73 1 3 90 3 Hitmet fadn I |

A9 for Ut f&9 £ use wigtsd g7ad Jet Aidl I 37 ferdt Agear u3T 94

fa fem use €73 »ifaz et ()T fat €t € Aftmr i) € ygs =gar

AT (iii) 5 &8 231 A1 <&t foa AfgmT|
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19. 83 99 € 38 8 wifqar uAT J fare exd €73 J& foy »iyg »ifas Ia:

A B C D E A

ferum & fa <@g Henr mer J feret ot Haresr J fd (i) AYyruz 97 (i) DYU3 97
20.* Vs BG 3T fed u & 937 15.6 €9 T »ifeztarg 439 e »esd Hee J1
ferdt St Haresr I f3 feg U™ 1m for @8 999 & »ieg f3arar?

3m

2m

939 15.6
21. 144 5 Ut € 8 AHT €9 20 918 U's ¥a™ 96 w3 gt Sla 95 |1 3t €t U's
ydteer 97ddl faogT 31 J, ud3 ¥a™ U's 3Ht ydleer &dt 97ddT | gdae™d
fegst Ut f&9” musd fed U's ¥7g9 de o 3976 fder J 1 feret ot Hgear J fa
() 3IHT BT Us ydtear?
i) IH BT Us ot ydtaar?
22. §eg9E 13 & TH () I5 Tt Arget & yar 94

waaT

aar yrfiput 2| 31 4| s| el 7| 8 9| 0| u|l n»
vt Aftmrat gt

GES

. 1 5 1
HSTE0 36 36 36

Gi) fo'q fefemradt feg 3aa fder I fg fea I & 11 ufgad 2,3,4,5,6,7,8,9, 10,

~ EN N N o I = - =
11 M3 123 1 oA I3 I3 &t HS'GO'HUI’ ot 3t for 399 o7& AfoHs 37 95

Afg3 839 o6

« feg Yifumr &t famdt 3 st I
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Jfes

23.

24.

25.

feq vz feu f¥a gue © fHa & 35 o9 o Ater I w3 g9 @9 e ufgeH
oy fon AT 31138, ufsgeH mis Je 3, ge fEs 3 At ffs ueyuz J= '3,
Jale uz &g fifz arear, adt 37 €9 org A dr | Iaie € u3 &g o e
AIeaT U3T I |
g uH & € T79 Hfewr Ater J| feret ot Haesr I fa
G 5 fardegasdt mrear? (i) 5 W we fq erg mregr?
[Haz: fEa uH & € €9 Hear w3 © Uit & f8d T3 Heer fea It ywrar Hiew
Her J1]
J& fafimi f&e™ fagzT 399 He I w3 fagzT 399 HY ot 37 Jds rfas €739 fe6:
() wag € fifort & fia erg BarfemT mter J, 3t fere f3s Agfes ufge-€ 93,
TYe A 993 g g 1 for 994 feast feg gaa ufga € Ages %fﬂ
(i) 7ag fed U & Hfewr Ater 3, 31 §we Harfez ufga - fea 2t Hitmr At

feq farz Aftmr J1 for gaq fo'q g Aft u3T Ia9s &t Agesr 1y,

2
yrsest 15.2 (fegr migag )*
IS HH M3 B3 o ferm gars 673 gt gg3 e 7 99 95 (Hergea 3

HaEd 39) | I9 ©dT s §°3 fan fes 7t faw 99 fes are © ufged mirget
(garaad &t Haesr @8) Ia | foret ot Haear J fa €6 8n gars 3 () B It fes
TEI (i) gHT (578-57% @8) feast feg maai? (i) fds fds feat feg maar?

fEa U T esdt €3 Hitmret 1,2, 2,3, 33 6 ot Jewt I 1 fom & € @3 Hfemr

T I M3 T8 T9 YU3 Jet Htmiet T 13 {8y forr afer J1 €8 T Hee 3
e, YU3 13 © 39 A3 U J&' fadt Argat f&e 3 I fer Araat & yar 431
ufggt ea Hes WS
¥ 1 2 2 3 3 6

£ 1 3 Z Z 7

v

E 2 3 4 4 5 5 3

) 5

B

‘E 3 9

L 7 8 8 9 9 2

* fog yreredt it & famdt 3 =at 91
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ferdt ot Haesr I 37 fa 98 A3
() o farzs Hftpr 329 7 Gi) 637 (iii) W 3~ T 6 J7?

3. o3 88 &9 5 &% dref w3 I3 38T 9ref I Add for 88 &9 aigt 9re
Jec ©f AgeaT 818 91 € 97dd de< ©f HgeaT 3 gdiet J, 3188 &g st
Iret Jt AT U3T 99|

4. 83 Ut &9 12 dref Js, fagst &9 x & I | Aag fer feg” &g oie
WIS T1Id Jet Aret J 3T ferdt Agesr u3T 39 fa feg 9re st I
A9 for Ut f&9 6 &8t arer 9g Ut fiddt A1, 37 &t e fogse
AoTesT Ufgst Haes o7& 2aiet J Adl J 1 x €T H& U3T I3 |

5. ¥ 3989 24 92 I6 fags f&9° 95 99 I W3 9dl 318 I | 7ad fer 39 f&a”

woTsd fEq ger grgg dfem Aier g 37 fer g2 € Id7 Je ot Haear %fﬂé‘%
&g <18 dfomt €t "t y3T 99|
15.3 AI-MH

for miftmirfe i35, 3t I fafint aafamt e wiftws 3T I
1. Yudft Heesr w3 fraisa HaresT fdg »izg
2. wesTE & fraiza (At uduaars) HI=sT P(E) § Jot fa3 gu &9 ufgshs
3T AT AT I
E & i ufgens & Hfenr
W3aT ¥ Ad HeTfez ufge™t &F Hfterr
g wirt feg aeusT gae It fa Ywar € Ard ufgeH AHHgt I8 |
3. fi fonfez (At fsgufaz) wes &t HaresT 1 Jet J1
4. 63 wiAge weaT €t AgeaT 0 gt I
5. WeaTE € AgesT fo d wifadt AT P(E) I f
0<PE)<I
6. BT wear farer des fiq It ufgey I= f&a widfaa wear »iye@<t I fan
YU aT et ATdoft wirdfgd westet € HaesT er 7z 1 JeT J
7. faR A WeSTEE BE P (B)+P(E)=1deJ, 8 E wear ' Eadt’ $ Eam@er J|
EM3 E Yad wesret I8 et I |

P(E)=
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ysar @ e ferm

fEa wesr =t yufaa #f »iggifed Haes ersfed gu feg wesr &
wfez Je 3 foaga et 9, A< fa for wear <t fuzq Agesr feg I3
JBUSET @ wigrg 3 fog gfeuget i3t At I f3 St wesr wedft
fHu3a AgesTe’ € S99 gdrad de <t Gvle =t AT maet I




ates e s | AL

Al.1gfHar

A3 daeT Hies feg 399 UH JIds W3 Aune fd3s Jds < AHdeT 993
Quuistt Jet J1 8egde © sEt Hs 56 £ gwa3 307g feg afder I fa ‘wag
3t Are HEdt AgdTd TTdY I 3T HG St vt grdtent I 1 wins e €9
3973 vieg feg femem Uer 99T vrder J fa wag 3t @nd <<t st fdgtmt
3t 3974 e HEd! Aodd &dt s Aaet| fer 397 Aag fea ferfagg feo
feg S wter I fa g utiTs fena3t XYz 39 € ge ufgser I 3t Just 3973
ﬁmﬁaaﬁsﬁ@m@ﬁﬁ%ﬁﬁaﬁﬁxmw@%ﬁm?

S WH T §§E—ff‘€€kﬁﬂ‘o{€€l€lf€ﬂ8€"‘rﬁo¢d w398 Un 995 o
ifafon § At 39t 8 AHSTE 3 wiedre fo g wirt fer 39t € 7 fe g adt
SH Ao |

399 U 9d& €7 Adt YuIdT 9ife3 B warg J1 ferm gy fe™s 7gs Un 998
fe9 173 IX fT9 307 g3t &t Hasuset 3™ Ag gaeremT famm /it m3
RS feg 3t 993 A9 d8aT, %mguhﬁmﬁﬁaw§fﬂ’u€"raﬁ?
HHIwe 94 fa fe'a A3 o9 »idd Jifesd 98e Je Is fist fe 9 g9 fe g ams
m%ﬁﬁmw#uﬁ@fmﬁaﬁa@%(ﬁ@a@?#ﬁﬁﬂ%ﬁ
(axiom) 3~ At Ufgasusret 3° 399 gU &% fsarfiz Jer J, gz et ggaTfe™
mwwwwmﬁmmﬁwmﬁq%rﬁwnm

fer wiftmrfe &g, Wit 79 3~ ufasT fer 9fs 3 feg 3 fegrg agiar fa
difesa Jus ot Jer J1 fem 3 g2 vl wiad Qeradet enrar feamfsa




346 gifes

(deductive) 3JdE €€ € IHS € € & U J'9% Uac 3 fegrg agidr| feg wrt
YIE (negative) Tl HIsUST »3 fed fo'3 I¢ 988 €7 §%< yu3 996 979 <
999 aarar | fem 3 g2 wirt fen 91s & 999 <& aatal fan fe 3 98 qus =7
€< U3T J9% T »IF ot JeT JI w3 T wirt wida yiwt (faGant) € mg3t
ETT‘?:'H@HEB(H@T-D-FB’IXﬁ@@?lﬁﬁ@ﬁm(ingrediems)?
feg 3 fegrg qatar| feg wiHt He-fedu (contradiction) W@S’ECTW?
& feurg Iafal fan § AT M3 IX o9 iy 99 J w3 fen yrsa € widd
I wiftrrfe &9 & YGiar 99 99 I

Al.2 9Ife3a Jga T Usg-fadius
we 99 fa ‘58’ fed wogyde T Jur J 7 & 3T wew Jer I & o
ferfHarafad (exclamation) g I W3 &7 It Yrs Jer J18v0de € Bt ‘©I83
U T eElss feu faadivt € At us gdvt 987 fEa yis 3, fe'a ags adt
JI A W3 My W T AW YIT I3 fed »iew J, fem 3 st I1 fdar
It =t 91w T I fE'T ferfua gfua 9, 9 98 adt J1
we gd fa forug gu feg o9 Jaf féfawf fe5” aet fea 9 maer o
o HY
o 35 (HY &dt)
o Wl
3 IX feg 3t feg @ ug g9 J fa aifez €9, 9us a== En <3
A9 ger I Ae €U Af B IT A (W9 &) 35 92 fon It wdt @ §
TME3S (Mathematical) S St HfenT AT
g w93 GEgget § o »ue famrs § gadT BER |
Guggs 1 : €0 fa I fe3 ¥, 995 I& 7 3t | mue €733 & AuRE 93|
(i) 5o Tat @M WHer J1
(i) TI5 € 99 Udle I I51
(iii) Yo € 913t BAFIT 3 x 105 km/s J |
(iv) 329d 3 H'dd 3 d I&d 37 &1 A3d g I |
(v) A3 Ha ¥ 3THETS e 5|




[ad o
dliecs I€d H

lued
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1Y)

J&
() feg Ta A9 &t (33) I, fabfa udiw fefomratmt & feg ity a9 fasr
J fa g3t Haw e uineEt J1 fem wEt feg £ Tms I
(i) fog =g wdt I fa@fa wirt feg feger st qa Aae fa o AT IATH Y
st (33) J1feg fon 91'% 3 fogga gger J fa ews fagzT 3, fabfa egs
2,3, 4, 6, 10, »ife ydt g7 3 Raer J1 for &t fog f£'g g adt J1
Gii) feg e a w9 9, far 397 g Sf3a fefamiawt & firg 99 fe'sT I for Bt
feg £ 98 J1
(iv) feg e wdt 9, fa@fa feg mume ot I fa feg far Aza @ 99 feg faar
7 fagr J1 fem Bt foo 9 g ot I
) fegea A9 9, faffa 90 I oy S ae &7 9 HaaT It J1 fer st feg

f&'s qgs J1
Guges2: ER fa Jo fou T A9 5 AT A Y & (33) I51 My €33 &
HUHS 4|
(i) A3 AHgH f3gm AHegHt f3gw Je I5|
(i) IF AHESH! f3gd AHaH I I5|

(iii) FTd HHEFH 3z mHgHt f3ga I a1

(iv) 99 ufgHa Aftmiet Hygs At Jet I

(v) I3 Ufgnw "t Hygs At sdt Jet 9|

(vi) ATd HYIS Hitmret ufgHe wftmret sdt Je Is1

i) far & ufanw Afumwret 2 fegarag g ufanw Afvowr sdt It I

1Y)

J&
() feg e w9 I, faGfa migt f3gw &t gmret garag It I | fem met
feg Mgt f3g7 I51
(i) feg ea A9 I, fabfa €T muegHt f3gw fare wag < 60 © I8, A
[ECEISEIRRY

(i) feg Ta w9 =t (3) J1 fene fedu (Bx<) f&'a G el

(v) fea W'y 3, fafer & gu St fem 39 ot ufoirw et 5,

- T a_ A n o LN ~ 3
el p Huas i I 73 ¢ = 1, Hugs e 31 (Gergae © &t 3=1)

) fea e w3, faBfa -2 gu o fom 39t ot ufoiw st 75,
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p, g FUTS Attt I& 3 ¢, p § feamz st gger (@3 st J), Hugs
F?thr@?ﬂﬂ‘aaw’@m%aﬁ%)

(vi) feg = for 38s & gamg (e9an) I fa fe'q fem 397 €t Hygs Hiwmr 3,
w Ufgna Aftmr st JI1 feg e wo st I (39) I, fagfa gt Hygs
TR S

i) fog Ta w9 &t (33) JI1 fam 39t fa 3 e I fa fan & ufonw
Aftmet r w3 s 2 fog Aftr It T 7 3 ufgna At 3

r+s
2

€ur9s 3 : TET x<4J 3 It fe 3 aust T fauzr Hg 97 MU €733 & mure 3|
(i) 2x>8 (i) 2x <6 (iii) 2x < 8
Qo
(i) feg sEs He &t (33) J, fafa Gergges € Beh, x = 3<4, 20> 8 S HaHe &t
I
(i) feg FEs Hg &t (33) J, faBfa Geage e &t x =3.5<4, <6 S HzHE &I
I
(i) feg 985 A9 I, fabfa feg @0 I fa x <4 I
Guraazs 4 . SIE A3t BIr J Jot fo 3 IET § wEgT ufggTh3 a9 fan
o5 fg feg 996 A9 J 7|
(i) 7dd fan 93997 € fedde gd™gg Je 37 Q9 frq »ifes Jer I
(i) far f3ga €t € gael € © fdent § fisGe o@t Jur 3tAdt gar ©
AHT3d Jet I
(iiiy F'd IS Y3s Widt p & et [p fed »ufonw Jer J1
(iv) ATt 2-wri3t mlaget € € e3fed U I I5|
I8 :
(i) 7dd &g AHT39 93d9H ¢ fedde gdrgg Je 37 Qv &g wifez Jer 31
(i) fe's f3gm &t & gmret € W fdeut & fis@e et gur Sthdt g ©
AHT3d Jet I




[ad o
dlics I€d HAd= 349

lued

(iii) ATt wig Hitmret p € Bet[p wufonm der J1
(iv) ATt € wist AHiaget € €0 37 ° U © TH3fed U Jde I5|
feust . @°ug € Just T ggdT JuS Jd 397 < fe 3T 7 HaeT J1 @ergde € Bt
(iii) T BT 85, [p mufarw I, fag p fe° fem 39t v us mias ygs fiftmr
J, ¥ Y3 =91 &It J|
YRGS ALL
1. 7 fa It fe'3 Td 98a I8 7 &t | 7ald 966 I 3T 2R fa GT A9 96 7 351
e §°39 § AURE 99|
() JfE3 St ATdIniT UTs YRS ST dfed Je 35 |
(i) U933 How € gt BASFIT 1.5 10¢ km. T

(i) AT HE Y g€ d Ae I |
(v) €399 37 gafis 3T A3t ardt wzar gaee e @t H
(v) ferzdt & afedgsa 13 (Tadls) o f&a gt eftmri

2. TR g J&t fe'3 985 A9 I6 7 3 &1 muE €733 & Aure 94|
() Ad® I, TIIA JE TS|
(i) I3 =IIH, U IH I< T3 |
(i) ATIMAT TAR3 Hiftmwet 2 o1& 91a1 &dT JeET I3 |
(iv) 9% @H3fed Aftmiet wiufaHe Jehi I |
(v) ATdt e3fed Aftmiet ufgne sdt Jehii I |
3. Via B8 o m3 b 3T "itpet I, fag ab 20 J, 37 OR fg Jo7 fe 3 qEat
fe 9 faggr A9 I7 e €739 § AuRe I3 |
() a3 b7gdt 39 3 fireg I Ite TS| (i)a 3 b Tt (Agdl) freg a7 I
Gii)y HF 3T ¢ W3 A p 919 fHed I
4. B3t 1At &% Jot o3 TEst & wardr fon 397 ufgghz 94 fa o Hg I 7e |
() Adda>>b,3Ta>b () HAd =y, 3 x=y
(i) AT (x+y)P=x>+y%, 3T x=0 (iv) 93997 © fedae fea grd
FHESTHA3 Sde I5 |

[(fe3E)
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A1.3 faaMHa3Ha 39a-Ha3T (Deductive Reasoning)
IX 7HT3 &9 3U7% feaHE3HE 39d-Ha3T € AdsusT 3° AE daerten fapr
H | feg wirt wiaat Geragat enaT Rure J9tdl fa fam 39t feamaavd 394-
Ha3t (Deductive Reasoning) %l{ﬁlﬁTW H9 H& I8 9g&T 3 fHS dee I7|
fegst aEat & ufgasuaTer Af maTg @ (Hypotheses A Premises) IfJ€ I6 | I
WH 99 GETgdet &% HgMT3 ITdl |
Qurgas 5. i3 Ifowr I g dtayg daared 9 &g I, W3 He B8 fg marar
Hayg fég Ifddt 1 marer fam 9w feg 9fd<t 37
J% . feg € ufgasuse Is :

(i) YT ddaTed I &g J1 (i) TSt Hyg afJet I

fegat ufgauarer 37 wirt feg fifeT (deduce) dee IT fI AETST IdaTed I
fe'g afd<t J1
Qurgas 6 . fazm Ifowr I fa Tifes i ArdT Uts yr3ar 99d Jet a6 w3
He B 3t a1fe3 €t fia uts uR3a ug 39 1+ Uts yA3d AT Uz 9J I Bre
gd WAt ot fifer 9% Aae It?
J% : gt UfgasuaTet e yudr add it feg fifer ag wae It fa 3rt fia doa
TS YA UF 9 I
@_m7:y=—6x+5ﬁ?f}'@”ﬁ%”@ﬁ38@ﬁx=3%, yET)jU?)'a"T%?
7% : 5t Ufgasusel 3 A y=—6 (3) + 5 =— 13 YU3 JeT JI

D, C

Gergge 8 . fa3m Ifewm I f3 ABCD ¥ AHT3T
Y3997 I M3 Ha B AD=5cm, AB =7 cm
(f933 Al1.1 ©9) | DC W3 BC &t Samewt g7d .
AT ot fier % Hae 97 * frsmau
Jz : g feg fagr Ifenr I fa ABCD f€a AHT3T 93937 J form et wirt feg
fHer Ju &2 77 fg 87 A9 91e 7 ¥ ANT3d 9399+ fe ¥ J€ I8, ABCD 3 <t
Ty der J1 faQfa mirft wree If fa AD = 5 cm, for Tt wift fog 53t de
Ad I fa BC =5 cm J1 foR 397 It wiHt feg a3ar 9w Aae If fa DC=7 cm J1
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feust . fom Qerade feg wirdt 2ue of f3 fam 397 foq fE3t It ufgasusT feg
U I § U3T J96 W3 BT 996 ©f Agd3 M 39 3 UEt afdet I
Gurggs 9 : fa3T Ifenr I fa At wigm Aftmet p € et [p wufone I w3
Ho B8 19423 foF wigm Bitmr I 1./19423 < AYY &9 AT ot fier de Aae 37
T . wiHT feg fiHer 9w Fae 97 f9./19423 »ufare J1
S ug fioImt Gergaet fEo fer 9ig €8 3HT Agdt fimrs fid3r J<ar f
WAt fog ot Aee f9 ufgasuset 7Y I A odt | wiHt feg He 3 98 97 fg
@_Uﬁ_ﬁ’%”@%ﬁﬁﬁﬂwmﬂaﬁ (Deductive Reasoning) 9 ETl{@HT
gad J7| Bergae € 39 3 Gurade 9 &g wiHl fom 91 <t uz3™ ot dist
& 19423 wigm At J 7 s 1 must 399 (E81S) € et it fer & wigm
At He fonm I 1 fer grar f&g wirt for 918 3 59 @ @ 36 99 9J JF fa
Had fEq ferw qas 3T Ifewr I 37 g fire 3 udae Bt wirt fsamiasaHa
3JI-AI3T (Deductive Reasoning)?mmwméwlmﬁﬁfeﬁm
IS HI3eYaE I fa form 3ga-Ha3t (Reasoning) At Yfafamm & yGiar adte w3
39a-Ha3t € feg yfafonr ufgasustet € He 7 35 3 fsggg st Iet Jifeq
&, for 9is < fmrs g grdter I fa wag vt 953 ufgdsusT &7 ganTs
Jaral 3T wiHT 9183 fife 3 < ud9 Hae I
YHSTEHBTAL.2
1. fa37 Ifonwr I fa Ardvt %id3T aTHe™s I8 W3 He B8 Affa wiaz J1 A€ 99
f&g gt ot fiter o= Fae 37
2. fazr Ifomm I fa € ufgna Aftwre’ €7 geses Ufaid I w3 He 88 a3 b
UfIHH I 3T ab € g7 IHT ot fHe" 9 & Ade J7
3. &3 Ifemr I fa muforw Hitmie! &7 TRHSE QU (YATS) MATS (non-terminating)
M3 MENEIZT (non-recurring) I M3 /17 fed mufgna "ftmr 31 /17 € eaHse
YATd g7 mHT ot fier 38 Aae It
4. FEzT I Ifa y=v+6M3 x=— 13Ty U B T T fTTHt ot fHier g Hae Ii?
5. fa3TIfem I f3 ABCD f8d AHIST 93997 I M3 £ B =80° 3T ANSJd 93dgA ©
gt det @ g7d IHT ot fHer 9w Hae 37




352 Jifes
6. f&37 Ifemm J fa QRS f€a Fadt 93997 I w3 fere fedde f€a TAd &
AHEITH3 Jde I& 1 93d9d € g7d AT ot fHeT de Aae J7
7. &3 Ifenr I fa Ardort nigma et p € BEt[p miufone I w3 feg & Hs
TG fa 3721 f&a wigm At J1 ot 3Ht fog fifer dg mae J /372 B
wUfaie "t 37 faQ 7 fa6 =dt?

Al4 SHIYT (conjectures), YHW, HE3 M3 INfE3d II-HAZ T

fi39 A1.2 '3 fegd 94| ufg® Tag '3 fea
ffg J, grd 999 3 © g 75, Fmo 3 f3s
wfe | 99 fe'a nfast & fent & s
T ATt Hae dutet fa st arengt I |

I3t I 1 it fegst & fare Aae I9f w3

e 3t § Agel &9 feur mae It AT AL2
397 Jot fefummfom famr I
et <t At fafiout < wftor (W39)
1 1
2 2
3 4
4 8
5
6
7
3973 &9 I3 34 fer 53 (739) § Y3 99 Ad Jedi fiAe Yudr a7

et =t Hftym Uzt I 3, Y39t € Hivmr S 7 AdE 991 3976 W JeaT
fa w3 1X &9 fom 39t © gUH3 yde wioHs & ‘diagd’ faar fam J1
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He B 303 drdgg feg J fa #ag J99 3'»' fig g3 I8 I 37 feast
fdentt § 99 € Hae 33t o7& e 2 viyr &9 Wisar-mEar U39 ged
Io | fog B9 393 HI3 wigHs Barer J| feg 2ftmm 77 AaeT I fI Addn =5,
I IS 16 U373 Yu3 Ie I5 | fen et 5 fewt © et fon §39 € A9 99
B‘Wsﬂgﬂﬂ'ﬂgﬂ?aﬁﬁnﬁnﬁ@rﬁ?ﬁrz lmm?ﬂa—o’fmw
U?Wﬁ@ﬁﬁmf&a@ﬁgﬂﬂ'n 25 wel fen & fan 397 wals
&% g Haw T, Farst yHAfenr ot S24ft? fem 3972 yrst w €739 YUz 998
T BEt 378 fEa fen 39t © Ay & #gd3s Jet I + fost va feg yeafis J9s
< et fa fan (%) ‘n' T wEt fog ufger »iAes J wier J, ffa 85e B
Jer grdfter I I wAg &9 Had 393 e flan I w3 n=63 feR g U3 995 &
W3S J99l 3T Y3 IJ91 fd n= 6 € 31 ¥33 € I& M3 n=7 BE 57 U39
ﬁ%%l%ﬂw%@ﬁm?n=6 %@W@WCounterexample
J1feg 35 €5 Gergge €t Ha3t & udeafis gaer J1 3978 we 9T fa a3
X &9 fer 95 <t 99T oIt ot /it fa fan 9as & gor fitu a9s © =et fa &
€5z Suags w3 I 1

for 915 <8 3HT Agd fims fesr Jear fd n=1,2, 3, 4 M3 5 3 ufga & e
ﬁumﬁwéwﬁwwmmémgﬂaf@?mw@ﬁ
9 99 Graaet BE (nftmrfe 5 9 RIS 9R) Jot R ufge () 3 3t
TIIAE IS 1 4243+ .. +n= ”('HD feret Ha3T & AETiU3 995 © BEl 1
=1,2,3, Wﬁwmawmmﬁraﬁaﬂ'wﬁ@ﬁwﬁmw
T ‘0’ & I HaE I8 st © Bt feg ufgey (a3t He & 9 (fam 39t fa Gug
T EEI9E &9 n=6 3 ufgan (531 »ires J wer 3) for et i fa for 39t
© Ag3 €t 7993 I + fon € ot fast v merfuz 99 1 St aHrst fieg 3t fere
AY3 ¥ Mitmis 99T

g f939 A1.3 '3 fegg 99, fe' PQ W3 PR

fg P 3" Jag 3 fudhif Auar Juet I | 2
3t (faGan 10.2 €9) feg i ag ga I fa p

PQ = PR J 13 for 397 € wida f939 g I Harg

AUTH Ut Et HUwT greit Samemt emrdT 99 R

ﬁaﬂﬁﬁﬁg%ﬁm(ﬁﬁ)émﬁ?% 39 A13

I 3T H3HE &It IE At
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ot 307 wre J fa mg3 feg dt-dt /t? feg agst (fam & 399/wsts afde 9s)
%ﬁaw@){(sequence)?mw)ﬁ, fam feg 99 f£ 9 9us, FTE!B’%‘U’LI'FEJBT
YHTfE3 o3 77 9o 7 fHT o3 77 gol At 3I73 ©TdT SISt It deuset 3°
Y3 Jer J, 3Ht S 73 § 986 PQ=PR 38 ¥3H Id J I OF 98 3 fan
& 3t fHa 9T 9de H

Ag3 € 39T 995 ©f feg ot fedt It I

I wiHt I3 Qergget w3 faGont '3 fewd Iafal w3 §Jst © A3t &
fengne Jatal fans™ wé feg 99 39t AHs< few AarfesT vdstt fa feast €t
9o fam 39t At At 1

W?WW@ﬁﬁﬁwm(deductive)w@W?
Hg datal | fer fedt f&9 »Ht 993 A9 998 Un d9¢ If | 99 €9 9us fuss
Juat 3 Wufas der J1 vdd 99 fEa 98s 399 &g Adt I [3< ffa war 399
J] 3t fem % At fiter yuz Jer J1
Seragzs 10 : € Ufanw vttt g 893 ffq ufanw Afuwr Jet I

1Y)

J&
SE{IGE ES femgne/feust

1. Ho B8 x w3 y ufonw Aftmet g51  |faGfa =3taT ufedw
Hitmer 2 919 f&g 3, fer
SEr wiAT x M3 y 3 HI
Jae I 7 fg ufgrw g1

o m N _p ~ o .
2. HE B, x=— n=z0m3, - yfgHa Hitmiret gt ufggmr
n
q # 0 T8 m, n, p M3 g iy3s Aitet 98| | ufggmr § <93¢ JT |

p _mq+np
q nq

3. fem et Xty ‘—+ fa€fa a3tar ufanw

HAiter e Az 2 g J fen
B'E':f”fﬂcl;x+y'§5'_€_rﬂ+l




feust : forrs fe€ fa Gug € g3 v 99 fEa a8 ufgst 37 rerfuz o3 are &t
A" ufggmr 3 wafgs I

Gurggs 11 : 3 37 It I9 €I wigw Hitmr 6k + 1 7 6k + 5 U &t Iet J, g
k o migs Hftmr 1

~

J5 ¢
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feust: @ ug & Gerage ffo W ar-mIar feasut & 83 3 gmie wirt fie 3
yJdoe I7 | fer fedt & a2 9 Hua8E ©MTaT HY3 (proof by exhaustion) IfJe TS |

- - - A
UHE ALl (ufeamdien yiw = €82 ) :
Had fEa f3gm =t f€a g €t Saret =
TJI1 97T & gATeT ot BIrehT & eddr &
H3e® & gd19d Je 37 ufast g7 @ Heny
JE AHSE JeT JI b = c

IS filzg A14
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7. IE & wrt feg wanfen I fa ufgst 37 U3TYHE & BT
AC = AD W3 JI&T & WGH™d ECrNE]

BC = BD W3 AB HIST J1
fen Bt SSS € WEHTT AABC = AABD

8. fafa AABC = AABD, fer Bt ufgst AEfus 38 €73
Z/ABC = Z/ABD # f&q AHd= J W3 334 HaT3 fsamHs

feust: §ua fie3 e g9 € ufgen & fea erd o5 B3ty uar &8 fifg i3
famr J1 fegst B vI3< J1 Y3 © 99 €9 yar fuesd uar w3 ufgst 37 uz
A3 9re ufgent 3 YUz Jer I (YHw 6.9 <€) |

Y& A1.3
Jat fe3 91e 99 fea Yrs €9 3978 f¥a a8s i 998 © Bt faar famm 9139 fea
AE3 &9 Yuar i3 91 Ag UdT €R W3 Idd UdT (J9<) € J1dS < eH |
1. fHT 99 f3 € FH=Td o7 Aftmwe 2T 13, 4 1% I791 Jer J |
2. & ®A31d 2id HitweT B | §IaT € 2ddr € 13e8 U3T 99 W3 feg ufge
(a3t) &9 6 73 fe€@ | i a9 fa fem 33t YUz i3t aret At Aer (gnm) ot
8518 gTaT Jel J
3. 7499 p> 58T wig™ AT I 37 fey@ 3 p2 + 2, At 3 =& 991 It J1
Haz : Ourgae 11 € ed3 dd1]
4. Ho B xm3 y ufons vftmret I | feu© f3 xy fa ufgre Afewret 31
5. HIJ a3 b TS HYIS Aitet 96 3t 3T Aree I fd a=bg+r,0<r<b, 8 ¢
f&d yge Hftwm J1 fifg 99 HCF (a, b) = HCF (b, 1)
[Hai3 : H& B HCF(b, ) =h I e € b=k h M3 r=kh, o8 k M3 k, AfT wg™
(co-prime) I 1]
6. f337 ABC €l A" BC © AHT3J fEq duT gAef ABWMSACE @HRI DMS E'3
v = ~ - AD AE
dedt JIffuad fa — =—
DB EC

A1.5J8& T YSS (Negation)
fer grar &9 wrl” fer 9% '3 9997 ddial fa fan 98 € U3 Jdas = of
e 3, g 9o A 7 3w e 3% 99 Hat () 3w o
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T grde If, figl € AarfesT o il fegst Haguaset & WAst 575 AHS
Ao I I A 3 ufgst for aus § fea fearet & gu ffe Beie »3 fernd o
< TElY | @Egde © B, »HT J8s ‘1 ASEd, 2005 § o8t f€9 Taur Jet A
& p €9 ygre 99 Aae It fen & fen 39t fou Aae of

p: 1 7A399,2005 % fEat fd9 eaur Jet H
fen 33t »g wirt feg & fau see
: AS iftmiyg fersdmt Is |
Hifed € I3 €t ug TSt J1
2+42=4.

t: f337 ABC AWgHt 337 J1

feg Hd3 Ag duat © 91t © ¥7d 9997 996 e AITE3T dde I& M3 fer
918 &9 & AaTfesT Jae Is fa »irt fegst & fam 397 fedsT 99 Hae Tf| B
&g it @ust aast T wiftmis 9ataT fist & 7S d9s faar Ater I w3 amie
feg fimfaz (Compound) 8T =7 wftris IITaT |

W Wit JaT fa 3t Arget 3 fegrg adte fan feg wiHt &3 9¢ o9 ¥ 3gs
3 feq a< 995 & 39T datal |

v o R

HS JE6 &< JES

p: 1 ASET 2005 § ~p:feg Hg &4t (33) I fa1 fadea

fegt feg aur Jet i 2005 % fEat f&g Tgur Jet H

g: AT wifmryd feradmt g5 | ~¢: feg He =t (33) J fa A
nitrug ferzdn g1

rHfed € 93 € Ug I3t J1 ~r: feg W &t (33) I fa wifea
T 93 € ug TEt J1

5:2+2=4 ~s: eg He &t (38) Ifa2+2=4

. f337 ABC AHgt f337 J1 ~t: feg W st (33) I f3 ABC
AHZHT T

Arget f&g 3T famr 99 f¥q o=t Jus Ha3 Uyd'e 986 €7 ¥F (negation)
TN ~p, ~q, ~1, ~s M3 ~1 FHIT TGST p, ¢, r, s M3 1€ U3E I5 I feg~p § &P’
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(notp)uf_g”?l'r Her J| JHS ~p, QF[ gFIE"T (assertion) €7 Y3 9der J f?ﬂ:@ EER)
p afder 1 finrs fef@ fa wust mafea aigas &9 ~p e wigg feag I fa ‘1
A3Ed, 2005 & o8t &9 Taur adt Jet At | feg <t fer 39F 992 AH AS
AeUTst €33 €t Agd3 Jet I I Hge J fa 3Ht feg A Hae I fa i3 98 9us
&9 far War g 3 des HEe ‘&dt” B € &% It 98s T U Yyu3 o3
T HAET J I3 feg fafgnr € Hdu &9 3t g I AfEt I Y3 wafas Gr e’
Jet I 72 W 9Es mee ‘Aot 3T Hg Jer J1 €vade € Bt 9us ¢ A9
ftmug fersdnt g 3 fegra ad 1wt feo faar I fa fer sgs 27 d3T ~¢:
feg 35 I fa A wiftrua fersdmt Jetmt I 1 feg a8s & edar I fa g9
wftua fer 397 € I8 7 UdH I | M g fog edle fg Aag wiHt ¢ fes
ey &I war fée 3t ot Jer J1 feg wd feg gs yuz Jer I fa "
iy ferzdvt st I&" 7 wirt” feg 986 Y3 99 Aae I fa' sdt 9%
A wiftrua fersdn 1ufo® Jas 37 89 984 &g U Fae I, feras feg
g fogger I fa 7rd mftimug yam I (Rag wirt mee ‘Ad” 3 #a fee )
feg fonfaz ot ¢ v ¥a st I W3 erg 988 &9 ~¢ T wgg Yu3 J Aer I
g we I we fed wiftmmug for 397 w7 I fersdt ot 31 for B¢t fan Jgs
T U3 fgue A" Areust @93 ©f wga3 Jdet J1

I wirt for 9is T fager fae gdte fa w dse wrt uuz o3t I 89 vt
J At =t | fere st wit Jat &3t At = e gae It

%@pﬁ?%%@~pﬁﬁ?ﬁ3€ﬁl?~p§3ﬁ?%ﬂ@‘ﬂ% pﬁ_ﬁ’
JeT I3 ~p HY JET I Y p IS JeT JI

Gurgde € BEt wag feg WY J fa wifea € 93 &t ug a8t 9 3t feo 35
Uﬁwfeaesﬁe?ugm?ﬁﬂ'mﬂaaﬁmssaﬁmaés@'ﬁugw
U?%%Uﬁmeﬁﬁﬁaﬁmﬁ'm

mwms@t@ﬁ%mﬂﬁt

$:2+2=4; 43T ~5:2+2 24
r. {337 ABC AHg™ T, ~r: f337 ABC AHgHt st J1

TS, ~(~s) St T!ET 2 +2 =4 IS 7 1 5 T M3 ~(~) ot I?feT 337 ABC

AHIH 3 I'e ¢ Jear | for Bt 7 et J8ap I 3T ~(~p) Ye JES 2T p I J |
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Qerggs 12 : I &3 Jgat € ¥s< fay:
() Hete & 93 & yg arat st I
(i) ATIDAT wufane Hftwrer em3fed It s |
(i) /2 MUfgHe T
(iv) 99 ufgHa Fftmiet Hygs Aftpet Jet s |
(v) AT Wi yaw &dt” I |
(vi) 99 W3 3J I T |
(vii) for 397 &t adt emsfed Afumr xsdt I A o8 =1
IJ5:
() feg 35 (F9 &) I fa wea © 93 & yg &t st I g wfea € 93
@ yg a3t J1
(i) fog 35 (H9 &) I fa Ardbmt mufons Hfimret emsfed Aftmret 95|
Hitmret &3t a5 1
(i) f&T 35 (H9 adt) I fa /o »ufonw 3 ge./; mufora st J1
(v) feg 35 (F9 &) I fa g3 uforw Hftmret Hugs wfimret et g5 g1e
et & ufone Ffimr Hygs At st 31
(v) feg 35 (F &) I fa Ard miftminud yam st 98 g7 A miftmimudl Yam 5 |
i) feg 35 (e &) I fa 93 W= g3 & 5 I< A9 W3 g9 I3 |
(vii) T 35 (F &) I fa fem 397 & aet emsfea #fimm x st I fm 575
fa v =— 19 ue 3 We g eH3fea Aftmm x J fAre Bt v =—1
feust: €°ya 3t aret 99T 3 fan JEs e ¥sE Yu3 996 ©F I&' oy gran-
Y&t f&wH (working rule) l{rLIB’a_d’H_o(%EJT
() ufos™ ‘=dt” &% Jus 8y
(i) 79 J€t Ha JI< 3t 3T g9 Agd3 MEH AU (modification) I3 AT J |
ferm gu & ‘Aot w99’ &% HEfu3 JEst 31

YHSRB! Ald
1. J&f fd3 g @ ¥3< fay:
() HoY STHETS (mortal) J | (i) IUT/ YT m T AHT3T JI
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(i) fem s fE9 mdd Yaaesht I8 (iv)Adhi Augs At ufghet Hitmier I |
(v) dI% WITH AitpTeT g I | (vi)a et fefenradt wrsHt st I
(vii) I3 TSt a8t st I3
viiiy fer 397 & It Afewmx It I R o & fax = -1
(ix) HfT 2,08 AYTS AtMITa § IRTIIE J1 (x) HYTS Attt o W3 b AfT ma™

IS
2. Jot fie3 e 99 feq yrs €9 © 995 95 | 2R fa gAdT 996 ufdd er ¥se I #f
oIt
() HH3™ g4t I, (i) I3 THSMT TTB8MT T,
HH3™ gt adt I I3 st gt I3 |
(i) AT IE fer® I | (iv) ATd % d1 9970 T3d 8T8 I3,
feq ot ferms =t J1 H™J »idT 9978 T3d &8 adt I |
(v) IZ MTeHt I st IS |
IZ WTeEHt I IS |

Al6 TuS T €we (fagy)

g wHT ¥ 985 & 88 € UTdaT (notion) T U3T Barerdl | fere Bt fimfas
(compound) m?@eﬁamwémﬁﬂgﬁjﬁ%ﬁﬁa@m
JusT 393 J gfewm Jer J1 20 37 THEI3 986 gof@T It wida fednt a5
Y3 feu »it Gast fedht 3 fimis I efgz J9fdl w Hee Had M3 3T & yudl
T © HIS JE&T § A3d YU di3 Aie I8 1 §8Jde © BT a8s ‘Hdd oy
J gt I, 37 Afeas '3 Aer WHfa® I I fE3 € Just 37 gfenm I

p: 2T J It T

g: Afed® 3 AT HAfaS |

IS eF 918 Ho3T € @93 3o it fog Ifg Aare It Had p, 37 ¢ I 1T feg
A AT FAR T p 3 H3BT ¢ YUz e J1m3 ferd mrt p = ¢ &7 YaTe Jae It

IT Vo B8 fa ags feg I fa Fag uet <t &t aret 3, 37 fom feo vie
T U I 18T p = ¢ € qu T I e ufgasusT p I (uret & 2 It J)
w3 e ¢ 3 (25 ffe Wie e uiat 9) | Ha B8 wirt ufgasusT w3 fite &
M8 I8 (Interchange) Jd 2ElE 3, ?%HBHTE%FFHB%%HW@H%W
Jer I? 7§ ¢ = p Yz Jer J1 I Aag ot €9 ie e uiet g, 3t 2
ﬂgﬁmﬁéﬂﬂlfgﬁmépﬁq?@_m(converse)ﬁ@%l
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foriyg qU S8 988 p= ¢ T €8¢ ¢ = pIe J, g p w3 ¢ 995 TS|
fimrs fo@ fd p = ¢ "3 ¢ = p fEa THI & B8< T=1

Qergaz 13 : J& &3 Just & G5 fau:
(i) 73 TS Arfeds 9% It I, 3t 17 MIHI § W3 J|
(i) 7 17 M3 & W3e9 J 3t mHieT Arfeds 9@ It I
(i) Add It IMH It I 37T Grer faaar & J #ier J|
(iv) 7ag fa foradt a5 fHftmr &9 Jmens € fsardt I 3 6/ § uzge &
fermws It 91
(v) Hag & fenaat § efeds HagHE (infection) I 37 €F & 37 gurg Jer J1
(vi) Had wifone Hadt &g I 37 @9 993 &g J1
(vii) 7ord f3g7 ABC AHgHt J 3t §FE Ad »iegat de garag I I |
(viil) ﬁa—o’xﬁa»ﬂrﬁﬂr&rﬁf&w% ?x?ml{mﬁm(non—terminating)
WME-MeI3T (non—recurring)E_lnET JI

(ix) Ad x — a TIUE p(x) T IAEEES J,37 p(a) = 0.
75 : §ug &3 famr g9 ¥ F85 p = ¢ © U © J1 for Bt €32 U3t I9s
@Eﬁmwﬁ'p”@qémwm_}f@ﬁqﬁpm%WI
(i) p: s Afeas 98T gt I M3 ¢: 17 MAW3 w3ed & mider J1 fer et
85c fog I fa 7ag 17 WIW3 W3ed & MiSer J 3t AHis Aftas 98 It J1
Gi) feg () v @8e I for st fomer 8me §7ua (i) f&g fas famrm gas I
(i) A9 It =7 fagar &% J "wer I 37 Q7 9 €9 J1
(v) Aierg i fewadt & ugBe <t fomamz I 37 €W aw i &9 Jmens
ot f3arat 1
(v) 7ag f8a fenaat § 37 gug J 3t €7 § <feds HagHe J1
(vi) Had wifone g93 f&g I 37 @ Hadt f&g I
(vii) 7rd f3g7 ABC € A'd WEgat a ¥979d I8 3t §7 AHgHt f3gw J1
(viii) T x ET THHSE YA MATS ME-Med3t J 3T x miufaner "t J1
(ix) 7T p(a) = 0, 37 x — a TIUL p(x) =7 TS 583 J|
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s fe@ fa fer ofg <t fi3T i3 fast f aus He I 7 Ao adt (33)
wH §ug fE3 a8 a9 ffq 9us v de8 98 fay fe3r 31 Berade € =+,
J&t fe3 qus '3 fegra 94, Had wifare Hadt &g 3 37 Qo ga3 feg I 1 feg
85 HY 1§ ge ferer 88 gt | 3ad wifare 9793 &g J,37 89 Hudt
&9 J1 feg wgdt =t fa feg mer vy Tt 9< €T 9793 © fan gra1 feg & I Hawr
JI

aife3 feu fenm gu &9 fmafest fee 3umd for 3ot et nidat Afastm
ﬁm@ﬂwaﬁﬁapﬁqmwawmfeaﬁ%?wwaﬁa?@m
q=>p€°FFI_U’UI
Qerggs 14 . J&F fa3 qEa = @8 €| g ¥ nfast feg feo <t €n fa =<
H9 J A HY a1
(i) 799 n fea fans FHugs "t I 3t 20 + 1 8 2t yIs Hfamr Jet I

(i1) Adg f¥q em3feq Afunr o erHse YH™d H3 (termlnatlng)U 37T HfgwT
ufgne J1

(ii1) Adg feq f3g=t dur (tramsversal)_é’F|')-I"'Es’_c1’a"cl"?r'ciiB(uEE!cfE;IBTFT_CI'E{??(E'r
= g g 137 gdrgg Jer J|

(iv) Add 8 93997 €t AGHY gaTet =7 Id fod A3 gdr9d Je 37 93d9d
AHT3d ¥3d9H JeT J|

(v) 7dg € 387" AadamH J& 3T @Ist € Ha13 d ¥9m9d Je IS |

1Y)

J&

(i) €5< feg I fa ‘79 21 + 1| €9 <iq Hygs Hitmr 3, 3t » fEa farz Hygs
At gt 31 fog f€a Her st (357) 988 T (Begds € SEt 15=2(7)
+1 W3 7 2 J))

(i) ‘wag fea emsfed A ufenw J 3 ferer oS YArg AiZ der J1
feg €< I w3 feg f¥a 3o aus J fafa uforw wfimr o feq wAt3
a3t yAg €t  AaeT JI

(iii) €F< feg I fa #ag f€q f398t Jur € Juret & fon 39t deet I fa Harz
JT €T I f8g 73T 99799 J< 3T @< JyTel HHT3d demiT I | AHTS IX
=t Ut yA3T & AS-HT 6.4 & wigatd wirt feg v fenm I fa 985 A9 I

(iv) ‘Hdd 8 93990 AHI3d 9399 J 3T ferdi wraHe ATaHS gaTer &r
I9 feg w37 gargg Jer J1 feg € I1 feg Hu 7 (faGav 8.1, a3 1X)
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(v) ‘Hdd € f3g7 € Ha13 d< 9999 J< 31 G AIHamH It 95" €52 J1

feg 995 335 (9 1) J1feg wirt 3973 Qua €3 99 It fa 3Ht fene =t
et wat 8% Gergas B9

YHSTBIALS
1. J& i3 sust ¢ fedn (Bwe) fou
() Tg TG &g graHt 92, 31 Has © Adtg &9 u urtsT (W) fsases sarer J1
(i) Hdd A8t gt Je, 37 Grer fiez I=3938T Baer J|
(iiiy W THE3 § erter fuser 9 3t GF § f3ardt fis Aaet J1
(v) a9 Ue &9 €8 a1 de 3t 89 (A=) Jer J1
(v) Had Aeed fea fagt J, 3t Enet f€a ug et J1
2. It fo3 gust © fedn (B%<) fou 179 fia niadt fev on fa fedw A g wf v
() wad f3g7 ABC AHEZH J< 3T §HE »ud dE gdad I€ IS |
(i) o fEa Ay Hitmrr 2 (feud) Ie 37 BreT <901 fed 2id Augs Hitmr Jet 1
(i) AIdx=1,3Tx=1

(iv) W ABCD foal AHT39 9338+ J< 37 AC ™3 BD f&d THJ & AHES 3 ae Js |

(v) Hada, b™M3 c YIS AT I& 3T a+ (b+c)=(a+b)+c

(vi) Hdd x@y@?@ﬁfﬂ@%?x+yﬁ3ﬂ?ﬂ?ﬁfﬂwgﬂﬁﬁl

(vii) A9d f8d AHT39 9399+ PQRS © fidg fie ¥ Jad I Afg3 de 37 Qa f¥a
wife et 31 i

Al.7 FI%—'F@%UE’WEFF@B (Proof by contradiction)

IT 3d AT Admit Geraget &g ufgamt (a3t €t Haret mefuzs a9s Set
Y3y 39 T YWdr o3t H gE wmEt my3y 399 ferm gy 8 me-fedu
©MTdT HE3 (proof by contradiction) WW%%H@?WW?W
Saretal | wirt few fedt v yuiar miftmrfe 1 &9 wida Aftmet € niufonssT
FETUZ 996 W3 I3 miftment &g 93 YHwt § fig 99s © Set 99 9d of | fee
fer grgeT & AUTC 99 © BEl »HT wdd GETgdet el
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il wifts Ias 3~ ufast W@ wiHt” for 9is 3 9d9r Jdie fa re-feda
(contradiction) ot J1 913 &9 fedu €€ Jur J 7" wé fEq fow 391w 965
p Y3 Jer J fa p H Je7 I W3 GAeT ¥3T ~p < WY der J1 @vgrae © set

p:,x=%ﬁ€raw®bﬁrf‘twwnfw e
g: Hfemm 2 '@ w3 p Bgt & I3t I
Had wiHt fog Ha Be1e fa p A I w3 wirt feg <t g rdte fa ¢ <t Ao

%, ?Wéﬁﬂﬂ%—f?ﬁﬂ (contradiction)l{"tl?ﬁﬁff, ﬁ@ﬁq?ﬁifmﬁﬁ

p € ¥3T WY J1 378 799 feg wre < fa feg wesr €1 @8 wet Ht 7™ wirt

feg fiu 995 = w3s 99 g9 H fa /5 »ufone I1 (S8 wiftmrfe 1) |

Ae-fedu (contradiction) W@EWW&HWE?? WI"'@f‘EV_O(f:_E’EI’FT
Sergae 8 9 for 3 wirt fegrg adie | Ha B8 Ja fefimr fasr Ifemwr 3

AIMT Wd3T STHETS JeT I 1 A R »igz J1 i 99 fa »ias A aHes J1

g feg a7 AIs Qeurade I, feg &t W@ wiHl” evte fa me-fedu

(contradiction) Wf?ﬁé”ﬂﬂ'ﬁﬂﬁ%&ﬁﬂ&%?l

o WG Wil feg Vs mele fg it Igs p &t A-™t AEfUZ ddaT 97de If
(feg wirt feg Tam@er ode IF 9 p: Ma3 A sHES I HY J)

o for Bt A 3~ ufast wiHt feg Vs &2 I7 {3 986 A &t 1 I wirt
feg Vs B2 T fa per ¥3T HY T (3 "d3 A sTHES &dt J)

o%HWP@ETBEE%WE%%WWWWW(deductions)
gge It (faGfa a3 A smes st I fen set Ard a8 * Ardht wigst
sHES 96w fiq §%e Gegde yuz I Aer J1 fem sEt feg He st
(33) J fa Ardwt g3t sHeEs TS )

e Had for o7& HE-feduzT (contradiction)ﬁ?jﬁ%?ﬁ!ﬂaﬂ_&’%ﬁw
oH Yyde 915 Hat J fa ‘p He &t I’ € aras Jer J1 (feg fea me-fedu
(contradiction) I faGfa wHt feg egafomr J fa qga At wigst
SHETS & W3 foreT ¥se f3 Ardh »idg3T smes odt 95 Ao J1feg
Ae-fedu (contradiction)f‘gﬁwjﬁﬁ, ﬁ@ﬁwmﬂ-fezrfmﬁmﬁﬁ%{
A THES &It T )|

o for Tet At aousT B3 I I p WY JaT 9t J (fen BEt A ITHES J)
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Gergge 15 : 9 919 THET (non zero) UfaHT Hftm w3 &3 wiufgre A a7
IE5SS MUfgHe g=r J1

~

J5 ¢
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I wiHt @erage 11 g Fatar, Y3 fen @9 it me-fedu (contradiction)
AT AE3 T YW dT 9atar | ufged Iat i3t famrm J1

feust . €ug 83 ne3 €t Burgoe 3 feg uz Sarer J fa € ufgeH & mida
fedhnt = fifg sft3T 77 Ferer J1
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ufgie A1.2 : Rq Rig 3° @F dur 3 7 for g 37T 3 ad” Aiet 3, Rfgwt &
8Bz o8 A9 JysT feg” AT 3~ a7 duTds 9uT '3 85 Jer I/

AE3 : P
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YASTEST AL6

1. H6 8@ a+b=c+d, M3 a<c 3T AS-fEdT (contradiction) TMTIT HES T YLIdT
Jdd fea feu 8 fa b>d

2. Vs B8 » g ufgnw Afemm I w3 x 89 wiufanw Afuonwr J1 AS-fedu
(contradiction) MTT A3 T YWdl Jdd fed few§ fa r + x f€aq »uforw
AT I

3. AS-fedU (contradiction) ©MTIT HE3 BT YW dT ddd feg fiu ad fa #ag fan
HYTIS AfeT ¢ T BE @@ TRz I 3T o <1 fams e 31
[Ha3 : Ha 88 o iz &t 9, 97< fed 20 + 1 € gu e J g » 89 Hugs Aftmr
w3 feg mar <)

4. AS-fEdU (contradiction) TMTIT HYI €T Yudl ddd fed fHg 93 fd a9 «
HYIS At € Bl 2, 3578 I791 Wal J<, 31 4,133 I7aT WaT J<ar|

5. A<-fedT (contradiction) ©MTIT HE3 €T YW dl dad feg feu@ fa e fem 39t
o1 JET H® adt Je7 faRe Bt 60 27 viftdsT wig fieg 9= |
6. A<-fE3U (contradiction) € YudT a9d &g fig 99 fa mH3s &g © Juret
fea 3° <u fdg 3 < o AaEt I51
Al.8Hd
fer wifzar fag, 3 Jo fou safswt e wiftms 137 3
1. fIH AE3 © MBIT-MB I WA (ingredients) M3 7HTI IX &9 U3 IE Hefuz
HasU|

2. fom qEs v ¥3T |
3. fom 3gs v fedn (8%<) |

4. AS-fedT (contradiction) TMTIT HES |



INE3T [EEIHE Mathematical Modelling AZ

A2.1 gfiar

o 8 TT®aT WA At &9 Bargdr 1,50,000 fS. Ht. St aHasHt w3 figret
Jetit s, filst f&g ys gser J1

o WY T few Adta e Yt 60 Afds €9 5 37 6 foeg 39 ys Yy gger afder
JI

e HIH T HIT T IUHS BT 6000° C J |

ot o6 fog wed Jaat It I fa fam 39t A3 fefarmat w3 aifes
fefammat fegst fiifowr &7 Watae a9 Ad 97 ot §aat & 99 g5drt € fiza
Adtat f&9° aHaht w3 firgret & grgg d€ o fegst & Saret anft 97 ot fos
orgT Y3t Afds Yy o3 9 ys & W39T u3T 995 BEt Adld 3T ys 99
dfgntr I7 ot Har € IUHTS U3T 996 BET §IT 3 MU 3% HaHTHied B o
How 39 €t w3ar A3t 37 fanfgz It fom 39t st Ifenr I feg yus feg e
Jer 3 fa Qust & et wiadfantt § fam 3gt yuz i3

forfas It ferer €739 ife3a fawans (Mathematical Modelling) € »ed
wEET J, fan &% wirt A3 1X 89 30é 1 99T gd I TS WE I
fa gife3s foedns (Mathematical Modelling) MA& Hies f&g A3t far Afast er
gife3zd feede der 9 W3 3978 feg & we JSor fa arfe3a fowans
(Mathematical Modelling) fam mHfimT &1 9ife3d fsears yuz J9s & fia
3dtar I1 575 It mefi e ferdne 998 w3 I8 J9s &9 ferer yuar i3
Hear J|
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fen =et, gfe3a fovans (Mathematical Modelling) feg, Wit wins Hies
&5 g3t fan mifimr & 3T IF w3 wirt Erg B 33 arfesa mifir &9
39t® 39 &2 I 7 feg wHt Iifefsa mifir 98 J9e af w3 fere I3 <t
fortfin wiis wor3 89 13t mifimr € 575 d9e If i3 feg feg Tye Agdt
U%(’{"UB’EI’&SWU 7 fsEaHs (Model) € YHTES (Validating) o fig
U J 97 @W frg oifesa foeans (Mathematical Modelling) 9J3 frmmear
HI3QYde J, I fe3 I
(i) fea mfad res '3 fan =<t € Jwret w3 I3t Uzt 99 e
U™ o7 AT AAET I |
(i) TI3t w3 I3 T[ft € I9 T wiewr BargaT|
(i) T3t w3 fart 99 I[f &t fegarast gdt Uz aga|
(iv) far ©n €9 veHs W8 © ¥9 ufgs 3 SR
(v) A Higdte € yfeast (Trend) o9 ufast 3° €raT
(vi) far fenast € Adle e viems ¥s (59) © mfe3s Tr usT sarge|
(vii) 10 A% ¥e fan "fga (s919) &t waret g9 ufast 3° EreT|
(viii) I TFU3 Tt Uit <t fare3t 379 wiemr Sarar|
(ix) fan Afgg © e@izs &9 e MSBIT-MBT YgHa™ T ppm U3T J35T|
(x) T3 €9 YgHa T YyI'e U3T J9aT|
(xi) HIW € AT € IUNTS TT nigHT SIrGIT|
fer wiftrrfe fég, wit arfe3a fsgads (Mathematical Modelling) =t
ifafonr €t feg 3 gaaret aatar w3 foer § AuRe 998 SEt wrl My »H e
© Hies o% 93 I3 Bvrade Beidr 1 3791 A2.2 &g wirt f8q fsgams (Model) ©
fsaHe a7 HEfU3 ATd Ualt 37 3978 A Jaereial | IraT A2.3 &g »iHt wigar
39T © G¥gge '3 9I9T J9Tdll IAT A2.4 &9, wAt Iife3a foeans
(Mathematical Modelling) T HJ3< o8 HAfg3 Iidet '3 fegrd Iarar|
ﬁaﬁawwﬁwmﬁnmwﬁﬁmw
Fg&r J, fam &9 9ifes wins fileaft o gt mifiet § I8 995 &9
AJTed E_IET J1 feg & gfezq foearns (Mathematical Modelling) T HJ3< 'c§
WS &9 AHST © Bet 3078 I1fe3 e g9 J9 fams Jer Agdt Jer J1 <5t
3t 9 3978 fen % Hefiz 99 Gegde Sy § fisadr|
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A2.2 Jife3a faeadHa (Mathematical Modelling) € UdT

IX 73 &9 wirt feeans © Yuar &% Hefus 99 Gergdet '3 fegrg oi3m H
of fegst Gergdet 5% 3ud Yfafowt w3 fer o7& Hefuz uar €t g9 Hud
gt YUz IEt /? wg wirt ife3d fseans &% Hefuz Wy uar '3 feg 3°
fegrg adte |

ugr 1 (mifienr AHgET) WHS AN § ufggTiz 99 w3 wad 3T B ANg
&9 o 99 94 J 3 fegst mifimet '3 fegrg 99 st & IHT AHSE 97de I
@Wmﬁﬁm(factors)éﬁgamél{éﬁwwm
&% fd AHfT & YEus o3t 77 A |

Serade 2 B, He B At mifr foq ste feg Hahit <t fare3t = wiemr
Zarge &t J1 few feg Hge st I fa 99 fea Wet & €3 o g7g9 dfent Ae w3
feg Gaat &t foreat izt we | ferm 39t & AfEst &9 »irt Hafes fea sHa
(sample)%na%ww@fgnﬁw&?wsﬂaéwmwa@ﬁ@?
WeHT BIrg € W3S 9d HAE JI7

udr 2 (311"3—53 TITE M3 EB'G"]HGE) (Mathematical description and formulation):
AT € wIBa-mBar ufggntt & Tdes difef3d meet &9 991 B8 &
Jife3d gu €9 T9es 995 ©f g3 feuh feg Ta:

o 31§ Ufgahs a9

e AHIIaE AT MAHG3=T (inequalities) foyg

o ¥ia3 feds 33 W3 Qs § Adet qu &9 feds dd

o MBY (q'€) TTTE

e HIE&TET (probabilities) € IEST I

Qurgde € 39 '3 fa sysT 8 o faw 397 fa yar 1 &9 S fapur 9,
i Hehft &t 9 forest & »iemr fan 39t gae 17wt ayd € 39 '3
TEMT grEt HEMIT & fermaut Sarge of w3 Gast & gret Haht © 75
dfge Bt gis &g TargT &3 fee of | for 3 g garar §1% f&9 Wt e fiq
J9 3H&T T It w3 feg Tue It 9 fem a2 syd &9 ufast 3 famms Saftmi
fdaht Heit I | fag MaUT3 M3 AHTS WEUT3 B YWdl Jdd WHT Heit &t
I farest = wiemr YUz 99 Aae It @erade ©f sEt, »ig st 897 wirt
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20 HeMft g f&d syaT et »3 §H §ud formst sar@e 3" gmie BJat & BF
S5 f&9 23 2T fan o8 fg 89 sts &t gt Ha o7& i 7 | feg Haht
< fer fimfaz myg & mrt € 39 sver (He B8 50 Haht &7 sWer) 82 I
w3 Tye It fa fom s sys 8T ufast 3 fammat Saftmt Heht €t farest fdat
J1 fer 3wt WS wigs feds Jae IF w3 Gast T fendne dae It
feg wit feg He o 98 I fa fommat Satmt Haht grdhmt Wehwt a7
&g s gu 29 firs Aiehit 95 W3 7 sysT »irt '8 I 89 Hett & 9
farezt = & Jar y3ifsu J1
udr 3 (Srfesa mifmdr I 99a7): feg M1 W& aT IIfe3d 33t & BT ddd
yar 2 &9 feafis it ot now aifesa mifimr § 98 o3 Ater J1
Gurgde € B Ha BE udr 2 © GEJgde € THJ BHG €9 5 Hamit
fiseet o 1 e et o <t s i @ =5 9 - feat fa
%|ﬁwﬁ3§8ﬁ@@qﬁgﬁﬁ%?%ﬁﬁw(ﬁ@)@%=zo.
fer 3et 98 AsAfum (fare3t) = 20 x 10 = 200.
udr 4 (I <t fowfion): fUgd yar &9 yus o3 9e 98 § »iHt iAs Hies
&9 o=t 6w nfest € Hegg &9 &2 of, fam o it uar 1 189 g3 i3t vt
SeTgge € BEt udr 3 & AHfodT T I8 995 '3 g Hemit &t 9 & farest
200 Y3 JET A
uar 5 fewans &t YrfeasT (Validating the model) : I& WHT BImTst AfEST 3
R WEE If w3 Tue I fa Jifesa fedt s/ yuz i3 9 ufge Arafaa
IS 7 5T | Had Aafad I8 3T wiHt foudns (model) B Yudr 8¢ 39 dde Jf
e 39 fa 3t g yuz ot Jet 9 At Iyset y=afzz I At I8
I¢ d¢ HIBIdde © Hey &9 It areht asuset € ade difesd
faGar &% AN »iAE! mifim © Agdt ufggmt 3wt efs gfg Aae of | fer 39t
it wfaSnt &9 I8 wirgz 37 J2 3 Jer 3 w3 wiAs Afadt f&g forer It
g &It JeTi Hag fen 3gt Jer I 3wt uar 1 & gt arehnt asysTet
3 gugT feurg J9€ IF W3 I 99 I9dt § B o fast & ufast st fomr famr
H, ot § em3feq g fide If
Sergde € et udr 3 &9 it Heht €t 98 Aftpr & f8a wiemr yu3
i3 H feg St oo s Heht &t wirs mftm odt €t I Aaet| g wiHt
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feg Tue If fq uar 2 w3 3 & 99 T9 TII8E M3 YU 13 I UfgaHt &
WA BT '3 A IS AT T §3H riemar YUz Jer I 7 st | for s Wt
=t Hftprr © f89 €73H viemr yuz I A

Ife3a foeans <t aran et § Tue = fia Ja fedt 939 A2.1 e fouret
et T

WHS Hies 78 g3t AT

HIS dd

AT & ife3d gu €8
EClLSY

Y

AN I8 9

Y33 99

WHS Hies feg a3t Afgst
@9 I8 <t fenrfionr
(interpret) I

Y
ot I8 WS Hies o% 743t
< Afgt § 9fde 99 T
J7
fasgA2.1

I | fsmars (Model)
Sugazs Ji

N4

I8 df AI83T gadl duT € Bt foednd Addidde W3 HU3T @ o9
A38S I3 d JuST 9de I | BT W a9 I f3 Sargdr maEhs 2 fEs
sadtd 9e fa 9% yarst 9 a7 37 €730 ufgey €9 Jer I fam o feg
gfedaret i3t 77 7 fa »igl St I<9 A7 fAH 378 WTH HU3T € &% UfgeH =t
e J3T 7 A | W 399 fa AT & A9 gege € Hew 8 A
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SISt IrEMT MBI MBI TBUSET ST MBA-MB T T6EdHS (Model) YUz J
Aae I5 | fer wEt It € fauams (Model) UTs (Perfect) St JeTi g9 €734 7f
g3 for 37 <t foedrs J Hae Is1

UHSESHT A2.1
1. Jat fa3t Afa3t '3 fegrd 93/
Sgget et e Hd feg fZ‘B'QFS"HS’ fegaH? (Leonardo Fibonacci) 3 ’a YHS
=7 fod O A3 89 48 Yadim J Aiedl Ae 1d IHT de8 € YJdiHT 3
HIM3 J131 i w3 68 e B6 fd f8a 737 Yadim I Hld o e7 fia
H3T JaT JgeT I W3 YIGIH €7 Id 8d 73T wyET YfasT §97 @ Hdls &t
BMa &g Yer ager 71 HdlaT Y31 HAaT yaaimt € #fsnt e Hfawr figa
W3 YIS Hdld 8 85 @ lUEd & I3 29 Yadie e7 73 g7 J/
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31 16 HIl&HT 97€ T3 58 HIH' € BT 1600 73 YUF J /e I&/
e mfg=1 @9 AT €7 w3 FIfe3d 58903 (Mathematical Modelling) €
WEBIT BT YdTT &7 FUHS J85 18|

A2.3 g3 feme’s
W & wHT IIfE3s fosedrma (Mathematical Modelling) € I3 Berade S|

Guraas 1 (g 7z umr Hea): Ha B€ 33t miftwfuar 397§ viemwr sarge
wet Jo fou ¥z ot g3t fodt I fom us &9 €9 f¥q 73 umr gaaft |y /e
e 3 ufgst 397§ feg wiemr Sarfer dear fa urfimt 3 mrehwt Aftpret &
73 ot <9 I At €739 g '3 398 © vid Hsed w3 a83 €39 T 3 393
T wid dd Aradl | faggt Biimer °Hg 372Ut wigHs Jaaimi?
Is:
uar 1 (mfe mgE) @ 3978 93 fer 39t St Hitmret w u3T JaT Agdt ge
J fagt = Uit 3 wrE e Huer 78 3 €0 Jer J
udr 2 (m EEIEG) (Mathematical description) : Jfe3d qu feg feo mifwr
U™ 3wt Hftmiet @ WS AT-m&aT Age 737 e Haea=er 3T 9%
&9 ugedfss (gv®) J =t JI
Jat faz 36 Hiim Afamt &9~ fEa fegsy & gu €9 Tar o At I3 A9 QU
&9 Afazt & =9 Fae It

(1, 1) (1,2) (1, 3) (1, 4) (1, 5) (1, 6)

2, 1) (2,2) (2, 3) (2, 4) 2, 5) (2, 6)

(3, 1) (3,2) (3, 3) (3, 4) (3, 5) (3, 6)

(4, 1) (4,2) (4, 3) (4, 4) (4, 5) (4, 6)

(5, 1) (5,2) (5, 3) (5, 4) (5,5) (5, 6)

6, 1) (6,2) (6, 3) (6, 4) (6, 5) (6, 6)
J9 fea 73 =t ufggt Aftmr ufad i '3 w8 et Hftmr Jet 3 w3 grdt
At €R9 U '3 »i@T ot At Jet J1
uar 3 (Srfeza mifirnr § I8 99s7): €ug © 99 B A= it Aftpiet & A3s
IAFfe3I A3 T U €9 2,3,4,5,6,7,8,9, 10, 11 M3 12Yu3 Ie I&1 feg Hs
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o fa A3 36 A AH-AI=T (equally likely) I€ I8, A fegst f&9” g9 fia <t
HITEST U3T ddal Jet J
feng wirt I &3t Araet € gu €9 Eor Hae If

=

a3 2 3 4 5 6 7 8 9 10 | 11 | 12

o 1 2 3 4 5 6 5

4
HITES 36 |36 |36 |36 |36 | 36| 36| 36| 36 | 36 | 36

Y o 2 - o 1 A Y b o . 0
feg 39¢ fHeer I 19 7 € 13 Yu3 996 €t Haea gzr?r%raatr&mn@g

73 ¢ U ff9 yu3 995 €t Ages 372U J

Udr 4 (fl"&' ot f‘anrrﬁ:mr) (Interpreting the solution) f_o{@'%( 727 Y3 dda =il
AuesT A 37 <0 J, fen et 398 Aftmr H3 € wigHs (wfem) @9 @9
BarQer grdler I
uar 5 (fseans & yurfeasr) (Validating the model) fEd w3 utfimt & 9t @9
He w3 ¥ Agfgs g7dgd3T AdSt g8 | AEfus g7dgrd3T €1 38&T HaIZ
HIese! 578 od | Had fed EAd € srdid & Je 3t for nfest g uw Hafes
& UHZ (biased) I 1 fed GF Hftmm €7 Hg dee € et il wigz yuz a9
HIE I7 1 8 UTHZ (biased) I5 |

I Gergde B 3 Ufgst wé fere a9 fU8d3 (background) & famims Jar
Agdt J1

g3 A9 Jat ©F fed Wi 39 '3 migee J fa 7e” Gost & UR & migas It
J 31 QUst 98 BITT IR 3t I2 1 IAsT Hies Tt Agdt ergnt § vdtes € ot
T MIH Tt Tt ydlee & sEt i Uit €t 7iga3 Jet J1 Aded, efam,
o ®et feQurdntt & fams urs o8 €t Urs g8t I
fegd3T fanz wmer & gT J1 fans wnsT © 3fg3(W399r3) en3 udtes A
Ond eng €t i3 © fea gmar (fIR) = It 3913™s 9T Jer J w3 grdlt It &
ga3's faust f&g i3 77 "aer I 17 fa wdtererg, faurdt, fenrdt 7 Argrsr 3
Aot J1 9%, € 9i% Agdt I fa fanz wmer € 3fo3 ydteea § g9 <a ot
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I3 g9 Jer J | fagfar gmie et 3dtart &9 (fam & W3t 991375 (deferred

payment) fadT AT J) I35 13 AE © TIE feqd3T IF fo™ TS daeT J1
&g @ng €t sare W3 €T us It Jet I farer ga3s arad & @R3

ydlee AN 9daT der J1

feust: viag O3S WnsT fer 39t & I° fa gt usamH! v yar gosTe

S & wigd-wied It 99 fa3m mier I 31 fon 397 <t mfadt &g gafonr gasts

(H&3<t ) '3 AUTIE femm SarfenT TieT J1

yg'e AN €9 Jod € gu &9 et oret 9t '3 Sare e form & »id 39
3 991 &JT AU wrer Ht o7 39 fa ferm 397 99 Hardt | fewma €
FIISTS BH HEfU3 66 3 g9< ©f fea fedt feg At fa ggnm feq vear fee
fomt Ater Ht w3 F91376 Rdt HedT &9 o137 Ater At w3 fer 3af fenm
fefsow €9 B AT H

e g wHT 8 AEfus aife3a foedrs mifid °3 fegrg adte|

Gurggs 2: gt €9 wfeas ydtee grdet 1 Gre wet 89 gmrg At I w3
Tyet J fa 7 Arfeas €T ydtee vrdet I Gnet stvz %1800 J1 gt 9% 600
I5 | fen et @9 gaswg § feo enet 7 fa €9 fern nfest ffe st I fa €9
fer " Arfed® ydle vd | 837 gg3T formg ar@e 3 e QU gdt § ERe
fa 3600 e T o W3 gel Us IH Tt T 610 T € Hdlered famst € o €9
Aetes ydte Hae! J1ge gt © 98 © feasy g9 Ifde g 1 7 31 9 fams trer
SHE B A 8 I I J90 8 d 7 fa 10% &t g AuTde form '3 Gusey 3,
SITE FAI3'S o9 v 31 eH fa widfaa femet o faazT feasgy <g dar J<ar?

1Y)

J& @

uar 1 (mifr AHEE): gt & feg eReT 99T I fa €9 garserd wmar fE3
e feasu & Hs =< 7 &7 | fore get Gng feg grdter 9 Gg e formm wat 3
e I we, 37 6T 7 fa famz vmer &9 garfenr Afer I w3 g @o A
for™ 89 JArEET I (I 10%) |
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UaT 2 9ifE3d T9=6 (Mathematical description) : ﬁwén@mwwﬁw—dm
© Bet GRg 89 ©oaT Bet e Tt fenm T & 38T B9 TaseTd emrar fast
7 Tt fomm w9 & vy Jor I fmirs 99 far fafar ydt usamft wr gozs foa
'S & wigd-mied 9d&" J1 fer &t 9t 3 murde fowma 2 J=arm|

WHT Aiee I fg Afeas €t aare i3 =T 1800

W3 fauz wreT 3fa3 ga3 = T 600

for et gt stz fameT go13Ts fans wnsT © 3fa3 39aT I = T (1800 — 600)
=3 1200

Yo B8 gdeerd emtdT fen Ae @& erafid famm™ r % I
J9 feq fomz &t us gt =T 610
fomz vrer 3fa3 3936 13 AT @8t s IHT =3 610 +T 610 =3 1220
fomrs wreT 3fa3 garsTe 13 77 @@ famma =T1220 ~T1200=320 (1)
fagfa gat fea wdts 39 %1200 »ue 98 Juet 9, fom sEt

yfa® Hdts & Haus =3 1200

THJ W8 BT H8US =% (1200 - 610) =3 590

THJ Hd1S &7 HBUS €t gt T I 590 +Barfent famr fenma T 20 = Hdteeg
fam3 T 610 = A fau3 |

fer e, fea Hdls =7 I8 HBUs =% 1200 +3 590 = 1790

1790 x r x 1
Je fommr= 31 @)
100 x 12
uar 3: (Mif I8 J99) @ (1) M3 (2) 37 7S YU3 geT J
1790><r><1_20
100x12
" _ 20x1200 4 )
'S T 1514 (8ISl

Udr4: (5'85 <t f‘emrﬁmr) (Interpreting the solution) : faH3 T 3fI3 Bare 9re
femma €t 29 = 13.14 %.
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T ©TaT Barfem famrr femmd B9 = 10%

fer et wfeds ydtee et Ong 9 3 997 T 20 UHE J9&T grdteT J
fagfa »rafae famet 3° feg <u dar I

Udr s (ﬁﬁ‘d’ﬂ'c‘ié‘flp-ﬂ'm?) (Validating the model) fer mfest feg fem uar =
et ferm HI3<e odt” 3, faffa Hitmret forfaz g ifeg S a3 g 8 @
Aoy &9 AU Wug <t a3 Tgaitnt Quarfaaser fsg@s © aae ygret
fewma €9, Hdd farz wrer € fewma w9 37 2 J Ater I 37 QT wiyst afe
g <t Aadt J1

féust : gz <t fonm v T fogams »ust ggnmmst wiers 89 9 w3 g &
YHrfeasT et gmarg ©t f8a mifidT 31 7ag fans farfaz g9s © mgar-wisar
fer™ ©9 f&aH3 (incorporated) 3T famm I2, 3t YfeasT fEa HI3eUde
AU I At T

YASTERT A2.2

Jat i3t et 99 fea mHfim f88 mifiet & I8 J9s © Bet Iifesd fseans
At MFI-HBIT meREE § IR |
1. feq WI"H'FSH'@'@'F?!'FI? (ornithologist) feq €3 u3g &9 33wt €t farest =
v ar@er grdet J1 fegst &9 I3 & €3 wEt Gu s feg@Et 9
w3 32 33 €3 Bt J1 gt & 8T 8 U o e €3 fodt 1 viars ge3
8T 40 3t et 7w fes@et 9, fragt f&9° 8 €8 @8 I Is|
() Eret grdt uag e fdar gma1 88 @ 97
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3. foaq dt.<t A7 37 T 24000 SIE T F AT T 8000 SITE M3 T 2800 EiT B
Hdlererg farsT € ga137s Jdd ydifew a7 Ager J1 g dt.&t. udtes
e wigt gaTg AT I w3 fore Bt 87 a® T8000 IS I BR AN BH I®
< feasy g5 | foq feasy feg I fa €9 farzs Gaer 3foz .t ydle w3
oI feasy feg I fa fan fet arrfedt 3° 99nm & o 9137 agd <t <.
ydle | gArfedt 18% €t ASTsT AuTde fewmd €t €0 o8 fenma sargt J1
wEt 2 Bt fagz feasy < I9r I7

A2.4 Iife3q foeans e HI3< fa€ 3 7
far 39t fa Wit Qergaer &g Sfuwr I fa afesa foeagns ffa »isg ferr
(interdisciplinary) AT J1 fem &9 aifes am3dt w3 99 femr ¥3at © wiag
TI3HS G3yret fe9 gug fowmQe, 830 O3ue feafis ads AT I35 G3umet
© feegg €t Ifeygret das f&g wiue famis = Afgwar fée a1

H 3T f5EIHS (modelling) € HISSYIS I © Waat feil Ide I8 Y3
fam a1 fan gu &9 <u arger e Hey J&f fefimr 3 Jer J -

o HHZETT! egrheT : Add f¥a for 397 v Jifes3a foedns J9e 1 WA fies
&% 93 339 © Agdt feeud § YEIhi3 daeT I€ 3T f58aHs (model) BT
fengne J9d At 339 & 991 39T AWS AdE JF w3 foudns & fagHe
Fae AN Jt wiHl” feg uzT gar 8¢ I fg 339 &9 faa3-fag3 agq <u
HISYIE I6 W3 339 € MBI Uufas fiq grg © a7 fam 33t
HYfu3 IS |

o YTE WBIH'S 7T FIEYTST 7T MEIIE FIT : WiH 39 '3 wiHT feg waar
e I fa nirg fies R pR g sty g St vdze g U3 339 ©
7 T YWaT gaa7 yadtsT, wifegrad #f mHge Jer J1 Eerdde © SEt
HAH €t Sfdyget 2 s, Way &g eerdt-vr3 v wiftmis 9ds, fBa
fs@agmig foraeg e fsarfes (ByeT) u3T 995, nife-mfe |

WA Yd'd € HIaaT 9 Yde WeHs SBArgE €7 20 Hd3< JeT J,
fagfa gt wearet €t gfdugrat & feariz agar Jer J1 Gergas & weh
o It fegrar &9 Har € feremuar Yae migHs feadt Hedt Iaatar
} vrer gefe f&g Agfea I Is1
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o FIS §J3 & MBI-ME T fafent &9 Ags e @ dfonr =t forest
&9 I IJ T T YT WegH's Barge wgdt der J, fam o3 feg
fsger fgnr 7 Hal fa fda »3 9 3¢ ATS U8 7 AT |
»H 39 '3 3Ty & e ugel 998 T BEt YIe maHs ST @8
fUs® vigfant & ytiar 99e I8 1 °g 3 ufgst 37 B yfagu & ufggse ©
el vidfamt T ferdne d9e I8 o ferer ¥des 99 Ade | feg yde
WEHS Barge BEt fegst wiafant w3 yf3gyu = yuar 3y &9 di3r
Ater 1| fer vs 33 Ieal3t v Yyt fimmersd yae wisHs 3aatat fieg
3T Ater I w3 feg fem Iaust '3 wiofaz Jer I fa feg yfsgu fam &
ufgare fenr famr 9, afdy &g & g Jer 3dar
o »ETHT BITEST : MH 39 3 WS €3 HST & niew dda Jer J | fen Heg
J1 €3 39 Gergge € gu &9, I 3 ufost I &9 g1 S ot
Utgdt g &g wuet utg<t € fise &t AaresT dt Sfeugrat Iaar grddt
J1 ferm gu &9 €9 for 9y = wiewr gor@er vdet J fa §9st © 9
Y39 129 fds Sa Quat €t uadt § S u@edl | nuet 3feugel € migAd
wET 9 mfens t geatzt € g9 feT fsger & wae g5 1 9 féu fam
yget & fdaht Hiet fiseant feret sfduget aos © Bt faga
HIMEHTS (exit polls) BT femmud Yurar 3T wrer J1

YRSTEST A2.3
1. Us® Ua Arst & wiafsw €@ »ug '3 A8 2 »ilg &g er<t AH3 € 8§43
i f&9 3973 HI® ©rraT d1fes 89 Y3 o3 Aie @3 WAz ySHs wiat er
YT MEHS BTG |
A2.5 ATI-MHA
fer wifsar fag 3t Jat &3 aaf3mm e wiftuis 3T 3
1. f¥q afe3d foeans wAs Hes &g 73t rfast v gifesa fafar Jer J1afesa
feedns wies &5 gt AHfimret § I8 dds w3 ferer Yyudr a9 © Set
fe3d fogans = fsane ags & Yfafomr J1
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2. fSE€IHE (Modelling) €8 &t €3 UaT STq1 13 AT I&: AHfDAT AHSET, Tifesa
fsegrs € H3didde GRS U8 dda7, mAs fles e o3t Afust &g fenet
fortfod (interpret) IIaT M3 W3 &9 i3 HI3eue foeans & Yifeas
(Validating the model)

3. 99 dife3a fovdns feafis adaT|

4. JIfe3d foedas 2 HJ3< |




[ -
YRS 1.1
1. (i) 45 (i) 196 (iii) 51
2. et HYTs BT 64, 6 + 1, 6 + 2, 6g + 3, 6g + 4 7 6¢ + 5 € U € J AaeT I
3. 8739
5. et Hygs HiumT 9¢, 9 + 1,99 +2,9g + 3, .. ., 9g + 8 € U T J AIET J|
YRSTEST 1.2
1. () 22x5x%x7 (i) 22x3x 13 (iii) 3> x 52x 17
(v) 5x7x11x13 (v) 17 x 19 x 23
2. (i) BAT=18LHAT=13 (i) BH..=23460; HA.2.=2 (i) BAT=3024;HA<T =6
() BAT=N0;HAIT=3 (i) SHAL=11339;HA.2.=1 (i) BAT=1800;HA<=1
4. 22338 7. 36 fife
UHSESRT 1.4
1. () 73 (i) "3
(iil) MHT3 wegd3t (iv) A3
(V) MH3 Wred3t (vi) T3
(vil) A3 nread3t (viil) B3
(ix) "3 (x) WHT3 mred3t
2. (i) 0.00416 (i) 2.125 (iv) 0.009375
(vi) 0.115 (viii) 0.4 (ix) 0.7
3. (i) ufonw; ¢ © w3 dIeads 2 7 5 AT ¥ Jadi|

€39/Aa3

(i) mufans
(iii) Ufond, g & wI™ dIeays 2 A7 5 3 fewer ffa J9 resds Jear|
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yASESt 2.1
1. (i) It fAaeg (D) st (i) 1 (iii) 3 @iv) 2 ) 4 (vi) 3
YASTEST 2.2
. 11 o 13
1. () 2,4 (i1) 25 (iii) —55
(i) 2,0 ) 15,415 o 1.3
2. (i) 4xt-x-4 (i) 3x*=3J2x+1 (i) x* ++/5
(iv) X*—x+1 V) 4x>+x+1 i) X*—4dx+1
YASEST 2.3

1. (i) IS =x-3M3 gl =7x-9
(i) IAEB =x2 + x— 3 M3 gt = 8
(ili) FIEH = — x> — 2 M3 Tt = — 5x + 10
(i) It (i) It (i) I 3.-1,-1 4. gx)=x*-x+1
1) p)=2x*-2x+14,gx)=2,qx)=x-x+7,r(x)=0
) p)=xX*+x+x+1L,gx)=x-1,gx)=x+1, r(x)=2x+2
(i) p)=xX+2%-x+2,gx)=x-1,gx)=x+2,r(x)=4
(i), (i) ™3 (iii) f€8" I3 € It Gergde T Hae Ia|

yrs=Ht 2.4 (€8T migrm)
2. ¥ -2¢-Tx+14 3.a=1,b=+2
4. -5,7 5. k=5m3 a=-5
yAsESt 3.1

1. dwarfefza gu &g faght gt B0t rfahrt & I fod gu &g eamfent 7 Aeer 3
x—=Ty+42=0;x-3y—6=0, 8 xm3 y gHed goe W3 Gnct St & @930
Svg J1 37 Budas out mitage’ B way fu'g Hae J, 7 Afagh g vt (are)
U TIAEET JI

2. dirarfefza gu &g fE3ht It S0t wast & Js feu gu &9 TamfenT 7 Aaer J:
x +2y = 1300; x + 3y = 1300, fig x w3 y gHed f&q 8 w3 fEq ore © ¥ (qufent
&) g1 &3t arett mfagtmt & wradt (ar€t) gu fee Tome et 3t feast
Tat It mitgget = »dy (Jre) fu'g Hae J1
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Hrarfefsa gu &g et aretmt gt rfagmt & Js fau gu &9 gartfeonT A Aaer
i 2x+y = 160; 4x + 2y = 300, fH8 x m3 y gHET A M3 WigIg € WS (3: Yf3 fa:apH)
T | fgtt arebmt mfght & wradt (aret) gu 89 fsgfuz a9 © =et 3t feast
aat It milagst v widy fu'g Aae J1
YHSTESHT 3.2
() It mHlgaet wr BFter 937 I
x+y=10;x—y=4,fﬁaxmﬁm@ymﬁmﬁl
Wt (qret) I5 € BEt 9re Wug '3 fe'a It ug @ B 9 feast mtaget w 9re
BIIMT =7, B3 = 3.
(i) It mftgge v e A3 T
5x+ 7y =50; 7x + 5y = 46, FEx w3 y gHerd o U afhes w3 i a@H =1 (3 f2e) o1
waHt (Iret) I3 € BEl 97 Uug '3 i It ud & 8 o fegst mftaget € 9re
ffg Vs e Hg =37, faa@H e 8 =57

(i) fea fdg '3 degmi sl (i) AUt (iii) AHT39

(i) Ha3 (i) WHI3 (iii) HI3

(iv) Ha3 (v) AaI3

(i) a3 (i) MHIT3 (iii) HI=z (iv) WHIIZ

QU3 (1) T IB,y = 5 -1 J I fag x JEt & S 8 AdET 1 I miefares gu 89 wida
J& JS |

BUda3 (iil) T IS x =2, y =2 I I< fedye I3 J|

BEE =20 m M3 I3 = 16 m

6. f3at grar Bt feq Agfes I8 J

() 3x+2y-7=0 (i) 2x+3y—-12=0 (iil) 4x +6y—16=0
f3gw & fua (-1, 0), (4, 0) W3 (2,3) TS|
YHSESE! 3.3
(i) x=9, y=5 (i) s=9, =6 (i) y = 3x -3,
feg x I8t & HE 8 FaeT J I miefae3 gu €9 midd I8 I3
iv) x=2, y=3 v) x=0,y=0 (vi) x=2, y=3

2. x=-2,y=5 m=-1.

Rl

(i) x—y=26, x=3y, A8 x M3y (x >y) T Aitpi=r T5; x=39, y = 13.

(i) x—y=18, x+y=180, A8 x™3 y AT (degree) f&9 ¥ da & HU J; x =99,
y=28l.
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(iii)

@iv)

v)

(vi)

@iv)

(i)

(iii)
(iv)

v)

(iii)
(1)
(1)

(i)
(iii)

7x + 6y = 3800, 3x + S5y = 1750, fag x w3 y gHe9 f¥q 88 w3 ffa 9re © WS
(Qufentt f&9) I&; x =500, y = 50.

x+ 10y =105, x + 15y = 155, frg x (qufenrt f&9) fenfez g7 (faarfom) I w3
(qufent f&g) Y=t fa vt g7 (fagrfenn) 3,

x=5, y=10; 2559: |
1Ix -9y +4 =0, 6x—5y +3 =0, fA8 x M3 y g9 95 € »im w3 I9

JS; z(x=7,y=9)l
9
x=3y—10=0,x—7y+30=0, 78 x w3 y gHed 7" W3 GAe U39 <t At fég
€13 J; x=40,y=10.
YRS=H 3.4

96 il 9 5
X = ,y—5 (1) x=2,y= (i) x = 13,y— B’
x=2,y=-3

N N o N Lo N 3
x—y+2=0,2x—y—1=0,8xm3 yfds T vimg M3 99 I3, rh

x=3y+10=0, x—2y—10=0, fa8 x 3 y gHe3 St w3 7S €t GHa (st £9)
J1 &t & 81T (x) = 50, 7S & €HT (y) = 20.

x+y=9, 8x—y=0, 8 xm3 y gHeTd Aftmr & Taret w3 fearet © wid I, 18.
x+2y =40, x+y =258 x w3 y gHETd T 50 M3 T 100 T &<t =t fareat 4
x=10,y=15.

x + 4y =27, x + 2y = 21, fag x fonfez fagfenr (3m37) (qufemt &) I w3
y W& fagrfemr (33 Yyt fes J; x=15, y=3.

YHSTEHT 3.5
et IS It (i) s fedye I8; x=2, y=1
wfaes gu fEg wdd I8 (iv) fd fesdye I8, x=4, y=-1
a=5b=1 (i) k=2 3.x=-2,y=5

x + 20y = 1000, x + 26y = 1180, fig x (3: f&9) fonufaz fagrfemr (a=z7) T W3
y (qufent f&T) gs e YZifes ¥ag IJ; x =400, y = 30.

~ ~ a a ~ 5
3x—y-3=0, 4x—y-8=0, 8 x M3 y fds T »im W3 I9 Ts; o
3x—y=40, 2x—y=25,A8 xm3 y gHed At 3 9183 €397 < farezt 4 20.
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(1v) w—v=20, u+v=100, T8 um3 v (km/h f&T") T I137 Tt 31 I; u = 60, v = 40.

(v) 3x=5y—6=0, 2x+ 3y — 61 =0, fAg x m3 y (feareht f&9) gHeg »ifez <t
Sgret W3 9ITE I, sEEt (x) = 17, 937 () = 9.

YASES! 3.6
L () x=t.y=1 (i) x=4, y=9 (i) x=4ry=—2
2 3 5
@iv) x=4, y=5 W)y x=1,y=1 (vi)x=1, y=2
(vii) x=3, y=2 (vii) x=1, y=1

2. () u+v=10,u—v=2,T8 um3 v (km/h) IH<d ¥ Ut fe9 39 <t it w3 Trar
ﬁﬁﬁ;u:é,v=4.
2 5 13 6 1 o~ -~ ~ . .
4= Z,—+—=§,fﬁanm—5ma}r€wa¥ﬂ€?wmme‘f8€rf€a
n m n m
a3 (ferzdt) w3 ffa yam ©wrar B 918 fest & farest J; n=18, m = 36.
(iii) @+E=4,@+@=265,fﬁéum%v(knyh)wéxafﬁm%ﬁne?
u 1% u 1%

St J; u=60, v=_80.

yRE=S! 3.7 (fFem-mignma)*

1. J&t € 6Hg 19 A I w3 Aat & ©Ha 16 AT I AT Iat €t 1T 21 7Ts »3 Hat <t
BHa 24 A T

2. 40T, 170 3: | Hs 3G ufa® forast € 98 x (3: f&9) Huzt (UR) I w3 grd fenmast
IS y (I: <o) WUzt g&1 3t
x+100=2(y-100), y+ 10 =6 (x - 10)

3. 600 km 4. 36 5. ZA=20° £B=40°, £C=120°

6. f3at € firugt € fsgem »ia (1, 0), (0, -3), (0, -5) TS|

_cla-b)-b :c(a—b)+a

7. () x=1, y=-1 (i) x= PRy PR
2ab
(i) x=a, y=>b (iv) x=a+b, y=— a V) x=2,y=1
a+b
8. LA=120° £B=70°, £C=60° £D=110°
YRS=H 4.1
1. () of (ii) If (iii) &It (iv) Ot

(v) ot (vi) &It (vil) &t (viii) IT
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389

2. () 2@ +x-528=0, frg x (Hea® feo) mils € da= <t 93 I
(i) x2+x—306 = 0, frg x €2t Hygs Aftmr J1
(i) x?+32x-273 =0, fag x (&' f&9) 3T &t Ta3Hs BT J|
(iv) u?—8u— 1280 = 0, fa® u (km/h f€9) IBarst <t 915t (¥7%) J1
YRS=HL 4.2
. 3 3 o 5
1. () -2,5 (i) -2,> (iil) ——=» -2
2 V2
11 11
™ 3 ™ 1010
(i) 9,36 (i) 25, 30
3. "ftmet 13m3 14J51 4. US3HI HYIS Aftpiet »id 13 w3 14 TS |
5. 5cm M3 12cm 6. A3 €t At = 6, I9T THI EHS =X 15
YRS 4.3
LG L3 (ii) ~1-\33 14433 iy 3, B3
2 4 4 2 2
(iv) IT (wAf33e) adt JI
2. g yEs 1R 31 3. 3) 3_;3 3+2“/B (i) 1,2 4. 7 oS
5. gifez &9 Yz via = 12, wig[Ht &9 yuz »ig = 18;
7t grfe3 &9 YUz »ia = 13, it &9 yuz »ig = 17
6. 120 m, 90 m 7. 18,12 7 18, -12
8. 40km/h 9. 152, 25 Ure
10. Fedt 3BAEt & 9 (913 = 33 km/h, 37 (WaAyE) I891st € 98 =44 km/h
11. 18 m, 12 m
YRS=H 4.4
1. (i) ewsfed faeai(y®h)et 3T st J1(ii) 99799 U, 22
V3 3
o +
(ili) WS YS; 3—2ﬁ
2. () k==%2p (ii) k=6
3. 97;40m,20m 4, 5. J7, 20 m, 20 m
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YHSES! 5.1
1. (1) TF 15,23,31,... BT AP. 98T To faBfx g9 fFa niarsr ue fugs ue &9 8
w35 IS Y3 Jer I
R 3V (3Yy s . -
(i) &I, Wfess Vv, 7\ V, JI (i) Th 150,200,250, ... BTAP TG IS
8 8 Y 8\’
iv) &t I 1 (1+ j,loooo(u—j ,10000(1+—j s TS
@) 0000 { 1750 100 100
2. (i) 10,20, 30,40 (i) —2,-2,-2,-2 (iii) 4,1,-2,-5
() -1 -L,0 L (v) —1.25, 1. 50, - 1.75, - 2.0
2 72
3. () a=3,d=-2 (i) a=-5, d=4
(iii) azl,dzg (iv) a=0.6, d=1.1
. . . 1 9
4. (i) &It () If, d==;4, =5
2772
(i) I, d=-2;-9.2,-11.2,-13.2 (iv) If, d=4; 6, 10, 14
(V) T, d=2:;3+4J2,3+5J2,3+6J2  (vi) &t
R e 1 1 1
(vii) dT,d=-4; —16,-20,-24 (viii) 7, d =0; ——> ——> ——
2 2 2
(ix) 3t (x) 97, d = a; 5a, 6a, Ta
(xi) Bt (xii) T7, d= +/2; 50,72, /98
(xiii) &It (xiv) &It (xv) IF, d =24;97, 121, 145
YASEST 5.2
1. () a =28 (i) d=2 (iii) a =46 (iv) n=10 (V) a =35
2. (i) C (i) B
3.0 (i) [18],[8] (iii) 63,18 ]
Gv) [=2] ,[o], [2], 4] v) [53], [23 , (8], -7
4. 167 ue 5. () 34 (i) 27
6. adt 7. 178 8. 64
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9.
12.
15.
17.
18.

11.

12.
16.
17.
19.

REIRES 10. 1 11. 65<T Uw
100 13. 128 14. 60
13 16. 4,10, 16,22, ...
Wftg® ue 3 20T U= 158 J1
-13,-8,-3 19. 11T 7 20. 10
YHSEST 5.3

. .. . 33

(i) 245 (i) 180 (iii) 5505 (iv) e

. 1 ..

(i) 1046 5 (ii) 286 (iil) — 8930

. .. 7

(i) n=16,S =440 (i) d= 3 S,,=273 (iii) a =4, S, =246
(iv) d=-1,a,=38 (V)a=—335,a9:% (vi) n=5, a =34

54
(vii) n=6,d=? (vii) n=7, a=-8 (ix) d=6
(x) a=4
12.933 S = %[2a+(n—1)d] f€9a=9,d=28, S =636 Jdc &8 WA © Wt
~ v ~ 53 -
AHIFIE 4n® + 5n - 636 = 0 Y3 dd€ J7| I8 936 '3 HS n = —4,12 firse I51
fegst ©at vt 9 aes €a ue 12 Tt 3t J1
8 -
. n=16,d=§ 6. n=38, S=6973 7. 43 =1661

S,, = 5610 9. n 10. () S,=525 (ii) S,,=—465
S,=3,8,=4;,4,=8,-5,=1; $,=3, a,=5,-S,=-1,
a,=S,-S,=-15 a =S -S _ =5-2n
4920 13. 960 14. 625 15. ¥ 27750
feamt & W (qufemt: f&9) 160, 140, 120, 100, 80, 60, 40 T
234 18. 143 cm
16 Uashtt, 5 s8tot (Ftnif) & Hg 3 Buast Uarst fidg Tue 971 S =200, a =20, d=—1 33

s=%[2a+(n—1)d]fe%€uz’§w§41n—n2 = 400 Yz Jer I| IS I95 51
n=16

16, 25 yuz Jer J1 fen et Yozt & faredt 1677 25 719 a,, =a+24d=—



392 gfe3s
432 25 S ottt &9 Sfantt €t farest 4 I 7 Hge adt J1 fen &€t n = 25 Hae &t
Jin=16C B, a ,=5.55 I5 | fen Bet 16 UaEt 95 w3 A9 3~ B ug Tt Uarst
&9 533 I3

20. 370 m

YRS=St 5.4 (fFem-mgAa)*
1. 32 2. S, =20,76 3. 385 cm
4. 35 5. 750 m*
YRSTESHT 6.1
1. (i) AHIU (i) AHIY (iii) AHZHT
(iv) €399, AHS WMEUT3t 3. &t
YHSEST 6.2
(i) 2cm (i1) 2.4 cm
2. (i) &t (i) I (iiii) I

9. ffg03 e I¢ DCE 3T fEa 3ur fud 7 AD W3 BCE gHed ffg Ew3 F3 deet e |

14.

15.

12.

YHSESE! 6.3
(i) I7, AAA, AABC ~ APQR (i) T7,SSS, AABC ~ A QRP
(i) &dt (iv) I7,SAS, AMNL ~ A QPR
(v) &dt (vi) T7,AA, ADEF ~ A PQR

55°,55°, 55°

AD$ fdg ESa <@ 3t fa AD =DE™3 PM § g N3 eu@ 3t fa PM = MNJ< |
EC»3 NR & &g
42 m
YRS=H 6.4
11.2 cm 2. 4:1 5. 1:4 8. C 9. D
YHSTEHT 6.5
(i) IF, 25cm (i) &It (i) =t (iv) I, 13 cm
a3 9. 6m 10. 67 m 11. 300/61km
13m 17. C
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YRE=ST 6.6 (FEem-mgAa)*
1. R3 Je J¢ SP ¥ AHi39 dur fu'g & dur QP § =ufe '3 g T '3 d<| feu@
fa PT = PR 71
6. fem yraest € Q.5 (iii) B ufge Yuar 93| 7. 3m 279m
YRSEHT 7.1
1. () 22 (i) 442 (iii) 2/a® +b’
2. 39; 39 km 3. &t 4. gt 5. Wt mt 91
6. (i) =ddr (i) 93d99d adt J| (iii) AHT39 93d9d
7. (-7,0) 8. -9,3 9. +4, QR =+/41, PR = /82,92
10. 3x+y-5=0
YRSTEST 7.2
5 7
1. (1,3 2. |2,-=;|0,—
@ [25):(03)
3. J6Im; 5&F et 225 m gt '3 4.2:7
3
5. 1:1;(—5’0j 6. x=6, y=3 7. (3,-10)
8.

(_3,_2_(’} 9, (—1,%)(0,5),(1,%} 10. 24 =397 fearet

YRSH 7.3

(i) %mfga@rw (i) 32 <gar fearet 2. (1) k=4 (i) k=3

| Egar fearet; 1:4 4. 28 g1 fearemt
yRE=St 7.4 (fEem-mignma)*

2:9 2. x+3y-7=0 3. 3,-2) 4. (1,0),(1,4)

(i) (4,6),(3,2),(6,5;ADM3 ABS fsgen vig afonf e gu e S o
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Jfes

N

(i) (12,2),(13,6),(10,3); CBM3 CD & fagem nig afgmi e gu g & 3 |

9

2
15 .
3—2383Tf€aTE‘TW1:16

. P o,
(11) (3 3}

. 7 9
® D(a’ zj

-~

. 9 . ~ . . ~ ~N =
= Egqr feare, Emfswe‘rw; Bt AT fE9 ¥39es g99d J|

(iii) Q(ll E}R(E’%j (iv) P, Q, R fEa It fdg T=1

33 3
) (x1+x2+x3’yl+y2+y3] 8. MHI3IIH
3 3
YHSES! 8.1
1. (1) sinA:l,cosA=ﬁ (i1) sinC=24’cosC=l
25 25 25 25
2. 0 3. CoOsA = 7atanA=i 4. sinA:lS,secA=—
J7 17 8
5. sin© = i, cosO = 2’ tan0 = i, cotf = 2’ cosecO = E
13 13 12 5 5
7 G 49 L4 g i
. @) o1 (i1) o1 .
9. (i) 1 (i) 0 10. sinP=%,cosP=%,tanP=%
11. (i) 35 (Is3) (i) Hg (A (i) 38 (IS3) (iv) $& (ABI) (v) I& (ISB3)
YHSTEHT 8.2
32 -6 43 - 2443 67
LM 1 0 2 . 67
(1) (i1) (iii) s (iv) —1 (v) 2
G A (i) D (iii) A (iv) C 3. LA=45°, Z/B=15°
(i) 35 (I33) (i) W9 (Adh) (iii) 5 (IS3) (iv) 35 (AS3) (v) H (AY)
YHSEH! 8.3
1. (1) 1 (1) 1 (ii1) O @iv) 0
3. ZA=36° 5. LA=22° 7. cos 23° +sin 15°
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2
N A-1
2. sinA=L’cosA= ! s tan A = \Jsec’A — 1

sec A sec A
1 sec A
COtA = —————>C0seCA = ————
«lseczA—l '\’SeCZA -1
3. G) 1 (i) 1 4. (i) B (i) C (i) D (iv) D
YRSEST 9.1
1. 10 m 2. 8\/§m 3. 3m, 2\/§m 4. 10\/§m
5. 40J3m 6. 19v3m 7. 20(x/§—1)m 8. 0.8(J§+1)m
9. 16§m 10. 20J3m, 20m, 60m 11 10y3m, 10m 12, 7(+/3 +1)m
13. 75(/3-Dm 14. 58+/3m 15. 3 Afds
YRS 10.1
1. »fares gu f&g »dd
2. () f€q (i) ged Iy (i) € (iv) AugE fig 3.D
YRGS 10.2
1. A 2.B 3. A 6. 3cm
7. 8cm 12. AB=15cm, AC=13cm
YRGS 12.1
1. 28 cm 2. 10 cm

3. Aafadt: 346.5 cm?;, &% : 1039.5 cm?; 38T 1732.5 cm?; 18T 2425.5 cm?;
fgem 3118.5 cm?

4. 4375 S. A
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YHSTESET 12.2
154
1. Qcmz 2. Ecmz 3. —cm’
8 3
4. (i) 28.5cm? (ii) 235.5 cm?
5. (i) 22cm (i) 231 cm? (iii) [231— 442\/§jcm2
6. 20.4375 cm’ ; 686.0625 cm? 7. 88.44 ¢y
385
8. () 19.625m’ (i) 58.875cm’ 9. () 285mm (i) —- mm?
22275
10, —— cm’ 11, 138125 e 12. 189.97 km?
28 126
13. 162.68 14. D
YHSES 12.3
452
1 BB e 2 1% e 3. 42 cm?
28 3
22528
4. (@ + 36\/§j cm’ 5. g cm’ 6. (T - 768\/§j cm’
7. 42 cm? 8. (i) @ m (i) 4320 m>
9. 66.5 cm? 10. 1620.5 cm? 11. 378 cm?
12. () % em? (i) % cm? 13. 228 cm?
256
14. 298 2 15. 98 cm? 16. —- cm’
YHSEST 13.1
1. 160 cm? 2. 572 cm? 3. 214.5 cm?
4. A3 3 <37 fo = 7 cm AT €T ¥39ES = 332.5 cm?
5. 1p (r +24) 6. 220 m.> 7. 44 m.2, 22000
4
8. 18 cm? 9. 374 cm?
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YRSTEST 13.2

1. mcm’
2. 66 c’, WSS © »iEd € 9e7 & mife3s = nieg € 9er en wmife3s (Hg + 98 + 1Y)

= (%nrzhl+7tr2h2+%7tr2hl} e r Hg W3 ¥8¢ T gy for J, h, Ha =t Garet
w3 h, 58 €t Guret (Garel) J1

ST wifegs = %mz(’h”hz +h).

3. 338 cm’ 4. 523.53 cm’ 5. 100 6. 892.26 kg
7. 1131 m° (B89N 8. Al &t J1 ATt €739 346.51 cm® I
YRSEST 13.3
1. 2.74 cm 2. 12cm 3.25m
4. 1.125m 5. 10 6. 400
7. 36cm; 124/13¢m 8. 562500 M2t 56.25 I 9. 100 fife
URSES®T 13.4
2 3 2 2 2
1. 102§cm 2. 48 cmy 3. 7107cm
4. €U T HS 32093 U3 Hie € W T 156.75 J1 5. 7964.4 m
yrRs=St 13.5 ([Fem-mgaa)*
1. 1256 cm, 788 gm (&JT3dT) 2. 30.14 cm?, 52.75 cm?
3. 1792 4. 782§cm2
YHS=ST 14.1
1. 8.1 4T »Ht Y3 fedt = yuiar 37 J fa8fa x, »3 £ € Hitmmana U ue 75|
2. 314520 3. =20 4. 75.9
5. 57.19 6.3 211 7. 0.099 ppm

8. 12.38 fex 9. 69.43 %
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Jfes

YRGS 14.2

. 9U8d =36.8 ATS, HUH'S = 35.37 A& | JAUS™S fe9 9931 fmme3g Jaft 36.8 A/ ©Hg

(B39 € T5 |17 fa WiR3s IAU3TS &9 993t o3 a1 Jaftmt €t BHa 35.57 A J1

2. 65.625 Uid
3. 9U8d HdlaTeTd ¥dd = T 1847.83, HOH™® W ¥dd = T 2662.5
4. ¥I5d : 30.6, WOHS = 29.2. fimmerzg gt/ U.T. feu fefenmadt w3 miftmmus e

WMSUTS 30.6 T M3 MASS fog wigus 29.2 J1
U5 = 4608.7 35 (€31) 6. SUSI =44.7 9

YRGS 14.3
Higar = 137 feardt, Waus = 137.05 fearet, 5984 = 135.76 feardt

fem mfazt f&o feg 38 W Sargar g9rgd Is|

x=8,y=7 3. Wous ©HT = 35.76 TS
HoH™s SETet = 146.75 mm 5. Hou's wies = 3406.98 Wi
Haq™s = 8.05, HUH'S =8.32, IU&d =7.88

gI8d 979 = 56.67 kg

YHSTEST 14.4
(Qufemt: f3g) gagTasT
120 3" We 12
140 3 ufe 26 et (120, 12), (140, 26), (160, 34),
160 3" ufe 34 (180, 40) ™3 (200, 50)
1803 We 40 & Wifsyz J9d 39¢ fg|
2003 e 50

. f‘ang’)—l'f : (38, 0), (40, 3), (42, 5), (44, 9), (46, 14), (48, 28), (50, 32) M3 (52, 35) ?3

WYz g3d I« fifg | fed §=17.5. 39c '3 fegst fient & war@ famet a4t 17.5
J1 fer fig T x-fogem ig Higar Jear|
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3. S3ues Ha<t
(kg/ha) g13gTa3T

50 ¥ g9T9d A <0 100

55 % g9™¥d A 24 98

60 © gdT9d A 20 90

65 < ¥9T9d A <4 78

70 ¥ g9T9d A <4 54

75 < g9T9d A <4 16

fdenr : (50, 100), (55, 98), (60, 90), (65, 78), (70, 54) M3 (75, 16) § MSfy3 I3d 3
el

YHSEST 15.1
1. ()1 (i) 0, MHgT wWaT (i) 1, forfas wear
(iv) 1 v) 0,1
2. YW (iti) M3 (iv) AIH-Ha<t ufge fée a1
3. A2 wirt fHar Ger@e (Hee) of 37 fu3 At ue wiGe <t garag < Agesr J1 form et
far fid § €8 a5 miBe @3 fie o3 wrl” I3 adt afg Aae |

4. B 5. 095 6. (i) 0 (i) 1
5
7. 0.008 8. () = (i1) 3
oS5 o813 5 17
9. (i) 17 (i1) 17 (ii1) 17 10. (1) 9 (i1) 13
1 5 13 G 1 . .3 i 1
© 13 . (1) 3 (i1) ) (ii1) 1 >iv)
1 o1 o]
13. () > (i) 3 (ii1) 5
h i 2 3 .3 o1 1 b
. () 2% (i) 3 (iii) 2% (iv) 5 (v) 1 (vi) 5
1 .. 3 11
15. (i) 5 (i) (a) 1 (b) 0 16. o
L Lo 15 .9 Lo L N
17. () 5 (i1) ) 18. (1) E (i1) 10 (ii1) 5
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0 @ | L1 20, T sl @ L D
. (1) 5 (i1) 6 " oa . (1) 36 (i1) 36
22. (Dfjegtufemi3|2 | 3 4| 5| 6| 7| 8| 9 10] 11| 12
Hitpret 27 13|
A 112343822322 L
36 | 36 | 36 | 36 | 36 | 36 | 36 | 36 | 36 | 36 | 36
(i) &dt, feg 11 ufga (a3t) AH-Aa<t adt” Is1
3 . N N
23. i HSR yfge™ (s3H) I5: HHH, TTT, HHT, HTH, HTT, THH, THT, TTH, f&g
THH T 3< ufgs B8 &9 ue, end &9 fo3z w3 g feu <t faz »rfe I
.25 Lo 11
24. (i) I (i1) 36
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